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1000

4000
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2000

1000

TVC(cbch) (0,0,0

X~ rz1e+04 /25
"nane PO 4139+ 0.0
pl -34.29+ 0.00

TP delay [ns]

TVC(cbch) (0,0,4

- g 543e+04 | 25
e pO 4181+ 0.0
pl -34.44 % 0.00

TP delay [ns]

TVC(cbch) (O 0,8

1nuiL449e+04 / 25
— PD 4239+ 0.0
pl -37.19+ 0.00

TP delay [ns]

TVC(cbch) (0,0,12

Tinug, ( rse+u4 [ 25
- PO 4242+ 0.0
pl -36.09 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,0,1)

AT 1ye+ud [ 25
[ po 4145+ 0.0
pl -34.44 + 0.00

_L 1
50 100

TP delay [ns]

TVC(c,b ch) (0 0,5

T g, r4/e+04 25
[Foees DU 4185+ 0.0
Pl 34743000

50 1(;0
TP delay [ns]

TVC(c,b ch) (0 0,9

T Zobe+u4 / 25
= pO 4241% 0.0
pl -35.89 + 0.00

TP delay [ns]

TVC(C, bch) (0,0,13

T z5e+u4 [ 25
- pO 4256+ 0.0
pl -35.4 + 0.0

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (0,0,2)

X~ 1L szoe+U4 [ 25
[Froeee PO 4147+ 0.0
L pl -34.32+ 0.00

3000

TP delay [ns]

TVC(cbch) (0,0,6

FC = 29.99 [ps/ch] ™. 1

50 10‘0
TP delay [ns]

TVC(cbch) (0, 0 10

©1nuz, 105e+04 / 25
=, DO 4264+ 0.0
L -36.1+ 0.0

~ 1 nug 150e+04 / 25
[Fomee pO 4177+ 0.0
[ PL_ -33.34%0.00

TP delay [ns]

TVC(cbch) (0,0,14

T, szse+ud [ 25
= po 4241+ 0.0
I pl -35.07 + 0.00

TP delay [ns]
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1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,0,3

AT 1 nuiLbzse+u4 / 25
[ po 4145+ 0.0
pl -33.69 + 0.00

[ C =29.69 [ps/ch]

L
50 100

TP delay [ns]

TVC(c,b ch) (0 0,7

-1 nug 134e+04 / 25
o, pO 4203+ 0.0
pL -34.69 + 0.00

[ C =28.82 [ps/ch]

50 100
TP delay [ns]

TVC(c,b ch) (0, O

T b‘Jée+U4/25
- p0 4271% 0.0
pl -35.61+ 0.00

TP delay [ns]

TVC(C, bch) (0,0,15

T3/ re+u4 [ 25
[, 4244+ 0.0
-34.39  0.00

[ C =29.08 [ps/ch] ]

PR PR S S |
50 100

TP delay [ns]



TVC(cbch)(OlO) TVC(cbch)(Oll) TVC(cbch)(OlZ) TVC(cbch)(013)
A” i Sooe+ud / 25 AT 313e+ud [ 25 AT 1L 4y1e+ud [ 25 A~ 1L 4rpe+ud [ 25
4000 e, PO 4184+ 0.0 4000 - po 4193+ 0.0 4000 __- po 4216+ 0.0 4000 e po 4216+ 0.0
pl -34.39+ 0.00 pl -35.21+ 0.00 r pl -36.15+ 0.00 pl -36.26 + 0.00

-1 3000

- 3000 1

3000 =1 3000

2000 4 2000 - 2000 B 2000

] 1000 . 1000 - 1000

1000

50 0% 0
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(cb Ch) (o, ]./l"ﬁ 2419+UA/25 TvC(eh Ch) (o, '1wu- 1)4ue+u4/25 TVC(chb Ch) (o, ']7-":-61 24\.1e+u4/25 TVeEeb Ch) (o 1’"“'1 -4)WE+0“25
4000 fom PO 4210+ 0.0 4000 Fem, po 4216+ 0.0 4000 fme, po 4230+ 0.0 4000 s po 4233+ 0.0
346+ 0.0 Pl 34,653 000 [ PL_ -35.38% 0.00 -346% 0.0
3000 E 3000 - 3000 — — 3000 - -
2000 E 2000 E 2000 - - 2000 - g
1000 4 1000 . 000 C = 28.26 [pS/Ch 7] 1000 C = 28.90 [pS/Ch] -
1 1 - [ 1 1 - 3 1 1 -
EY 00 50 00 EY 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TvC(cb Ch) (0. 1, ..E 4)4:,94.04 725 TVC(c.b Ch) (0. ;I7 o, )zae+u4/25 TVC(c,b, Ch) (o, ]—', ||:!|-|40b2§1e+04/25 TVC(c.b Ch) (o, ;I_’ narz, m):;e+u4/25
4000 pO 4211+ 0.0 4000 po 4227+ 0.0 4000 [, PO 4245+ 0.0 4000, PO 4245+ 0.0
Pl 3519 0.00 Pl 3447000 L Pl -3544%0.00 Pl 3547000
3000 - 3000 . a000}- ] 3000 -
2000 - 2000 ] 2000 3 2000 -

1000 - 1000

100 C = 29.01 [ps/ch]

- 1000

1
50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(cbch) (0.1,12) TVC(cbch) (0,1,13) TVC(cbch) (0.1,14) TVC(cbch) (0,1,15)
Tanu L sre+u4 /25 T szye+u4 [ 25 Tinun L o4e+u4 /25 T robe+u4 [ 25
4000 fm, pO 4265+ 0.0 4000 [, pO 4271+ 0.0 4000 fm, PD 4254+ 0.0 4000 fe pO 4264+ 0.0
pl -37.22+ 0.00 pl -37.92+ 0.00 r pl -36.95+ 0.00 pl -37.06 + 0.00

3000 -1 3000 -1 3000 - 3000 -1

2000 -1 2000 -1 2000 -1 2000

1000 -1 1000 - 1000 - 1000

PR B SRS |
50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
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1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,2,0

A7 1nuiozse+u4 /25
P, po 4202+ 0.0
pl -36.42+ 0.00

TP delay [ns]

TVC(cbch) (02,4

- 1L 319e+04 / 25
- pO 4185+ 0.0
p1 -35.79:+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (O 2,8

Tz 1n1e+u4 /25
= po 4227+ 0.0
pl -35.76 + 0.00

TP delay [ns]

TVC(cbch) (0,212

Tz 1zze+04 1 25
= po 4246+ 0.0
pl -36.86 + 0.00

TP delay [ns]
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1000
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1000
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2000

1000

4000

3000

2000

1000

TVC(cbch) (0,2,1

AT rnunL3sse+ud [ 25
., po 4197+ 0.0
p1 -35.6+ 0.0

TP delay [ns]

TVC(c,b ch) (0 2,5

“nuibl/e+u4 [ 25
pO 4205+ 0.0
pL -36.66+ 0.00

TP delay [ns]

TVC(c,b ch) (0 2,9

T 1 nu.524e+04 [ 25
po 4260+ 0.0
p1 -36.44 + 0.00

TP delay [ns]

TVC(C, bch) (0,213

-1 nuiL yoye+ud / 25
pO 4230+ 0.0
pl -36.87 + 0.00

TP delay [ns]
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1000
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2000

1000

4000

2000

4000

2000

1000

TVC(cbch) (0,2,2)

A7 1 nui usoe+u4 / 25
o=, po 4213+ 0.0
L pl -35.95+ 0.00

3000

TP delay [ns]

TVC(cbch) (0,2,6

T b4 /e+04 [ 25
- pO 4202+ 0.0
3 pl -36.42+ 0.00

3000

TP delay [ns]

TVC(cbch) (0, 2 10

1000

T rnugurge+u4 | 25
- po 4261+ 0.0
- pl -36.26 + 0.00

3000

TP delay [ns]

TVC(cbch) (0,214

T rnuiLyloe+ud / 25
-, pD 4247+ 0.0
L pl -37.24+ 0.00

3000

TP delay [ns]
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1000
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2000

1000

4000

3000

2000

1000

TVC(cbch) (0,2,3

AT 1L sose+ud [ 25
- po 4222+ 0.0
pl -36.69 + 0.00

TP delay [ns]

TVC(c,b ch) (0 2,7

- nu uge+u4 / 25
- pO 4230+ 0.0
pL -37.29+ 0.00

50 100
TP delay [ns]

TVC(c,b ch) (0, 2

ERALEVX b/ée+l]4/25
- po 4259+ 0.0
pl -36.05+ 0.00

TP delay [ns]

TVC(C, bch) (0,215

T nui s3ye+ud [ 25
= po 4245+ 0.0
p1 -37.06 + 0.00

TP delay [ns]
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1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,3,0)

A1

53ve+u4 25
4201+ 0.0
-36.26 + 0.00

TP delay [ns]

TVC(cbch) (0,34

T i z31e+u4 / 25
4189+ 0.0
-34.93+ 0.00

foee. pO
pl
- C =
1 1 -
50 100
TP delay [ns]
TVC(cbch) (O 3,8)
-1z a85e+04 [ 25
= pO 4222+ 0.0
-34.84+ 0.00

p1

TP delay [ns]

TVC(cbch) (0,312

b po
p1

Ty roe+ud /25
4258+ 0.0
-36.85+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,3,1)

= po

AT rnunLsize+ud [ 25
4200+ 0.0
-35.1+ 0.0

p1

1
100

TP delay [ns]

TVC(c,b ch) (0 3,5

S nu b ze+u4 [ 25
4194+ 0.0
-35.4 + 0.0

1
100

TP delay [ns]

TVC(c,b ch) (0 3,9

e, po

pl

<1 nu.198e+u4 / 25
4237+ 0.0
-35.32 + 0.00

TP delay [ns]

TVC(C, bch) (0,3,13

~ 1 nuiL pbye+ud / 25
4248+ 0.0
-35.27+ 0.00

il
100

TP delay [ns]

4000

3000

2000

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

1000

1000

TVC(cbch) (0,3,2)

= po

AT 1nuisyre+ud /25
4213+ 0.0
-36.24 + 0.00

pl

TP delay [ns]

TVC(cbch) (0,36

T bb/e+u4 [ 25
4213+ 0.0
-36.86 + 0.00

- PO

[ o

F C = 27.13 [ps/ch .
5(') 100 -

TP delay [ns]

TVC(cbch) (0, 3 10

F= b

©1nuzg3pe+u4 | 25
4247+ 0.0
-35.15+ 0.00

pl

TP delay [ns]

TVC(cbch) (0,3, 14

K- rnun g

- 0
pl

Sye+ud [ 25
4269+ 0.0
-36.41+ 0.00

TP delay [ns]
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1000
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1000
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2000

1000

4000
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2000

1000

TVC(cbch) (0,3,3)

A

e po
pL

44ve+U4 | 25
4225+ 0.0
-36.04 + 0.00

TP delay [ns]

TVC(c,b ch) (0 3,7

E pO
pl

-1 nui bsae+u4 / 25
4225+ 0.0
-35.61+ 0.00

TP delay [ns]

TVC(c,b ch) (0,3,1

X,

114e+u4 125
4255+ 0.0
-35.85+ 0.00

TP delay [ns]

TVC(C, bch) (0,3,15

= po

Tinuisr1e+u4 /25
4265+ 0.0
-35.39+ 0.00

TP delay [ns]



4000

3000

2000

1000
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1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,4,0

AT 1nuiLs1se+u4 /25
.. po 4205+ 0.0
pl -37.13+ 0.00

TP delay [ns]

TVC(cbch) (04,4

- 1 nuiL4pze+u4 / 25
= pO 4200 0.0
pl -36.51+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (O 4,8

T rnuiLgEe+u4 [ 25
- pO 4221+ 0.0
pl -35.05+ 0.00

TP delay [ns]

TVC(cbch) (0,4,12

T rnuiLguze+u4 / 25
= po 4228+ 0.0
pl -36.56 + 0.00

TP delay [ns]
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1000
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2000

1000

4000

3000

2000

1000

TVC(cbch) (0,4,1

A- 1L rae+U4 | 25
P, po 4185+ 0.0
pL -35.6 0.0

TP delay [ns]

TVC(c,b ch) (0 4,5

= nuiLb/ze+ud [ 25
== po 4203+ 0.0
pl -36.94 + 0.00

TP delay [ns]

TVC(c,b ch) (0 4,9

. Hul44ube+u4/25
- po 4236+ 0.0
pl -35.11 + 0.00

TP delay [ns]

TVC(C, bch) (0,4,13

Tinairyse+ud [ 25
= pO 4236+ 0.0
pl -36.49+ 0.00

TP delay [ns]
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1000
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1000
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1000
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2000

1000

TVC(cbch) (0,4,2)

A7 1 nuioyze+u4 /25
po 4221+ 0.0
pl -38.18 + 0.00

TP delay [ns]

TVC(cbch) (04,6

“ i roze+04 [ 25
pO 4223+ 0.0
pl -38.03+ 0.00

TP delay [ns]

TVC(cbch) (0, 4 10

©1nuiz.418e+04 / 25
. po 4258+ 0.0
- pl -35.68 + 0.00

3000

TP delay [ns]

TVC(cbch) (0,4,14

T L gse+ud /25
- pD 4228+ 0.0
L p1 -36.79+ 0.00

3000

TP delay [ns]
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1000
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1000

TVC(cbch) (0,4,3)

T zuze+ud [ 25
- pO 4227+ 0.0
pl -36.67 + 0.00

TP delay [ns]

TVC(c,b ch) (0 4,7

-1 nui 4uBe+u4 / 25
- pO 4218+ 0.0
pl -37.26+ 0.00

50 100
TP delay [ns]

TVC(c,b ch) (0, 4

T a54e+u4/25
- po 4265+ 0.0
pl -36.25+ 0.00

TP delay [ns]

TVC(C, bch) (0,4,15

T 1 nuiz.ugbe+ud [ 25
= pO 4236+ 0.0
p1 -37.56 + 0.00

TP delay [ns]
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TVC(cbch) (0,5,0)

T Luse+ud /25
4177+ 0.0
-36.76 + 0.00

TP delay [ns]

TVC(cbch) (0,5,4

Srna 111e+04 /25
4191+ 0.0
-35.31+ 0.00

1
50 00

TP delay [ns]

TVC(cbch) (O 5,8

B pD

p1

-1 nuz Ople+ud / 25
4181+ 0.0
-34.53+ 0.00

TP delay [ns]

TVC(cbch) (0,5,12

e, po
p1

- 1 i yYae+u4 [ 25
4195+ 0.0
-34.81+ 0.00

TP delay [ns]
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TVC(cbch) (0,5,1)

-, PO

p1

A1 (ave+Ud | 25
4176+ 0.0
-37.67:+ 0.00

TP delay [ns]

TVC(c,b ch) (0 55

~ i 11ze+04 [ 25
4181+ 0.0
-36.22 + 0.00

TP delay [ns]

TVC(c,b ch) (0 59

pO

pl

-1 U bzbe+u4 [ 25
4201% 0.0
-35.48 + 0.00

TVC(c,b Ch) (0, 5 13

TP delay [ns]

-1 nuiL byve+ud | 25
4201+ 0.0
-34.68 + 0.00

TP delay [ns]
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TVC(cbch) (0,5,2)

=, PO

X~ 1 1z1e+04 [ 25
4182+ 0.0
p1 -36.84 £ 0.00

TP delay

TVC(cbch) (0,56

pD
pl

[ns]

- i zz4e+04 [ 25
4191+ 0.0
-36.03 + 0.00

TP delay

TVC(eb,oh)=(0, 5, 10

= pO

[ns]

- 1 iz 265e+U4 | 25
4223+ 0.0
p1 -35.28:+ 0.00

TP delay

TVC(cbch) (0,5,14

= P"

[ns]

- i (33e+04 [ 25
4205+ 0.0
pl -35.64 + 0.00

TP delay

[ns]
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TVC(cbch) (0,5,3)
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A 1L zuve+ud [ 25
4183+ 0.0
-36.26 + 0.00

pl

TP delay [ns]

TVC(c,b ch) (0 57

- 1nui 4/8e+04 / 25
4202+ 0.0
-33.9+ 0.0

[ C =29.50 [ps/ch]

50

1
100

TP delay [ns]

TVC(c,b ch) (o, 5

= pO

T ‘JUbe+U4/25
4218+ 0.0
-34.78 + 0.00

TP delay [ns]

TVC(c,b ch) (0, 5 15

= pO

Tinaias/e+ud [ 25
4203+ 0.0
-35.19+ 0.00

TP delay [ns]
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0
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1000

TVC(cbch) (0,6,0

AT 1nui44e+04 /25
., po 4206+ 0.0
pl -36.56 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (06,4

T 1 pze+ud [ 25
pO 4194+ 0.0
p1 -36.45+ 0.00

TP delay [ns]

TVC(cbch) (O 6,8

T, r83e+04 | 25
po 4212+ 0.0
pl -36.67 + 0.00

TP delay [ns]

TVC(cbch) (0,6,12

T L, 44e+04 / 25
pO 4223+ 0.0
p1 35+ 0.0

TP delay [ns]
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1000
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1000

4000

3000
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1000

TVC(cbch) (0,6,1

A1 L dzae+Ud | 25
Fee.. po 4197+ 0.0
pL -35.99+ 0.00

TP delay [ns]

TVC(c,b ch) (0 6,5

=1 1L bube+u4 / 25
4178+ 0.0
-35.3+ 0.0

50 1(;0
TP delay [ns]

TVC(c,b ch) (0 6,9

T inai g ae+04 25
= po 4227+ 0.0
pl -36.39 + 0.00

TP delay [ns]

TVC(C, bch) (0,6,13

-1 nuiL pyze+ud / 25
= pO 4216+ 0.0
pl -35.18 + 0.00

TP delay [ns]
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2000

1000

4000

2000

1000

4000

2000

4000

2000

1000

TVC(cbch) (0,6,2)

K™ 1 nuiquze+u4 /25
- po 4202+ 0.0
L pl -35.71+ 0.00

3000

TP delay [ns]

TVC(cbch) (06,6

T rnuiL, (32e+04 / 25
- pO 4197 00
F PL_ 3592+ 0.00

3000

TP delay [ns]

TVC(cbch) (0, 6 10

1000

0

T rnug.z31e+u4 [ 25
. po 4252+ 0.0
- pl -37.22+ 0.00

3000

TP delay [ns]

TVC(cbch) (0,6,14

~1nuiLp3pe+u4 / 25
- pD 4220+ 0.0
[ p1 -35.87 + 0.00

3000

TP delay [ns]
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2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,6,3

AT 1L ovoe+ud [ 25
- po 4219+ 0.0
pl -36.33+ 0.00

TP delay [ns]

TVC(c,b ch) (0 6,7

- nuiglie+u4 / 25
- pO 4194+ 0.0
p1 -34.97+ 0.00

TP delay [ns]

TVC(c,b ch) (0, 6

T, uu/e+u4/25
= po 4265+ 0.0
pl -37.56 + 0.00

TP delay [ns]

TVC(C, bch) (0,6,15

T nui vbse+ud / 25
4221+ 0.0
-35.61+ 0.00

TP delay [ns]



TVC(cbch)(O?O TVC(cbch)(07l) TVC(cbch)(O72) TVC(cbch)(073

A7 nui psze+ud /25 “/nun1oye+ud [ 25 A7 1 nuipuse+ud / 25 AT 1L ryse+ud [ 25
4000 e, PO 4202+ 0.0 4000 - po 4212+ 0.0 4000 _= po 4235+ 0.0 4000 po 4232+ 0.0
pl -37.51+ 0.00 pl -37.8+ 0.0 r pl -38.09 + 0.00 pl -37.14+ 0.00

3000

-1 3000 - -1 3000 - -1 3000 -1

2000 1 2000 - -1 2000~ -1 2000

1 wol- C = 26.45 [ps/c .

1000 —_ 1000 -
0 0 % o of £ oo 0
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(cbch) (0,7,4) TVC(cbch) (0,7,5) TVC(cbch) (0,7,6) TVC(cbch) (0,7,7)
- 1L y4pe+04 / 25 -1 nui y1be+u4d / 25 - rnu1z4e+04 [ 25 -1 nu 2upe+u4 / 25
4000 4221% 0.0 4000 e, pO 4224+ 0.0 4000, pO 4224+ 0.0 4000 e, pO 4219+ 0.0
355+ 0.0 Pl -36.17% 0.00 3 pl -35.42+ 0.00 pL -34.81% 0.00
2000 ] 3000 — 3000 ] 3000 b
2000 -] 2000 B 2000 ] 2000 B
1000 ] 1000 ] woor C = 28.23 [ps/ch ] woo- C = 28.73 [ps/ch ]
1 1 - 0, b 1 1 - 1 -
50 00 50 100 50 00
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(eb,ch)=(0,7,8) TVC(eb,oh)=(0,7,9) TVC(eb,eh)=(0, 7, 10) TVC(e.heh)=(0, 7, 11)
T nua, (9ae+u4 [ 25 T 1nu. ybse+u4 [ 25 © 1 nugo2ye+ud / 25 T 31e+u4 /25
4000 e pO 4235+ 0.0 4000 pO 4242+ 0.0 4000 DO 4257+ 0.0 4000 p0 4259+ 0.0
pl -36.71 0.00 Pl -36.79+ 0.00 [ Pl -36.25+ 0.00 Pl -37.09% 0.00

3000 E 3000 E 3000 E 3000 E

2000 . 2000 1 2000 - 2000

1000 e 1000 — 1000 E 1000

0, 0 0
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(cbch)(O?l ) TVC(cbch)(O?lB) TVC(cbch)(O7l ) TVC(cbch)(0715)
T inuiL, r5oe+u4 / 25 T rsbe+u4 [ 25 T, 1ye+ud / 25 - nuiL y3ae+u4 [ 25
4000 k=, pO 4221 0.0 4000 4238+ 0.0 4000 PD 4238+ 0.0 4000 e, pO 4250 0.0
pl -34.59 + 0.00 -36.61+ 0.00 r pl -35.85+ 0.00 pl -36.23+ 0.00

- 3000

3000 N 3000 -1 3000 -1

2000 — 2000 T 2000[ b 2000

1000 1000

N 1000 - 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (0,8,0

A7 nui p4se+u4 /25
., po 4215+ 0.0
pl -36.24 + 0.00

TP delay [ns]

TVC(cbch) (08,4

-1 nurg boze+ud [ 25
pO 4218+ 0.0
pl -35.08:+ 0.00

0

TP delay [ns]
TVC(cbch) (0.88) _
T UG 1o4e+U4 5
- po 4238:‘
pl -36.54 + 0.00
TP delay [ns]
TVC(c,b ch) (0o, 8 12

T Ly rse+u4 | 25
pO 4255+ 0.0
pl -37.19+ 0.00

PR B SRS |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,81

A1 (aze+Ua ] 25
P, po 4200+ 0.0
pL -35.07+ 0.00

TP delay [ns]

TVC(c,b ch) (0 8,5

“nu rz/e+04 [ 25
- pO 4212+ 0.0
p1 -34.48+ 0.00

TP delay [ns]

TVC(c,b ch) (0 8,9

Tinan /pbe+ud [ 25
= po 4253+ 0.0
pl -36.01+ 0.00

TP delay [ns]

TVC(C, bch) (0,8,13

~inuiLyb/e+ud [ 25
= pO 4265+ 0.0
pl -37.17+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

0

4000

3000

2000

TVC(cbch) (0,8,2)

Tnun Lose+ud [ 25
-, po 4212+ 0.0
o pl -35.82+ 0.00

3000

TP delay [ns]

TVC(cbch) (0,86

T g3 /e+ud [ 25
- pO 4234+ 0.0
[ pl -35.79+ 0.00

TP delay [ns]

TVC(cbch) (0, 8 10

T 3.43e+04 /25
F DO 4282+ 0.0
- pl -37.14 + 0.00

TP delay [ns]

TVC(cbch) (0,814

1000

T/ roe+04 [ 25
- pD 4264+ 0.0
L pl -37.58 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,8,3

AT 1L g roe+u4 [ 25
- po 4231+ 0.0
pl -36.25+ 0.00

TP delay [ns]

TVC(c,b ch) (0 8,7

-1 nui Bo3e+u4 / 25
- pO 4240+ 0.0
p1 -35.64 + 0.00

TP delay [ns]

TVC(c,b ch) (0, 8

T, //ue+u4/25
= pO 4274+ 0.0
pl -36.86 + 0.00

TP delay [ns]

TVC(C, bch) (0,815

T inai71ve+u4 /25
- pO 4256+ 0.0
p1 -36.58 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,9,0

K71 nuiazae+04 /25
., po 4183+ 0.0
pl -35.68 0.00

TP delay [ns]

TVC(cbch) (0,9,4

- i bloe+ud / 25
pO 4181% 0.0
pl -35.53+ 0.00

TP delay [ns]

TVC(cbch) (O 9,8

T a4 r9e+04 [ 25
po 4216+ 0.0
pl -35.51+ 0.00

TP delay [ns]

TVC(cbch) (0,9,12

©rnuizyose+ud | 25
4220+ 0.0
-35.4+ 0.0

PR B SRS |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,9,1

x- 1 L Soae+U4 | 25
., po 4179+ 0.0
pL -35.03+ 0.00

TP delay [ns]

TVC(c,b ch) (0 9,5

=1 Ui Y3pe+u4 / 25
4199+ 0.0
-35.4 + 0.0

50 1(;0
TP delay [ns]

TVC(c,b ch) (0 9,9

<1 nup.byae+u4 [ 25
po 4212+ 0.0
pl -35.36 + 0.00

TP delay [ns]

TVC(C, bch) (0,9,13

TinuiLgs/e+ud [ 25
pO 4197+ 0.0
pl -34.53+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000

2000

1000

TVC(cbch) (0,9,2)

A7 nun ozse+u4 /25
- po 4199+ 0.0
L p1 -36.34+ 0.00

3000

TP delay [ns]

TVC(cbch) (0,9,6

T/ (e+V4 [ 25
- pO 4199+ 0.0
3 pl -35.78 0.00

TP delay [ns]

TVC(cbch) (0, 9 10

1000

- nug 11ve+ud [ 25
= pO 4248+ 0.0
L pl -36.03+ 0.00

TP delay [ns]

TVC(cbch) (0,9,14

T L g4ze+u4 [ 25
- pD 4208+ 0.0
L pl -34.23+ 0.00

- C = 29.22 [ps/ch]

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,9,3)

AT rnuiLblze+ud [ 25
po 4201+ 0.0
pl -35.59 + 0.00

TP delay [ns]

TVC(c,b ch) (0 9,7

- 11U Ubse+u4 / 25
pO 4216+ 0.0
pL -36.75+ 0.00

TVC(c,b ch) (0, 9

50 1(;0
TP delay [ns]

T zu1e+u4/25
po 4246+ 0.0
p1 -36.74+ 0.00

TP delay [ns]

TVC(C, bch) (0,9,15

T inai71ve+u4 /25
po 4224+ 0.0
p1 -34.99 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (o, 10 0)

[ C =29.20 [ps/ch]

T sioe+u4 /25
™ pO 4208+ 0.0
-34.24 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (0,104

- 1L 644e+04 | 25
e, pO 4225+ 0.0
pl -36.65 + 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (0, 10 8

1 nuizusde+ud | 25
= po 4215+ 0.0
pl -35.34+ 0.00

TP delay [ns]

TVC(cbch) (0,10,12

Tz 1 ze+04 /25
= po 4260+ 0.0
pl -36.72+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (0,10,1)

A1 nuiLa3serud | 25
= po 4205+ 0.0
pl -34.4 + 0.0

TP delay [ns]

TVC(c, bch) (0,10,5

-1 nui Byse+u4 / 25
- pO 4233+ 0.0
pL -37.36+ 0.00

TP delay [ns]

TVC(c,b ch) (0, 10

~ 1 nug.z30e+u4 25
= po 4233+ 0.0
pl -36.62 + 0.00

TP delay [ns]

TVC(cbch) (010,13

T inuizuz/e+ud [ 25
- pO 4253+ 0.0
pl -36.13+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(CbCh) (0,10,2)

A7 nun ssye+u4 / 25
__ po 4214+ 0.0
L pl -34.76 + 0.00

3000

TP delay [ns]

TVC(cbch) (0.10,6

1000

Srnuan /1e+u4 [ 25
- pO 4235+ 0.0
[ pl -36.81+ 0.00

TP delay [ns]

TVC(cbch) (0, 10 10

1000

0

T nuzgo/e+u4 [ 25
=, po 4253+ 0.0
L pl -36.72+ 0.00

TP delay [ns]

TVC(cbch) (0.10,14

1000

T zule+ud /25
- pD 4262+ 0.0
L pl -36.99 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (0,10,3)

AT 1L ssve+ud [ 25
o po 4229+ 0.0
p1 -34.93+ 0.00

TP delay [ns]

TVC(c, bch) (0,10,7

-1 nuz.uaye+u4 / 25
- pO 4258+ 0.0
pL -37.28+ 0.00

50 100

TP delay [ns]

TVC(cbch) (o, 10 1

Tinuzzs/e+ud [ 25
= pO 4249+ 0.0
pl -35.21+ 0.00

TP delay [ns]

TVC(cbch) (0,10,15

T nuiz.ybse+ud / 25
- pO 4256+ 0.0
p1 -37.25+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (0,11,0)

AT 1nui srae+04 /25

-34.71+ 0.00

4157+ 0.0

1
50 100

TP delay [ns]

TVC(cbch) (0,11,4

- i 3b3e+04 / 25
e pO 4164+ 0.0
p1 -34.13 0.00

TP delay [ns]

TVC(cbch) (0, 11 8

1 nuz.438e+04 / 25
= po 4187+ 0.0
p1 -34.78 + 0.00

TP delay [ns]

TVC(cbch) (0,11, 12

X~ 11 s40e+04 [ 25
- po 4212+ 0.0
pl -35.76 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (0,11,1)

A7 1 nuiL2yg4e+u4 [ 25
== po 4161+ 0.0
pl -35.27 + 0.00

TP delay [ns]

TVC(cbch) (0,11,5

~1nui43/e+04 [ 25
e, pO 4190+ 0.0
p1 -34.94 + 0.00

50 1(;0
TP delay [ns]

TVC(eh.eh)=(0, 11, 9

~naigsule+ud / 25
= po 4209+ 0.0
p1 -34.77+ 0.00

TP delay [ns]

TVC(cbch) (0,11,13

T inai rzoe+ud | 25
== pO 4206+ 0.0
pl -35.58 + 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(CbCh) (o, 11 2)

1 nuiLbuLe+ud [ 25

= pO 4175+ 0.0
L p1 -35.17 £ 0.00

TP delay [ns]

TVC(cbch) (0,11,6

Srnun il be+u4 [ 25
- pO 4212+ 0.0
[ pl -36.03+ 0.00

TP delay [ns]

TVC(cbch) (0,11, 10

— X~ 1 nuzbyle+ud [ 25
bese, po 4197+ 0.0
o pl -34.36 + 0.00

TP delay [ns]

TVC(cbch) (0,11, 14

K- 1w rzie+04 [ 25
pee. po 4218+ 0.0
L p1 -36.15+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,11,3)

AT L4y re+ud [ 25
peee po 4184+ 0.0
pl -35.09 + 0.00

TP delay [ns]

TVC(cbch) (0,11,7

-1 nui byye+ud / 25
- pO 4196+ 0.0
p1 -34.28+ 0.00

TP delay [ns]

TVC(e.beh=(0, 11, 11

- -1 nuiz 1yoe+u4 / 25
= pO 4214+ 0.0
pl -35.32+ 0.00

TP delay [ns]

TVC(c, bch) (0,11,15

-1 nuipuse+ud / 25
= pO 4211+ 0.0
-34.9+ 0.0

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (o, 12 0)

T rnuzzse+u4 [ 25
= pO 4208+ 0.0
p1 -35.46 + 0.00

TP delay [ns]

TVC(Cbch) (o, 12 4

- rnuiLad/e+ud [ 25
po 4217+ 0.0
pl -37.85+ 0.00

50 10'0
TP delay [ns]

TVC(eb,oh)=(0, 12,8

- 1 nuizubye+ud | 25
e pD 4204+ 0.0
pl -36.77 + 0.00

TP delay [ns]

TVC(Cbch) (o, 12 12

1 nuiz, 102e+04 [ 25
= po 4220+ 0.0
-35.71+ 0.00

L n n n n 1
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (0,12,1)

X nuiLalierud ] 25
. po 4217+ 0.0
pL -37.74£ 0.00

TP delay [ns]

TVC(c,b Ch) (0, 12 5

-1 nui r14e+04 / 25
4208+ 0.0
-37.3+ 0.0

TP delay [ns]

TVC(eb.oh)=(0, 12,9

T nuiLu4/e+us /25
= po 4223+ 0.0
p1 -36.73+ 0.00

TP delay [ns]

TVC(c,b ch) (0, 12 13

~ 1 nuiz.u4oe+ud 25
- pO 4222+ 0.0
pl -36.22+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

2000

1000

TVC(CbCh) (0,12,2)

A~ 1 nui4l0e+04 / 25
-, po 4213+ 0.0
L p1 -36.5+ 0.0

3000

TP delay [ns]

TVC(Cbch) (o, 12 6

- rnuiLBa1e+u4 / 25
e pO 4213+ 0.0
[ pl -37.02 0.00

TP delay [ns]

TVC(cbch) (0, 12 10

1000

0

- g zo3e+04 | 25
- pO 4238+ 0.0
L pl -36.49+ 0.00

TP delay [ns]

TVC(CbCh) (o, 12 14

- 1 i yuse+ud [ 25
- pD 4228+ 0.0
L p1 -35.83+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (0,12,3)

A~ 1 nuiLbzoe+ud | 25
- po 4237+ 0.0
pL -36.99:+ 0.00

TP delay [ns]

TVC(c,b Ch) (0, 12 7

-1 nui yave+u4 / 25
4240+ 0.0
-37.3+ 0.0

50 160
TP delay [ns]

TVC(Cbch) (0, 12 11

T inuzy1ze+ud [ 25
= po 4250+ 0.0
p1 -36.73+ 0.00

TP delay [ns]

TVC(cbch) (0, 12 15

- sore+ud [ 25
= pO 4229+ 0.0
p1 -36.34 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,13,0)

~ 1 nuig,b4se+U4 | 25
PO 4216+ 0.0
pl -36.05 + 0.00

TP delay [ns]

TVC(cbch) (0,134

Tz 301e+04 / 25
pO 42351 0.0
-37.1% 0.0

EY 0o
TP delay [ns]
TVC(c,b, ch) (0.13,8)
T nugs1ze+u4 [ 25
™ pO 4262+ 0.0
pl -34.54 + 0.00

[ C =28.95 [ps/ch]

0

4000

3000

2000

1000

50

1
100

TP delay [ns]

TVC(cbch) (0,13, 12

[ C =28.94 [ps/ch]

Tinuzyyre+ud /25
PO 4251+ 0.0
-34.56 + 0.00

50

1
100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,13,1)

AT 1 nurye+u4 [ 25
po 4214+ 0.0
p1 37+ 0.0

TP delay [ns]

TVC(c, bch) (0,135

- HUIzU/E+04/25
DU 4238+ 0.0
pL -37.14+ 0.00

1(;0
TP delay [ns]

TVC(c,b ch) (0, 13

~ 1 nui ggbe+ud 25
DO 4285+ 0.0
-34.56 + 0.00

[ C =28.93 [ps/ch]

50

1
100

TP delay [ns]

TVC(cbch) (013,13

T gooe+u4 [ 25
pO 4251% 0.0
pl -35.88 + 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,13,2)

X~ 1wz 4uze+04 [ 25
po 4220+ 0.0
pl -35.63 + 0.00

TP delay [ns]

TVC(cbch) (0.13,6

-1 nu buze+ud [ 25
pO 4259+ 0.0
pl -37.33+ 0.00

TP delay [ns]

TVC(cbch) (0, 13 10

©rnugyzre+V4 [ 25
DO 4304+ 0.0
pl -34.83+ 0.00

- C = 28.71 [ps/ch]

0

4000

3000
2000

1000

50

1
100

TP delay [ns]

TVC(cbch) (0,13, 14

Tz yze+ud | 25
PD 4250+ 0.0
pl -35.17 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,13,3)

AT 1nuzB3/e+U4 /25
PO 4239+ 0.0
p1 -37.31+ 0.00

TP delay [ns]

TVC(c, bch) (0,137

S rnubrze+u4 [ 25
PO 4251% 0.0
pL -36.66 + 0.00

1(;0
TP delay [ns]

TVC(cbch) (o, 13 1

~ 1 nug n3ae+U4 / 25
pO 4303+ 0.0
pl -35.83+ 0.00

TP delay [ns]

TVC(cbch) (0,13,15

Tz, ro4e+04 [ 25
pO 4268+ 0.0
pl -36.69 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,14,0)

1 nuiL vose+ud [ 25

e, PO 4182+ 0.0
pl -36.57 + 0.00

TP delay [ns]

TVC(cbch) (0,144

T b /3e+ud [ 25

- pO 4203+ 0.0
Pl -34.77% 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (0, 14 8

1 nuig.uuge+U4 / 25
- PD 4202+ 0.0
pl -35.49+ 0.00

TP delay [ns]

TVC(cbch) (0,14,12

TinuiLs1ze+ud [ 25
- PO 4223+ 0.0
pl -36.08 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,14,1)

A7 1 nuiLbobe+u4 / 25
- po 4195 0.0
Pl -35.89% 0.00

TP delay [ns]

TVC(c, bch) (0,14,5

- Hulible+04/25
- DU 4207+ 0.0
pL -35.01+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (0,14,9

S b.0re+u4 /25
- DO 4218+ 0.0
pl -36.15+ 0.00

TP delay [ns]

TVC(cbch) (0.14,13

T ruse+u4 [ 25
= PO 4225+ 0.0
pl -36.48 + 0.00

TP delay [ns]

4000

3000

2000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

1000

TVC(cbch) (0,14,2)

1 nui(r4e+U4 [ 25

= PO 4200+ 0.0
r pl -35.99+ 0.00

TP delay [ns]

TVC(cbch) (0.14,6

Crnuan ze+u4 [ 25
- pO 4206+ 0.0
X pl -34.14 + 0.00

- C = 29.29 [ps/ch]

50 10‘0
TP delay [ns]

TVC(cbch) (o, 14 10)

©1nuzbase+u4 [ 25
- DO 4232+ 0.0
r -36.1+ 0.0

TP delay [ns]

TVC(cbch) (0.14,14)

T i ozoe+ud [ 25
= PD 4239+ 0.0
I pl -37.25+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,14,3)

A™ 7w Lobe+ud [ 25
- PO 4198+ 0.0
pl -35.32+ 0.00

TP delay [ns]

TVC(c, bch) (0,14,7

- Hulibse+04/25
- PO 4206+ 0.0
pL -34.69 + 0.00

TP delay [ns]

TVC(cbch) (0,14, 11

T inuiz1/ae+04 /25
- pO 4231+ 0.0
pl -36.19+ 0.00

TP delay [ns]

TVC(cbch) (0,14,15

T ryge+u4 [ 25
- PO 4244 + 0.0
pl -37.44 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (o, 15 0)

[ C =29.63 [ps/ch]

T srze+u4 [ 25
.. pO 4194+ 0.0
-33.75+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (0,154

T szie+u4 [ 25
- pO 4209+ 0.0
pl -36.12:+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (0, 15 8

1z 3uze+u4 | 25
= po 4218+ 0.0
p1 -35.42 + 0.00

TP delay [ns]

TVC(cbch) (0,15, 12

T g rve+u4 | 25
= po 4229+ 0.0
pl -34.99 + 0.00

TP delay [ns]

TVC(chh) (0,15,1)

3000

2000 -

1000 [~

AT 1 nunLzsse+ud [ 25
4000 [ po 4193+ 0.0
pl -33.2+ 0.0

C =30.12 [ps/ch] ™. 7

1 1
50 100

TP delay [ns]

TVC(cbch) (0,155

4000 S

3000

2000

1000 [~

=1 nui 489e+04 / 25
pO 4211+ 0.0
p1 -36.41% 0.00

TP delay [ns]

TVC(c,b ch) (0, 15

3000

2000

1000

<1 nuw, ryve+ud [ 25
4000 em, pO 4256+ 0.0
-35.5+ 0.0

1
50 100

TP delay [ns]

TVC(cbch) (0.15,13

4000 [

3000 -

2000

1000 |~

T 1 nuiL pobe+ud / 25
pO 4219+ 0.0
-34.83+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(CbCh) (0,15,2)

K™ 1nuisore+u4 /25
__ po 4216+ 0.0
[ p1 -35.44 + 0.00

3000

TP delay [ns]

TVC(cbch) (0.15,6

- i bzbe+u4 [ 25
- pO 4217+ 0.0
[ pl -36.55 + 0.00

TP delay [ns]

TVC(cbch) (0, 15 10

~1nuiz.y4pe+ud | 25
-, po 4276+ 0.0
L -36.2 + 0.0

TP delay [ns]

TVC(cbch) (0.15, 14

- 1L 5upe+u4 / 25
- pD 4217+ 0.0
L pl -34.52+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (0,15,3)

AT 1 nuiL4nse+ud [ 25
=3 po 4211+ 0.0
pl -35+ 0.0

TP delay [ns]

TVC(c, bch) (0,157

-1 nun bg3e+u4 / 25
4233+ 0.0
-36.7 + 0.0

50 1(;0
TP delay [ns]

TVC(cbch) (o, 15 1

-1 nuiz.zyye+ud [ 25
- po 4252+ 0.0
p1 -34.55+ 0.00

[ C =28.94 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (0,15,15

<1 nui pbse+ud / 25
- po 4226+ 0.0
p1 -35.05+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,0,0

K™ 1nui ruae+u4 / 25
P, po 4182+ 0.0
pl -36.34+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (10,4

- L S53e+04 / 25
™, pO 4164+ 0.0
pl -36.09 + 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (1 0,8

1nuizuave+u4 | 25
= po 4188+ 0.0
p1 -34.48 + 0.00

TP delay [ns]

TVC(cbch) (1,0,12

T/ rse+u4 | 25
= po 4200+ 0.0
pl -35.08 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,01

AT rnunLgrse+ud [ 25
- po 4185+ 0.0
p1 -36.94+ 0.00

TP delay [ns]

TVC(c,b ch) (1, O

=1 nui byze+ud [ 25
pO 4173+ 0.0
pL -35.56+ 0.00

TP delay [ns]

TVC(c,b ch) (1 0,9

T nug.zsze+ud [ 25
po 4209+ 0.0
p1 -34,68 £ 0.00

TP delay [ns]

TVC(C, bch) (1,0,13

T nui goze+ud [ 25
pO 4200+ 0.0
pl -36.07 + 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

4000

2000

1000

TVC(cbch) (1,0,2)

K™ 1 nuibuoe+ud / 25
i po 4179+ 0.0
[ p1 -35.66 + 0.00

3000

TP delay [ns]

TVC(cbch) (10,6

- 1nuiLbale+ud / 25
= pO 4183+ 0.0
3 pl -35.55 + 0.00

3000

TP delay [ns]

TVC(cbch) (1, 0 10

© 1 nuiz.z90e+u4 | 25
= po 4227+ 0.0
L pl -34.87 + 0.00

3000

TP delay [ns]

TVC(cbch) (1,0,14

T yoe+ud /25
= pD 4213+ 0.0
L p1 -37.38+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,0,3

AT rnuiLr1re+ud [ 25
- po 4202+ 0.0
p1 -36.46 + 0.00

TP delay [ns]

TVC(c,b ch) (1 0,7

- nui y3e+u4 / 25
e, pO 4194+ 0.0
p1 -36.41% 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (1, O

Tz, 14e+u4/25
4235+ 0.0
-35.6 + 0.0

TP delay [ns]

TVC(C, bch) (1,0,15

T nuizyrve+ud [ 25
= pO 4206+ 0.0
p1 -36.55+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,1,0)

A7 nui oy1e+u4 /25
4175+ 0.0
-36.21+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (11,4

- 1L 6yse+V4 | 25
= pO 4175+ 0.0
p1 -35.72:+ 0.00

TP delay [ns]

TVC(eboh)=(1, 1,8

1 nuiLyype+u4 / 25
- pO 4194+ 0.0
p1 -34.7+ 0.0

TP delay [ns]

TVC(cbch) (1,1,12

T L g3pe+u4 / 25
- po 4210+ 0.0
pl -36.42+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,1,1

AT 1 nuiLoube+ud [ 25
Fee,, po 4195+ 0.0
pl -35.68 + 0.00

TP delay [ns]

TVC(c,b ch) (1, 1

-1 nui bgle+ud / 25
o pO 4192+ 0.0
pL -36.17+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 1

T nuw, r34e+04 25
[, 4218+ 0.0
-34.38 + 0.00

[ C =29.09 [ps/ch] ]

1
50 100

TP delay [ns]

TVC(cbch) (1,1,13

T nui g44e+u4 / 25
== pO 4203+ 0.0
pl -36.84+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

TVC(cbch) (1,1,2)

TP delay [ns]

TVC(cbch) (11,6

AT 1nun szze+04 /25
- po 4194+ 0.0
L pl -35.35+ 0.00

3000

T rnuiL 7 (9e+u4 [ 25
- pO 4202+ 0.0
[ pl -36.06 + 0.00

TP delay [ns]

TVC(ebeh)=(1, 1, 10

T 1nuzb3ve+ud | 25
= po 4226+ 0.0
- pl -34.49 + 0.00

- C =29.00 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (1,114

T rre+ud /25
= pD 4212+ 0.0
+ pl -36.87 + 0.00

P
100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,1,3

AT 1L zoze+ud [ 25
P, po 4202+ 0.0
pl -35.02+ 0.00

TP delay [ns]

TVC(c,b ch) (1 1,7

~rnuan 1ble+u4 [ 25
- pO 4201% 0.0
pL -35.28+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 1

1)
- nuiz.yuse+ud / 25
- po 4229+ 0.0
pl -35.13+ 0.00

TP delay [ns]

TVC(cbch) (1,1,15

TinuaiLs3/e+ud [ 25
- 4203+ 0.0
-35.31+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,2,0

A~ 1 nui 3rae+04 25
P, po 4194+ 0.0
p1 -36.72:+ 0.00

TP delay [ns]

TVC(cbch) (1,24

- i S25e+04 [ 25
.. po 4212+ 0.0
pl -35.93+ 0.00

50 10'0
TP delay [ns]

TVC(ebch)=(1,2,8

a2 guve+u4 / 25
= pO 4196+ 0.0
pl -35+ 0.0

TP delay [ns]

TVC(cbch) (1,212

-1 nuzzlse+u4 [ 25
= po 4239+ 0.0
p1 -36.77+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,2,1)

“/nun1oye+ud [ 25
. pO 4195+ 0.0
p1 -35.31# 0.00

TP delay [ns]

TVC(c,b ch) (1,2,5

'rnulibﬁe+04/25
po 4231+ 0.0
p1 -35.84 + 0.00

50 150
TP delay [ns]

TVCebeh)=(1,2,9

-1 nub.suYe+u4 / 25
po 4218+ 0.0
p1 -35.16 £ 0.00

TP delay [ns]

TVC(c,b Ch) (1, 2 13

T 1 nuiz.zoae+u4 | 25
pO 4238+ 0.0
p1 -37.3+ 0.0

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000

2000

TVC(cbch) (1,2,2)

X~ 1L 330e+04 [ 25
po 4208+ 0.0
p1 -35.76 + 0.00

TP delay [ns]

TVC(cbch) (1,26

- i, r85e+04 [ 25
pO 4239+ 0.0
p1 -36.01+ 0.00

TP delay [ns]

TVC(c,b, ch) (1, 2 10

1000

- iz ghze+U4 [ 25
pO 4227+ 0.0
pL -35.21+ 0.00

TP delay [ns]

TVC(cbch) (1,2 14

1000

- rnuig,107e+04 [ 25
pD 4238+ 0.0
pl -36.26 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,23)

i 1ooerud | 25
e pO 4202 0.0
pL -34.72.+ 0.00

TP delay [ns]

TVC(c,b ch) (1 2,7

=1 nuiL, 79ve+ud | 25
= po 4236+ 0.0
-35.7 + 0.0

TP delay [ns]

TVC(c,b ch) (L2

T, 44/e+u4/25
= po 4250+ 0.0
pl -35.96 + 0.00

TP delay [ns]

TVC(c,b ch) (1, 2 15

- z3ne+ud [ 25
= pO 4234+ 0.0
p1 -36.25+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,3,0)

A~ 1L slie+ud [ 25
4205+ 0.0
pl -37.26+ 0.00

TP delay

TVC(cbch) (1,34

[ns]

)
- rnun 1 yve+ud [ 25
P po 4199+ 0.0
pl -37.23+ 0.00
[ C =26.86 [ps/c ]
! 1 -'.
50 100
TP delay [ns]
TVC(cbch) (1 3,8)
T nu 331e+u4 / 25
- po 4229+ 0.0
pl -35.35+ 0.00

TP delay

TVC(cbch) (1,312

pO
p1

[ns]

T/ rse+u4 | 25
4193+ 0.0
-33.45+ 0.00

[ C =29.90 [ps/ch]

PR B SRS |
50 100

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,3,1)

e, po

AT rmunLroie+ud [ 25
4206+ 0.0
-35.87 + 0.00

p1

1
100

TP delay [ns]

TVC(c,b ch) (1, 3

=1 i Boye+u4 / 25
4230+ 0.0
-38.5+ 0.0

-
|
100

TP delay [ns]

TVC(c,b ch) (1 3,9

= po

T nuisog/e+u4 / 25
4247+ 0.0
-35.98 + 0.00

TP delay [ns]

TVC(C, bch) (1,3,13

Tinairo1e+ud [ 25
4194+ 0.0
-33.57+ 0.00

[ C =29.78 [ps/ch]

50

il
100

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000

2000

1000

TVC(cbch) (1,3,2)

- po

A™ 1 nuiLyise+ud /25
4209+ 0.0
pl -36.17 + 0.00

TP delay

TVC(cbch) (1,36

pO
p1

[ns]

- nuz 118e+04 / 25
4231+ 0.0
-38.34 + 0.00

TP delay

TVC(cbch) (1, 3 10

- o

[ns]

© 1 nuz158e+04 / 25
4269+ 0.0
pl -35.91+ 0.00

TP delay

TVC(cbch) (1,3 14

[ns]

T sse+u4 [ 25
4190+ 0.0
-33.48+ 0.00

- C = 29.87 [ps/ch]

PR IR SRR |
50 100

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,3,3)

o=, po

pl

AT rnuiLgr1e+u4 /25
4224+ 0.0
-36.66 + 0.00

1
100

TP delay [ns]

TVC(c,b ch) (1 3,7

pO
pl

-1 nuz.038e+u4 / 25
4236+ 0.0
-37.96 + 0.00

100

TP delay [ns]

TVC(c,b ch) (1, 3

= pO

T 9a4e+u4/25
4252+ 0.0
-35.6 + 0.0

1
100

TP delay [ns]

TVC(C, bch) (1,315

== pO

T nui szoe+ud [ 25
4198+ 0.0
-34.15+ 0.00

[ C =29.28 [ps/ch]

50

1
100

TP delay [ns]



TVC(cbch)(140) TVC(cbch)(l4l) TVC(cbch)(142) TVC(cbch)(143)
A” 1L robe+ud / 25 A~ 1w bbae+ud | 25 A” 11 5o4e+04 [ 25 A~y r1ze+Ud | 25
4000 - PO 4220+ 0.0 4000 & - po 4224+ 0.0 4000 _. - po 4226 + 0.0 4000 oo, po 4228+ 0.0
pl -38.4+ 0.0 pl -38.95+ 0.00 : pl -38.09 i_0.00 pl -37.75+ 0.00

3000 - -1 3000

-1 3000 -1 3000 -1

2000~ 1 2000 -1 2000 -1 2000

=1 1000

wof C = 26.04 [ps/c 1

=1 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (14,4 TVC(cbch) (14,5 TVC(cbch) (14,6 TVC(c, bch) (14,7

- i B1ye+ud / 25 -1 nur yyze+ud [ 25 -1 nuz zoge+u4 | 25 - 1nu 1bze+u4 / 25
4000 (e, pO 4202+ 0.0 4000 DU 4216 0.0 4000 pO 4221+ 0.0 4000 e, pO 4227+ 0.0
Pl -35.07:0.00 Pl -36.04 0.00 3 Pl 3656+ 0.00 Pl -35.82: 0.00

3000~ g 3000 - 3000 — 3000 B

2000 ] 2000 — 2000~ — 2000 -

1000 E 1000 C 7] wool- C = 27.35 [ps/ch 7] 1000 ]

"= " [ = ]
I I - I I - L I I -'
50 00 50 00 0 50 00
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(c,b Ch) (1, 4 8) TVC(c,b Ch) (1, 4 9) TVC(c,b, Ch) (1, 4 10) TVC(c,b Ch) (1, 4 11)
©nug 3oge+ud / 25 -1 nug.uyve+u4 [ 25 T, (43e+04 / 25 T 3yle+u4 [ 25
4000 e, pO 4241+ 0.0 4000 e, pO 4268+ 0.0 4000 fmm, DO 4289+ 0.0 4000 [ p0 4277+ 0.0
Pl -36.67:0.00 Pl -36.66: 0.00 [ PL_ -3745%0.00 Pl -36.43: 0.00

3000

-1 3000 -1 3000 -1 3000 -1

2000 -1 2000 -1 2000 -1 2000

1000 -1 1000 - 1000 N 1000

0 0

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (1,412 TVC(C, bch) (1,4,13 TVC(cbch) (1,4,14 TVC(C, bch) (1,4,15

Tz, 1u0e+u4 / 25 T 1nuiz zoze+ud [ 25 1 nuiz,uspe+u4 | 25 Tinuizay/e+ud [ 25
4000 f, PO 4207+ 0.0 4000 PO 4216+ 0.0 4000 o, PD 4219+ 0.0 4000 o, pO 4211+ 0.0
pl -35.01+ 0.00 pl -35.96 + 0.00 r pl -35.87 + 0.00 pl -36.25+ 0.00

- 3000

3000 -1 3000 - 3000 -1

2000 - 2000 - 2000 - 2000

1000 — 1000 N 1000[ 1 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (1,50

A~ 1 nuiL gy re+ud [ 25
o, po 4191 0.0
p1 -35.72:+ 0.00

TP delay [ns]

TVC(cbch) (1,54

= 1 9use+u4 / 25
o, po 4223+ 0.0
pl -36.07 + 0.00

- C N
_ o
TP delay [ns]
TVC(c,b ch) (1, 5 8

- bzserud | 25
pD 4235+ 0.0
p1 -36.46+ 0.00

TP delay [ns]

TVC(cbch) (1,512

T rnuiz4n3e+ud [ 25
pO 4251+ 0.0
pl -36.03+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,5,1

AT 1 nuz,135e+U4 [ 25
Frase po 4195+ 0.0
pl -35.51+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 5

“rnun 1.94e+04 [ 25
pO 4224+ 0.0
p1 -36.16+ 0.00

TP delay [ns]

TVC(c,b ch) (1 59

-y Zove+Ud | 25
- pO 4259+ 0.0
pL -36.28+ 0.00

TP delay [ns]

TVC(c,b Ch) (1, 5 13

T nu s30e+ud / 25
- pO 4247+ 0.0
p1 -35.88+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000
2000

1000

4000

3000

2000

4000

3000
2000

1000

TVC(cbch) (1,5,2)

TP delay [ns]

TVC(cbch) (1,56

X~ 1 iz 303e+04 [ 25
F.... po 4200+ 0.0
[ p1 -35.76 + 0.00

3000

-1 nunLy3be+u4 / 25
- pO 4241 0.0
[ 368+ 0.0

TP delay [ns]

TVC(eb.oh)=(1, 5, 10

1000

0

© 1 nuig bo3e+u4 [ 25
-, po 4273+ 0.0
N pl -37.02+ 0.00

TP delay [ns]

TVC(c,b Ch) (1, 5 14

- z51e+04 /25
P, pD 4245+ 0.0
[ pl -35.6 + 0.0

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,5,3

K™ 1z Lroe+ud [ 25
Fer.. po 4209+ 0.0
p1 -35.16+ 0.00

[ C=28.44 [psi/ch

L
50 100

TP delay [ns]

TVC(c,b ch) (1 57

-1 nuz.0ule+ud / 25
- pO 4243+ 0.0
p1 -35.65+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 5

T, /4/e+u4/25
- po 4280+ 0.0
pl -36.99 + 0.00

TP delay [ns]

TVC(c,b ch) (1, 5 15

- y31e+ud [ 25
- pO 4256+ 0.0
p1 -35.7 £ 0.0

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,6,0)

A1,

r40e+U4 [ 25
4193+ 0.0
-37.19+ 0.00

TP delay [ns]

TVC(cbch) (1,6,4

b4ze+U4 / 25
4220+ 0.0
-36.85+ 0.00

- po/ i
p1
FC N
1 1 -1-
50 100
TP delay [ns]
TVC(eb.ch)=(1,6,8)
T rnuz.z43e+04 | 25
- pO 4221+ 0.0
p1 -34.9+ 0.0

TP delay [ns]

TVC(cbch) (1,6,12

T rnuiLys/e+u4 [ 25
4231+ 0.0
-37.38+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,6,1)

[ pO

T Lsse+ud [ 25
4197+ 0.0
-36.74 + 0.00

p1

TP delay [ns]

TVC(c,b ch) (1, 6

- 11 494e+04 [ 25
4217+ 0.0
-36.27 + 0.00

TP delay [ns]

TVC(c,b ch) (1 6,9

[, pO

~ 1 nug.yzge+ud / 25
4241% 0.0
-35.33+ 0.00

TP delay [ns]

TVC(c,b Ch) (1, 6 13

T nai ysze+ud [ 25
4228+ 0.0
-36.52+ 0.00

TP delay [ns]

4000

3000

2000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

1000

TVC(cbch) (1,6,2)

= PO

X~ 1z 0B1e+04 [ 25
4205+ 0.0
p1 -37.55+ 0.00

TP delay

TVC(cbch) (16,6

= P°

[ns]

- rnuiL4s1e+u4 / 25
4220+ 0.0
pl -35.74 + 0.00

TP delay

TVC(eb,oh)=(1, 6, 10

- b

[ns]

S rnuz.4ze+04 125
4256+ 0.0
-35.1+ 0.0

1
100

TP delay

TVC(cbch) (1,614

[ns]

S oo (7ze+04 [ 25
4222+ 0.0
pl -36.15+ 0.00

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,6,3)

bsve+u4 / 25
4212+ 0.0
-35.98+ 0.00

A

po
pL

TP delay [ns]

TVC(c,b ch) (1 6,7

pO
pl

- nui b13e+04 / 25
4219+ 0.0
-35.19+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 6

= pO

EEALEVX u4/e+u4/25
4246 £ 0.0
-34.76 + 0.00

TP delay [ns]

TVC(c,b ch) (1, 6 15

- i yode+ud [ 25
4214 0.0
-36.26 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,7,0)

A7 1 nuioyse+ud /25
. po 4185+ 0.0
p1 355+ 0.0

TP delay [ns]

TVC(cbch) (17,4

- i b33e+u4 / 25
= pO 4196+ 0.0
pl -36.87:+ 0.00

TP delay [ns]

TVC(ebioh)=(1,7,8

T nuig.za4e+04 [ 25
4218+ 0.0
-36.5+ 0.0

1
50 100

TP delay [ns]

TVC(cbch) (1,7,12

T r3e+u4 /25
= po 4227+ 0.0
pl -35.54 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,7,1)

A” 1 nuiLbzoe+ud [ 25
Fee,, po 4202+ 0.0
pl -36.41+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 7

= nuiLgz1e+04 / 25
== po 4195+ 0.0
pl -36.65+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 7

T nug.zg/e+ud [ 25
= po 4220+ 0.0
pl -35.82 + 0.00

TP delay [ns]

TVC(C, bch) (1,7,13

T inuiLorse+ud [ 25
— pO 4229+ 0.0
pl -36.47 + 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

4000

2000

1000

TVC(cbch) (1,7,2)

K™ 1nuiLolye+ud /25
P, po 4195+ 0.0
L pl -35.64 + 0.00

3000

TP delay [ns]

TVC(cbch) (17,6

- rnuibz1e+u4 / 25
- pO 4239+ 0.0
[ pl -37.08+ 0.00

3000

TP delay [ns]

TVC(ebeh)=(1, 7, 10

1 nuig,byve+u4 / 25
= po 4228+ 0.0
o pl -35.97 + 0.00

3000

TP delay [ns]

TVC(cbch) (1,7,14

T 1w plse+ud / 25
- pD 4223+ 0.0
L pl -35.52+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,7,3)

x- 1L 7 a4e+U4 | 25
P po 4212+ 0.0
p1 -36.68+ 0.00

TP delay [ns]

TVC(c,b ch) (1 7,7

= 1 nu Zooe+ud | 25
= po 4221+ 0.0
pl -37.37  0.00

50 100
TP delay [ns]

TVC(c,b ch) (1, 7

1)
Tinuiz1//e+u4 /25
= po 4238+ 0.0
pl -36.64 + 0.00

TP delay [ns]

TVC(C, bch) (1,7,15

T nui oy /e+ud [ 25
= pO 4231+ 0.0
p1 -35.72+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (1,8,0)

T Lse+ud /25
P pO 4173+ 0.0
p1 -36.1+ 0.0

TP delay [ns]

TVC(cbch) (18,4

T lrze+u4 [ 25
pO 4213+ 0.0
pl -37.91+ 0.00

L=
50 100
TP delay [ns]

TVC(cbch) (1 8,8

- rnuz 113e+04 | 25
- pD 4204+ 0.0
pl -36.64 + 0.00

TP delay [ns]

TVC(cbch) (1,812

L puze+u4 / 25
= po 4238+ 0.0
pl -36.59 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,81

AT 1 nunLssYe+ud [ 25
poee. po 4201+ 0.0
pl -37.16+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 8

1 nuiLa1ze+04 / 25
== po 4205+ 0.0
pl -37.42 % 0.00

TP delay [ns]

TVC(c,b ch) (1 8,9

- naiylae+ud [ 25
= pO 4231+ 0.0
pl -36.25+ 0.00

TP delay [ns]

TVC(C, bch) (1,813

Tonan g oe+ud [ 25
= pO 4220+ 0.0
pl -35.37+ 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

4000

2000

1000

TVC(cbch) (1,8,2)

K™ 1 nui rove+U4 / 25
- po 4204+ 0.0
L pl -36.74+ 0.00

3000

TP delay [ns]

TVC(cbch) (18,6

©1nuiLbage+u4 | 25
-, pO 4208+ 0.0
- pl -37.13+ 0.00

3000

TP delay [ns]

TVC(cbch) (1, 8 10

T rnuz1p1e+u4 /25
= po 4242+ 0.0
I pl -36.17 + 0.00

3000

TP delay [ns]

TVC(cbch) (1,814

~ 1L boe+U4 / 25
- pD 4238+ 0.0
[ p1 -37.13+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,8,3)

AT 1L Baoe+u4 [ 25
- po 4208+ 0.0
pl -36.86 + 0.00

TP delay [ns]

TVC(c,b ch) (1 8,7

= 1nui 7z0e+04 | 25
= po 4209+ 0.0
pl -37.23+ 0.00

50 100
TP delay [ns]

TVC(c,b ch) (1, 8

T wse+u4/25
= po 4236+ 0.0
pl -36.13+ 0.00

TP delay [ns]

TVC(C, bch) (1,815

T nui byse+ud [ 25
= pO 4238+ 0.0
p1 -35.92 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,9,0

K™ 1nui ruse+ud /25
.. po 4195+ 0.0
pl -36.2+ 0.0

TP delay [ns]

TVC(cbch) (1,94

- 1L az8e+04 | 25
P, pO 4210+ 0.0
pl -36.36 + 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (1 9,8

[ C =29.39 [ps/ch]

©nuiLg1oe+U4 / 25
= pO 4181+ 0.0
pl -34.03 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (1,9,12

T L pae+ud /25
= po 4207+ 0.0
pl -34.85+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,91

A” 1 nuiLboble+ud /25
- po 4205+ 0.0
pl -35.92+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 9

“nuib3/e+u4 [ 25
- pO 4223+ 0.0
pL -36.82:+ 0.00

TP delay [ns]

TVC(c,b ch) (1 9,9

~ 1 nu. 120e+U4 / 25
= po 4213+ 0.0
p1 -34.75+ 0.00

TP delay [ns]

TVC(C, bch) (1,9,13

T inuislye+ud [ 25
feee. 4195+ 0.0
-34.24+ 0.00

[ C =29.20 [ps/ch] ]

PR BRSNS |
50 100

TP delay [ns]

4000

2000

1000

4000

2000

4000

2000

1000

4000
3000
2000

1000

TVC(cbch) (1,9,2)

AT 1nui g roe+04 /25
_- po 4201+ 0.0
L pl -36.32+ 0.00

3000

TP delay [ns]

TVC(cbch) (19,6

1000

T b pe+u4 [ 25
- pO 4230+ 0.0
[ pl -37.04 0.00

3000

TP delay [ns]

TVC(cbch) (1, 9 10

© 1z, (uze+u4 | 25
= po 4230+ 0.0
L pl -35.66 + 0.00

3000

TP delay [ns]

TVC(cbch) (1,914

~ 1 nuiLpsYve+u4 / 25
4201+ 0.0
-35.4+ 0.0

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,9, 3)

AT 1L rose+ud [ 25
po 4234+ 0.0
pl -38.16+ 0.00

TP delay [ns]

TVC(c,b ch) (1 9,7

-1 nui 48Ye+04 / 25
- pO 4234+ 0.0
pL -36.13+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (1, 9

[ C=29.23 [ps/ch]

EEALEVX sze+U4/25
= po 4222+ 0.0
p1 -34.21+ 0.00

1
50 100

TP delay [ns]

TVC(C, bch) (1,9,15

T nuiplve+ud [ 25
= pO 4209+ 0.0
-34.35+ 0.00

[ C=29.11 [ps/ch]

PR PR S S |
50 100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (1, 10 0)

T 1ooe+ud /25
.. pO 4197+ 0.0
pl -35.96 + 0.00

TP delay [ns]

TVC(cbch) (1,104

-1 bz4e+04 [ 25
- pO 4186+ 0.0
p1 -34.53+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (1, 10 8

1 nuig,3yge+u4 | 25
= po 4230+ 0.0
pl -37.36+ 0.00

TP delay [ns]

TVC(cbch) (1,10,12

T rnuiLbroe+u4 / 25
= po 4224+ 0.0
p1 34+ 0.0

[ C =29.41 [ps/ch]

PR B SRS |
50 100

TP delay [ns]

TVC(chh) (1,10,1)

3000

2000

1000

A1 Ui abse+ud [ 25
4000 [ po 4214+ 0.0
pl -35.94 + 0.00

TP delay [ns]

TVC(c, bch) (1,105

4000 (S

3000 -

2000

1000 [~

-1 nui bhze+u4d [ 25
pO 4186+ 0.0
pL -35.21% 0.00

50 1(;0
TP delay [ns]

TVC(ebeh)=( 1, 10,9

4000 [

3000

2000

1000

T nu.ap3e+u4 / 25
po 4236+ 0.0
pl -36.08 + 0.00

TP delay [ns]

TVC(cbch) (110,13

4000 &,

3000

2000 |-

T inuip1ze+ud [ 25
pO 4229+ 0.0
pl -33.05+ 0.00

00 C = 30.26 [ps/ch] ™. 1

PR
50

il
100

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

4000
3000
2000

1000

TVC(CbCh) (1,10,2)

A7 1 nui43se+04 /25
__— po 4201+ 0.0
o pl -35.02+ 0.00

3000

TP delay [ns]

TVC(cbch) (1,10,6

T i1 bbe+usd [ 25
- pO 4205+ 0.0
[ pl -35.45+ 0.00

TP delay [ns]

TVC(cbch) (1, 10 10

1000

0

T 1nuiz.azoe+u4 | 25
= po 4252+ 0.0
L pl -36.54 + 0.00

TP delay [ns]

TVC(cbch) (110,14

~ 1 nuiLyube+u4 / 25
4229+ 0.0
-35.01+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (1,10,3)

AT rnuiLolye+ud [ 25
=, po 4198+ 0.0
pl -34.71% 0.00

TP delay [ns]

TVC(c, bch) (1,10,7

-1 i bave+u4 / 25
- pO 4218+ 0.0
pL -35.79+ 0.00

50 1(;0
TP delay [ns]

TVC(eh.eh)=(1, 10, 11

T inuiz143e+04 / 25
= po 4278+ 0.0
pl -38.39+ 0.00

TP delay [ns]

TVC(cbch) (1,10,15

Tonai uie+ud [ 25
F=. 4213+ 0.0
-33.77+ 0.00

[ C=29.61 [ps/ch] ]

50

1
100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (1,11,0)

A7 nun ssse+u4 / 25
o= po 4201+ 0.0
pl -37.25+ 0.00

TP delay [ns]

TVC(cbch) (1,114

- 1 i buze+ud / 25
[, PO 4206+ 0.0
pl -35.89+ 0.00

50 10‘0
TP delay [ns]

TVC(ebeh=(1, 11,8

T o 3ze+04 /25
= po 4228+ 0.0
pl -36.95+ 0.00

TP delay [ns]

TVC(cbch) (1,11, 12

K71 nui ooze+u4 /25
e, PO 4241+ 0.0
pl -36.12+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

TVC(Cbch) (1, 11 1)

-1 i sdse+ud | 25
e, pO 4211+ 0.0
pL -36.53 + 0.00

TP delay [ns]

TVC(cbch) (1,11,5

- 1nuiLbrge+u4d [ 25
- pO 4202+ 0.0
pL -36.13+ 0.00

TP delay [ns]

TVC(eh.eh)=(1, 11, 9

-1 naiyzuae+04 [ 25
e pO 4254+ 0.0
pl -37.67 + 0.00

TP delay [ns]

TVC(cbch) (1,11,13

T inuir30e+ud [ 25
pO 4239+ 0.0
pl -36.63+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000
3000
2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(CbCh) (1,11, 2)

TP delay [ns]

TVC(cbch) (1,116

A~ 1nuiLyyie+ud /25
.. po 4226+ 0.0
p1 -37.4+ 0.0

FC=26.74 [ps/c 7

L 3 1

- -

I ™
50 100

a1 8e+u4 [ 25
4221+ 0.0
-36.2+ 0.0

TP delay [ns]

TVC(eb.eh)=(1, 11, 10

0

X~ 1z yzoe+u4 [ 25
= po 4272+ 0.0
- pl -36.97 + 0.00

TP delay [ns]

TVC(cbch) (1,11, 14

X~ 1L suse+U4 [ 25
- po 4235+ 0.0
[ p1 -37.39+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,11,3)

AT 1 nuiLsbse+ud [ 25
4228+ 0.0
p1 -36.44 + 0.00

po

TP delay

TVC(cbch) (1,11,7

feme pO
pl

[ns]

- nui gr8e+u4 / 25
4231+ 0.0
-36.08 + 0.00

50 1(;0
TP delay

TVC(c,b ch) (1, 11 11

= pO

[ns]

~ 1 nuig sz8e+u4 [ 25
4275+ 0.0
pl -37.11+ 0.00

TP delay

TVC(cbch) (111,15

[ns]

T nai ruse+ud [ 25
4245+ 0.0
p1 -37.57 + 0.00

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 =

3000

2000

1000

TVC(CbCh) (1, 12 0)

~rnuiLpble+u4 / 25
e pO 4155+ 0.0
p1 -34.83+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 12 4

Tnun g 51e+04 /25
- pO 4172 0.0
p1 -35.28:+ 0.00

50 10'0
TP delay [ns]

TVC(ebeh)=(1, 12,8

©1nuiz.43ve+04 [ 25
4198+ 0.0
-35.7+ 0.0

1
50 00

TP delay [ns]

TVC(c,b ch) (1, 12 12

- 1 i psse+u4 [ 25
po 4194+ 0.0
p1 -35+ 0.0

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (1,12,1)

AT nuiL o3e+u4 [ 25
peoe.. po 4164+ 0.0
p1 -35.28 + 0.00

TP delay [ns]

TVC(c,b Ch) (1, 12 5

- 1nuiL4/4e+04 [ 25
4185+ 0.0
-35.6 + 0.0

50 150
TP delay [ns]

TVCEebeh)=( 1, 12,9

- 21 (@404 1 25
- pO 4203+ 0.0
pL -34.37+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 12 13

— Tinan g oze+ud [ 25
= pO 4192+ 0.0
pl -35.92+ 0.00

TP delay [ns]

4000

2000

1000

4000
3000
2000

1000

4000

3000
2000

1000

4000 =,
3000
2000

1000

TVC(CbCh) (1,12,2)

X~ 1w r4ze+04 125
- po 4174+ 0.0
L pl -34.99 + 0.00

3000

TP delay [ns]

TVC(c,b ch) (1, 12 6

-1 1uiL480e+04 / 25
4184+ 0.0
-35.4+ 0.0

TP delay [ns]

TVC(cbch) (1,12,10

Tz /e+u4 /25
= po 4224+ 0.0
- pl -35.62+ 0.00

TP delay [ns]

TVC(c,b Ch) (1, 12 14

- i (19e+04 [ 25
pD 4208+ 0.0
pl -36.24 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (1,12,3)

A~ 1 nuiLszee+ud [ 25
- po 4180+ 0.0
pL -34.51+ 0.00

TP delay [ns]

TVC(c,b Ch) (1, 12 7

-1 bape+u4 / 25
- pO 4198+ 0.0
p1 -35.61+ 0.00

50 160
TP delay [ns]

TVC(c,b ch) (1, 12 11

-1 nuiL ysze+ud [ 25
= pO 4216+ 0.0
p1 -34.77 + 0.00

TP delay [ns]

TVC(c,b ch) (1, 12 15

_ - 1L oabe+Ud [ 25
pO 4196+ 0.0
-35.28 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,13,0)

- 5.50e+04 [ 25
Fomee PO 4205+ 0.0
pl -37.61+ 0.00

TP delay [ns]

TVC(cbch) (1,134

- rnuz z20ze+04 [ 25

) _‘
-35.31+ 0.00

4211+ 0.0

50 10‘0
TP delay [ns]

TVC(cbch) (1, 13 8

©rnu18/e+04 [ 25
- PD 4195+ 0.0
pl -34.34+ 0.00

TP delay [ns]

TVC(cbch) (1,13,12

- zuoe+ud [ 25
- pO 4252+ 0.0
pl -36.66 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000 [

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,13,1)

e, po

AT 1 nun.s2se+u4 [ 25
4204+ 0.0
pl -37.02+ 0.00

TP delay

TVC(c, bch) (1,135

[ns]

Snunz2.z3e+04 [ 25
4225+ 0.0
-35.7 + 0.0

50 1(;0
TP delay

TVC(c,b ch) (1,13,9

[ns]

T nug.zyle+ud [ 25
4253+ 0.0
pl -34.83 + 0.00

TP delay

TVC(cbch) (113,13

e, pO
p1

[ns]

~ 1 nuiL yove+ud / 25
4254+ 0.0
-37+ 0.0

TP delay

[ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000

2000

TVC(cbch) (1,13,2)

TP delay [ns]

TVC(cbch) (1,136

X~ 1 zo1e+U4 /25
P, po 4204+ 0.0
I pl -36.9 + 0.0

3000

-1z z30e+04 [ 25
- pO 4234+ 0.0
3 pl -36.31+ 0.00

TP delay [ns]

TVC(cbch) (1, 13 10

Tnug3r1e+u4 /25
F DO 4265+ 0.0
[ Pl -36.44+0.00

TP delay [ns]

TVC(cbch) (113,14

1000

T nuzuzie+ud [ 25
== PD 4237+ 0.0
I pl -36.23 + 0.00

TP delay [ns]
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TVC(cbch) (1,13,3)

ot po

AT 1o .s4e+04 [ 25
4227+ 0.0
pl -36.39+ 0.00

TP delay

TVC(c, bch) (1,137

= pO

[ns]

“rnuz3u/e+u4 / 25
4240+ 0.0
pl -36.47 + 0.00

TP delay

TVC(ebeh)=(1, 13, 11

e, pO

[ns]

Tinuy/(e+u4 [ 25
4259+ 0.0
pl -36.01+ 0.00

TP delay

TVC(cbch) (1,13,15

[ns]

T 1z3e+04 [ 25
4257+ 0.0
pl -37.16 + 0.00

TP delay

[ns]



TVC(CbCh) (1, 14 0)
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3000
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1000

T Lo 3se+ud [ 25
pO 4201+ 0.0
p1 -36.9+ 0.0

TP delay [ns]

TVC(cbch) (1,144

4000

3000

2000

1000

- 1L 504e+04 / 25
' pO 4178+ 0.0
pl -35.97 + 0.00

TP delay [ns]

TVC(cbch) (1,14,8

2000 E T dl)le+U4 125
——y po 4174+ 0.0
pl -33.31+ 0.00
3000 - T
2000~ T
oo C = 30.02 [ps/ch] ™, 7
-
-
1 1
0 50 100

TP delay [ns]

TVC(cbch) (1,14,12

4000

3000

2000
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T i 5zoe+u4 / 25
4261+ 0.0
-37.01+ 0.00
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50 100
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TVC(chh) (1,14,1)

AT 1 muiLoloe+ud /25
P, po 4195+ 0.0
pl -36.27 + 0.00

TP delay [ns]

TVC(c, bch) (1,145

- 1L 530e+04 / 25
™, DU 4192+ 0.0
pl -37.28:+ 0.00

TP delay [ns]

TVC(c, bch) (1,14,9

T nu.338e+U4 / 25
= po 4200+ 0.0
pl -35.18 + 0.00

TP delay [ns]

TVC(cbch) (114,13

Tonan 1 oze+ud [ 25
= pO 4254+ 0.0
p1 375+ 0.0

TP delay

[ns]
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1000
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1000
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3000

2000

TVC(CbCh) (1,14,2)

AT 1nun rsse+u4 /25
- po 4214+ 0.0
L pl -36.84 + 0.00

3000

TP delay [ns]

TVC(cbch) (1,146

— -1 byse+u4 [ 25
- pO 4176+ 0.0
F Pl -36.64+ 0.00

TP delay [ns]

TVC(Ee b eh)=( 1, 14,10

T nuiz4/pe+u4 [ 25
= po 4224+ 0.0
L p1 -34.94+ 0,00

TP delay [ns]

TVC(cbch) (114,14

4000
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2000

1000

4000
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2000

1000

4000
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TVC(Cbch) (1,14,3)

K™ 1L 441e+04 /25
- po 4231+ 0.0
pl -37.21+ 0.00

TP delay [ns]

TVC(c, bch) (1,14,7

=11 BUbe+u4 / 25
- pO 4199+ 0.0
pL -36.32:+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (1, 14 11

T onan 1 yoe+ud / 25
= po 4215+ 0.0
-34.4+ 0.0

[ C =29.07 [ps/ch]

50

1
100

TP delay [ns]

TVC(cbch) (1,14,15

1000

© i bz8e+U4 [ 25
4261+ 0.0
-37.11+ 0.00
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TP delay [ns]
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pO

T nui oyze+ud [ 25
4255+ 0.0
p1 -36.7+ 0.0
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2000
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TP delay
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T slie+ud /25
F . pO 4206+ 0.0
p1 -38.08 + 0.00

1=
50 100

TP delay [ns]

TVC(c,b ch) (1, 15 4

=i, u)sewa 125
=5 po 4225+ 0.0
pl -36.59 + 0.00
FC N
| 1 -
50 100
TP delay [ns]
TVC(c,b, ch) (1, 15 8)
©1nuz19se+u4 / 25
- po 4226+ 0.0
pl -35.37 + 0.00

TP delay [ns]

TVC(c,b Ch) (1, 15 12)

1 nuiL BEbe+u4 | 25

= po 4233+ 0.0
p1 -35.48 + 0.00
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e, po 4208+ 0.0
p1 -37.4+ 0.0
 C=26.74 [ps/c ]
0 1 -'.
50 100
TP delay [ns]

TVC(c,b Ch) (1, 15 5

- pO

-1 nui 453e+04 / 25
4229+ 0.0
pl -36.33+ 0.00

TP delay

TVC(ebeh)=( 1, 15,9

[, pO

[ns]

T nun.138e+u4 / 25
4259+ 0.0
p1 -36.47 + 0.00

TP delay

TVC(c,b ch) (1, 15 13

= pO

[ns]

T inai ruve+ud / 25
4230+ 0.0
p1 -35.54 + 0.00

TP delay

[ns]
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TVC(CbCh) (1,15,2)

1 -
50 100

TP delay [ns]

TVC(c,b ch) (1, 15 6

X~ 1L 83/e+04 [ 25
- po 4229+ 0.0
[ p1 -38.3+ 0.0

3000

T, r2ze+04 | 25
- pO 4231+ 0.0
- pl -35.42 + 0.00

TP delay [ns]

TVC(epeh)=( 1,15, 10)

1000

0

-1z o e+U4 [ 25
pe, pO 4273+ 0.0
[ pL -37.27+ 0.00

TP delay [ns]

TVC(c,b Ch) (1, 15 14)

- i, (89e+u4 [ 25
-, pD 4237+ 0.0
N pl -34.87 + 0.00
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4218+ 0.0
p1 -36.93+ 0.00

TP delay

TVC(c,b Ch) (1, 15 7

o= pO

[ns]

-1 nui baye+u4 / 25
4232+ 0.0
pl -35.42 % 0.00

TP delay

TVC(eheh)=(1, 15, 11

- pO

[ns]

T nuiz1zze+u4 [ 25
4291+ 0.0
p1 -36.44 + 0.00

TP delay

TVC(c,b ch) (1, 15 15

[ns]

- i ryve+ud [ 25
4236+ 0.0
p1 -35.33+ 0.00

TP delay

[ns]
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A~ 1 nui ose+ud [ 25
o po 4206+ 0.0
p1 -37.68+ 0.00

TP delay [ns]

TVC(cbch) (2,0,4

- 1 138e+U5 / 25
o, po 4195+ 0.0
pl -34.85+ 0.00

50 10'0
TP delay [ns]

TVC(cbch) (2 0,8

-1 Syae+ud [ 25
- po 4187+ 0.0
p1 -35.07:+ 0.00

TP delay [ns]

TVC(cbch) (2,0,12

- 1L yive+Us / 25
= po 4204+ 0.0
pl -34.44 + 0.00

TP delay [ns]
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1000
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TVC(cbch) (2,0,1)

T Lsse+ud [ 25
F... pO 4221+ 0.0
p1 -37.53+ 0.00

TP delay [ns]

TVC(c,b ch) (2 0,5

= nui b1be+u5 / 25
o, pO 4196+ 0.0
-34.55+ 0.00

[ C =28.94 [ps/ch]

50 100
TP delay [ns]

TVC(c,b ch) (2 0,9

T nuiL p33e+U5 / 25
= po 4203+ 0.0
pl -35.96 + 0.00

TP delay [ns]

TVC(c,b Ch) (2, O 13

Srna lle+ud /25
po 4224+ 0.0
pl -35.77:+ 0.00
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TVC(cbch) (2,0,2)

X~ 1z 0L/e+u4 [ 25
F... po 4214+ 0.0
[ p1 -36.59+ 0.00
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TP delay [ns]

TVC(cbch) (20,6

1000

= rnuL Y /ye+U5 / 25
- pO 4217+ 0.0
[ 355+ 0.0

-

50 10'0
TP delay [ns]

TVC(eb,oh)=(2, 0, 10

1000

0

1 nuiL34pe+U5 / 25
= po 4229+ 0.0
[ p1 -36.47  0.00

TP delay [ns]

TVC(Cbch) (2, 0 14

T z.34e+04 /25
- pD 4219+ 0.0
| pl -35.18+ 0.00
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TP delay [ns]
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= po 4215+ 0.0
pl -34.76 + 0.00

TP delay [ns]

TVC(c,b ch) (2, O

T 151e+u5/25
= pO 4238+ 0.0
p1 -36.24 + 0.00

1
50 00

TP delay [ns]

TVC(c,b ch) (2, O 15

T nuy 3o3e+U6 / 25
- pO 4190+ 0.0
p1 -34.45 + 0.00

TP delay [ns]
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-z Bsze+u4 | 25

Frcee po 4179+ 0.0
pl -35.42+ 0.00

TP delay [ns]

TVC(ebeh)=(2, 1,8

F. pO

1 nuiz ygye+Us / 25

pl -36.94 + 0.00

4219+ 0.0

TP delay [ns]
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e, po 4203+ 0.0
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Frwe pO 4194+ 0.0
pL -35.77+ 0.00

TP delay [ns]

TVC(c,b ch) (2, 1

T nug.ysle+us/ 25
- pO 4249+ 0.0
pl -37.25+ 0.00
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TP delay [ns]
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T inuiz1zve+ud [ 25
- pO 4227+ 0.0
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o pl -37.99+ 0.00

TP delay [ns]

TVC(cbch) (2,1,6

- 1 nuiL bobe+ud / 25
F.-.. pO 4199+ 0.0
[ pl -35.88+ 0.00

TP delay [ns]

TVC(ebeh)=(2 1, 10

© 1L zzoe+U5 / 25
-, po 4241+ 0.0
- pl -35.93+ 0.00

TP delay [ns]

TVC(cbch) (21,14

T g, szze+04 | 25
n DD 4221+ 0.0
r -36.33+ 0.00
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S nuay 34/e+04 / 25
4197+ 0.0
-35.79 % 0.00

50 100

TP delay [ns]
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-36.66 + 0.00
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50 100

TP delay [ns]

TVC(cbch) (21,15
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T nu, 110e+ud / 25
4203+ 0.0
-35.98 + 0.00
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4173+ 0.0
-35.11+ 0.00
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TP delay [ns]

TVC(cbch) (2,24

- 1y 4sge+ud [ 25
.. po 4200+ 0.0
pl -37.37 + 0.00

TP delay [ns]

TVC(ebch)=(2,2,8

1o, ryze+U5 / 25
= po 4196+ 0.0
pl -35.39+ 0.00

TP delay [ns]

TVC(cbch) (2,212

1 i z00e+04 [ 25
= po 4238+ 0.0
p1 -37.19+ 0.00
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= po 4187+ 0.0
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TP delay [ns]

TVC(c,b ch) (2 2,5

-1 nug boze+ud | 25
P, po 4182+ 0.0
pl -36.25+ 0.00

TP delay [ns]

TVCebeh)=(2,2,9

~ 1 nuiz 5Zoe+U5 / 25
pO 4231+ 0.0
pl -35.53 + 0.00

TP delay [ns]
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T inui 1z8e+U5 / 25
— pO 4220+ 0.0
p1 -36.28 + 0.00

TP delay [ns]
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TP delay [ns]
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T 1nu,b4ve+u4 | 25
= pO 4199+ 0.0
[ p1 -37.13+ 0.00
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TP delay [ns]
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-1 nui, 380e+U4 | 25
- pO 4229+ 0.0
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TP delay [ns]
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T g zzoe+U5 [ 25
-, pD 4232+ 0.0
L pl -37.1+ 0.0

3000

TP delay [ns]
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TP delay [ns]
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=1 nug guse+us / 25
= po 4206+ 0.0
p1 -37.08+ 0.00
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TP delay [ns]

TVC(c,b ch) (22,

BRALEICK a49e+u5/25
= pO 4217+ 0.0
p1 -35.41+ 0.00

TP delay [ns]

TVC(c,b ch) (2, 2 15

T nurssg/e+U5 [ 25
4216+ 0.0
-35.71+ 0.00

50 100

TP delay [ns]
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e 4
5(‘) 10‘0 =
TP delay [ns]
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e pO

i bzoe+U5 / 25
4228+ 0.0
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TP delay [ns]
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-34.88+ 0.00
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4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,3,1)

e, po

AT rmuLo/ie+ud [ 25
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TP delay [ns]

TVC(c,b ch) (2 3,5

=/ nuiLQule+us / 25
4199+ 0.0
-35.73+ 0.00

TP delay [ns]

TVC(c,b ch) (2 3,9

e, po

pl

~ 1 nuy.n34e+U5 / 25
4266+ 0.0
-37.76 + 0.00

TP delay [ns]

TVC(C, bch) (2,313

~ 1 nui guse+ud | 25
4227+ 0.0
-34.86 + 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

1000

TVC(cbch) (2,3,2)

= PO
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p1 -36.28 + 0.00
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TVC(cbch) (23,6

= P°

[ns]

=1 i bege+u4 [ 25
4218+ 0.0
pl -35.97 + 0.00

TP delay

TVC(cbch) (2, 3 10

- o

[ns]

© 1 nuig.py4e+u4 | 25
4269+ 0.0
-36.3+ 0.0

TP delay

TVC(cbch) (2,3 14

[ns]

~ 1 nu,pose+U5 / 25
4222+ 0.0
pl -34.73+ 0.00
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b= pO
pl

1
100

TP delay [ns]

-1 nug 189e+U5 / 25
4195+ 0.0
-35.13+ 0.00

[ C=28.47 [ps/ch ]
& o
TP delay [ns]

TVC(c,b ch) (2, 3

T, 441e+u4/25
4258+ 0.0
-35.98+ 0.00

1
100

TP delay [ns]

TVC(C, bch) (2,315

Tonairo/e+u4 /25
4229+ 0.0
-36.07 + 0.00

1
100

TP delay [ns]



TVC(cbch)(240) TVC(cbch)(24l) TVC(cbch)(242) TVC(cbch)(243)
A™ 1z 4z0e+04 [ 25 A~ g 1zoe+U5 /25 A” 1z r40e+04 [ 25 A~ 1w rebe+ud | 25
4000 [, po 4204+ 0.0 4000 [, po 4189+ 0.0 4000 e, po 4197 0.0 4000 fe, po 4220% 0.0
pl -35.05+ 0.00 pl -34.58 + 0.00 r pl -35.39 0.00 pl -36.44 + 0.00

- 3000

3000 N

1 3000 =1 3000

2000 — 2000 - 2000 ] 2000

1000 E 1000 1000 - 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(cbch) (2,4,4) TVC(cbch) (2,4,5) TVC(cbch) (2,4,6) TVC(cbch) (2,4,7)
- g bane+04 / 25 =1 nui 3uze+u5 / 25 - 1ug Bz4e+04 | 25 =1 U 3yBe+us / 25
4000 pO 4210+ 0.0 4000 e, pO 4216+ 0.0 4000 e, pO 4230+ 0.0 4000 e, pO 4221+ 0.0
pl -35.93 + 0.00 pL -35.94 + 0.00 3 pl -36.91+ 0.00 pL -36.33 + 0.00
3000~ 1 3000~ - 3000 — — 3000 1
2000 - — 2000 [~ - 2000 — — 2000 4
10001~ C - 10001~ C - moo:—c =27.09 [pS/Ch — 1000 C -
- - [ " ] -
I 2 I LT oL I L = o I L=
50 100 50 00 50 100 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(c,b ch) (2.4,8) TVC(c,b ch) (2,4,9) TVC(c,b, ch) (2.4,10) TVC(c,b ch) (2,4,11)
~ e, 3 rge+U5 / 25 -1 zgye+us / 25 © 1 nugyyze+ud / 25 -1y y3be+us / 25
4000 pO 4250+ 0.0 4000 pO 4263+ 00 4000 [, DO 4275500 4000, p0 4286+ 0.0
pl -38.48+ 0.00 pL -37.49+ 0.00 3 pl 37.3 0.0 pL -37.74+ 0.00
3000 - T 3000 B 3000 — 3000 T
2000 - 4 2000 - 2000 — 2000 4
1000 = - 1000 - 1000 — 1000 -
% EY oo 0 of 0 e 0o
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(cbch)(2412) TVC(cbch)(2413) TVC(cbch)(24l ) TVC(cbch)(2415)
Trnug.4ze+05/ 25 T 458e+u4 [ 25 -1z, bose+ud [ 25 T 1y, 3y4e+05 / 25
4000 [m, pO 4240+ 0.0 4000 pO 4229+ 0.0 4000 PD 4234+ 0.0 4000 o, pO 4231+ 0.0
-34.65+ 0.00 -35.14 + 0.00 r pl -35.22+ 0.00 pl -35.06 + 0.00
3000 - - 3000 - B 3000 — 3000 1
2000 - - 2000~ - 2000 — 2000 -

- 1000 [~ -1 1000 -1 1000

1000~ C = 28.86 [pS/Ch]

PR ISR R B PSS S NS S S |
50 100 50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



TVC(c,b Ch) (2,5,0) TVC(c,b Ch) (2,5,1) TVC(c,b Ch) (2,5,2) TVC(c,b Ch) (2,5,3)
K- 19208041 25 % 1 duae+U5 | 25 K1 izSuLe U4 ] 25 K 1 s e U5 | 25
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TP delay [ns]

TVC(cbch) (33,6

T b4 /e+04 [ 25
- pO 4232+ 0.0
[ pl -35.66 + 0.00

3000

TP delay [ns]

TVC(cbch) (3, 3 10

T 1nuz.z44e+04 | 25
- po 4249+ 0.0
- pl -35.68 + 0.00

3000

TP delay [ns]

TVC(cbch) (3,314

1000

T i, ro4e+04 [ 25
- pD 4215+ 0.0
[ p1 -35.99 + 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,3,3

AT rnuaiLoare+ud [ 25
=, po 4212+ 0.0
pl -34.65+ 0.00

TP delay [ns]

TVC(c,b ch) (3 3,7

=1 nui bbye+u4d / 25
pO 4248+ 0.0
p1 -34.68+ 0.00

[ C =28.84 [ps/ch] ]

50 1(;0
TP delay [ns]

TVC(c,b ch) (3, 3

T a//e+u4/25
= po 4250+ 0.0
p1 -36.74+ 0.00

TP delay [ns]

TVC(C, bch) (3,315

T nui yzae+ud [ 25
pO 4238+ 0.0
p1 -36.56 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,4,0

A7 nuiLssye+ud [ 25
Peee.. po 4193+ 0.0
pl -36.79+ 0.00

TP delay [ns]

TVC(cbch) (34,4

T 1s1e+04 /25
- pO 4227+ 0.0
pl -36.16+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (3 4,8

~1nuig.404e+04 / 25
= po 4210+ 0.0
p1 -34.44 + 0.00

TP delay [ns]

TVC(cbch) (3,4,12

~ 1L ysoe+u4 / 25
= po 4236+ 0.0
pl -36.58 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3.4,1

AT rmunLroie+ud [ 25
., po 4190+ 0.0
p1 -36.34+ 0.00

TP delay [ns]

TVC(c,b ch) (3 4,5

- nui rgze+u4 [ 25
pO 4232+ 0.0
pL -36.83+ 0.00

TP delay [ns]

TVC(c,b ch) (3 4,9

-1 nub.5Ube+U4 | 25
po 4229+ 0.0
p1 -34,99 £ 0.00

TP delay [ns]

TVC(C, bch) (3,4,13

T inuizyuse+ud [ 25
pO 4222+ 0.0
pl -37.38+ 0.00

TP delay [ns]

4000

2000

1000

4000

2000

4000

2000

1000

4000

2000

1000

TVC(cbch) (3,4,2)

K™ 1 nuioyae+u4 /25
- po 4186+ 0.0
[ p1 -35.89 + 0.00

3000

TP delay [ns]

TVC(cbch) (34,6

1000

- i B33e+u4 / 25
- pO 4240+ 0.0
[ 37.5+ 0.0

3000

TP delay [ns]

TVC(cbch) (3, 4 10

© a2 p4pe+ud | 25
. po 4239+ 0.0
- pl -35.91+ 0.00

3000

TP delay [ns]

TVC(cbch) (3,4,14

T L, 4pe+04 / 25
= pD 4222+ 0.0
L p1 -36.98 + 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,4,3

AT 1L oyze+ud [ 25
oes, po 4205+ 0.0
pl -36.95+ 0.00

TP delay [ns]

TVC(c,b ch) (3 4,7

-1 nui blye+ud / 25
- pO 4247+ 0.0
pL -36.06+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (3, 4

EEALEVX u49e+u4/25
- pO 4244+ 0.0
pl -35.05+ 0.00

TP delay [ns]

TVC(C, bch) (34,15

T nai rzoe+ud [ 25
- po 4225+ 0.0
p1 -36.22+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,5,0

AT 1nuio1se+ud /25
Frcea. po 4201+ 0.0
pl -35.37 + 0.00

TP delay [ns]

TVC(cbch) (3,54

T i ry1e+u4 / 25
. pO 4213+ 0.0
p1 -35.47+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (3 58

T rnug.1rve+u4 | 25
- po 4239+ 0.0
pl -35.07 + 0.00

TP delay [ns]

TVC(cbch) (3,5,12

pO
p1

~rnuiLyuse+u4 / 25
4293+ 0.0
-36.47 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,51

x- 1 i dsserud | 25
I e po 4227+ 0.0
pL -35.85+ 0.00

TP delay [ns]

TVC(c,b ch) (3 55

-1 nui Bz4e+04 [ 25
e, pO 4203 0.0
p1 -34.81% 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (3 59

T nuy. 13ve+ud / 25
- po 4269+ 0.0
pl -35.45+ 0.00

TP delay [ns]

TVC(C, bch) (3,5,13

== po

T nui gbze+ud [ 25
4281+ 0.0
-36.88 + 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

4000

3000

2000

1000

4000

3000

2000

TVC(cbch) (3,5,2)

K™ 1 nuin4ye+04 /25
. po 4231+ 0.0
- pl -36+ 0.0

3000

TP delay [ns]

TVC(cbch) (3,56

1000

T LB 5e+u4 [ 25
- pO 4206+ 0.0
X pl -34.49 + 0.00

TP delay [ns]

TVC(cbch) (3, 5 10

~ 1 nuig.uoye+ud / 25
_- DO 4283+ 0.0
- pl -35.03 + 0.00

L C = 28.54 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (3,5,14

1000

- p"

~ 1 nuiLgope+u4 / 25
4281+ 0.0
-36.92+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,5,3

AT rnuiLr13e+u4 [ 25
s, po 4239+ 0.0
pl -35.91+ 0.00

TP delay [ns]

TVC(c,b ch) (3 57

C a1 rge+u4 | 25
- pO 4218+ 0.0
p1 -34.47 + 0.00

[ C =29.01 [ps/ch]

50 1(;0
TP delay [ns]

TVC(c,b ch) (3, 5

T sue+u4/25
- po 4288+ 0.0
-35.13+ 0.00

[ C =28.47 [ps/ch]

1
50 100

TP delay [ns]
TVC(c,b Ch) (3, 5 15)
T nui s43e+u4 [ 25
= pO 4294+ 0.0
-37.02+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (3,6,0

K™ 1 nuiooie+u4 /25
.. po 4175+ 0.0
p1 -34.26 + 0.00

TP delay [ns]

TVC(cbch) (36,4

T 1nuiL4/pe+u4 / 25
- pO 4239+ 0.0
pl -36.82:+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (3 6,8

T nuig.zs4e+04 [ 25
- po 4228+ 0.0
pl -36.69 + 0.00

TP delay [ns]

TVC(cbch) (3,6,12

i byve+u4 / 25
= po 4221+ 0.0
pl -35.25+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 5,

3000

2000

1000

TVC(cbch) (3,6,1

AT 1L ouse+ud [ 25
- po 4186+ 0.0
pl -34.74+ 0.00

TP delay [ns]

TVC(c,b ch) (3 6,5

-1 nui by /e+u4 / 25
- pO 4255+ 0.0
pL -37.63+ 0.00

TP delay [ns]

TVC(c,b ch) (3 6,9

T nuw, 7y3e+ud [ 25
= po 4255+ 0.0
pl -36.33 + 0.00

TP delay [ns]

TVC(C, bch) (3,6,13

~ 1 nui sbye+ud / 25
pO 4233+ 0.0
pl -36.04 + 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

4000
3000
2000

1000

TVC(cbch) (3,6,2)

K™ 1 nuiobse+ud / 25
=, po 4203+ 0.0
L pl -35.37 + 0.00

3000

TP delay [ns]

TVC(cbch) (36,6

- i b3ge+ud / 25
- pO 4258+ 0.0
[ pl -37.01+ 0.00

3000

TP delay [ns]

TVC(cbch) (3, 6 10

1000

T 1nuz.a83e+u4 | 25
= po 4249+ 0.0
3 pl -35.44 + 0.00

3000

TP delay [ns]

TVC(cbch) (3,6,14

~ 1L 5upe+U4 / 25
DD 4245+ 0.0
pl -36.62 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,6,3

AT 1L bzoe+ud [ 25
- po 4192+ 0.0
pl -34.72+ 0.00

TP delay [ns]

TVC(c,b ch) (3 6,7

“ o 1.b4e+04 [ 25
- pO 4261+ 0.0
pL -37.99+ 0.00

TP delay [ns]

TVC(c,b ch) (3, 6

Ty we+u4/25
- pO 4264+ 0.0
pl -36.86 + 0.00

TP delay [ns]

TVC(C, bch) (3,6,15

71 nui suye+ud / 25
pO 4238+ 0.0
-35.73+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (3,7,0

A7 nui ozye+u4 /25
.. po 4195+ 0.0
pl -35.29+ 0.00

TP delay [ns]

TVC(cbch) (3,7,

- 1 i bu4e+ud / 25
e, pO 4204+ 0.0
pl -35.58:+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (3 7,8

T rnuzbE3e+u4 [ 25
= po 4212+ 0.0
pl -37.16 + 0.00

TP delay [ns]

TVC(cbch) (3,7,12

T rnuiLy41e+u4 / 25
pO 4225+ 0.0
pl -34.82+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,71

AT rnunLruze+ud [ 25
., po 4199+ 0.0
pl -35.14+ 0.00

TP delay [ns]

TVC(c,b ch) (3 7,5

=1 nui buge+u4 / 25
pO 4193+ 0.0
p1 -34.89+ 0.00

TP delay [ns]

TVC(c,b ch) (3 7,9

-1 nuw.aype+ud | 25
po 4239+ 0.0
pl -36.67 + 0.00

TP delay [ns]

TVC(C, bch) (3,7,13

T inai30e+ud [ 25
4208+ 0.0
-35.11 + 0.00

il
100

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

4000
3000
2000

1000

TVC(cbch) (3,7,2)

T roe+ud /25
_- pO 4215+ 0.0
o pl -36.19+ 0.00

3000

TP delay [ns]

TVC(cbch) (37,6

-1 nuz,0pye+ud / 25
- pO 4211% 0.0
[ pl -35.99+ 0.00

TP delay [ns]

TVC(cbch) (3, 7 10

1000

0

T g 1zoe+04 / 25
= po 4254+ 0.0
L pl -36.89 + 0.00

TP delay [ns]

TVC(cbch) (37,14

pD
pl

T, roze+04 [ 25
4209+ 0.0
-34.52+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,7,3)

AT rnuiLsale+ud [ 25
po 4215+ 0.0
pl -35.5+ 0.0

TP delay [ns]

TVC(c,b ch) (3 7,7

-1 nui gzye+u4 / 25
pO 4225+ 0.0
pL -35.76+ 0.00

TVC(c,b ch) (3, 7

TP delay [ns]

AL 551e+u4/25
pO 4253+ 0.0
pl -37.09 + 0.00

TP delay [ns]

TVC(C, bch) (3,7,15

-1 nui uoe+u4 / 25
po 4215+ 0.0
p1 -35.53+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (3,8,0

A7 1nuiozse+u4 /25
., po 4218+ 0.0
p1 -37.45+ 0.00

TP delay [ns]

TVC(cbch) (38,4

© i, ru3e+ud / 25
pO 42214 0.0
p1 -35.45+ 0.00

e 4
% i
TP delay [ns]
TVC(cbch) (3 8,8

T rnuzyz1e+u4 /25
pO 4249+ 0.0
pl -38.34 + 0.00

L=
50 100

TP delay [ns]

TVC(cbch) (3,812

T i, rose+u4 / 25
pO 4237+ 0.0
pl -36.28+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,81

AT rnunL3sse+ud [ 25
., po 4197+ 0.0
pl -35.61+ 0.00

TP delay [ns]

TVC(c,b ch) (3 8,5

=1 nui Boze+u4 [ 25
pO 4209+ 0.0
pL -35.28+ 0.00

TP delay [ns]

TVC(c,b ch) (3 8,9

-1 nub.puse+u4 / 25
po 4264+ 0.0
pl -37.69 + 0.00

TP delay [ns]

TVC(C, bch) (3,8,13

T nui rboe+ud / 25
pO 4233+ 0.0
pl -36.18 + 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

0

4000

3000
2000

1000

TVC(cbch) (3,8,2)

T Lole+ud /25
- pO 4199+ 0.0
L pl -36.05+ 0.00

3000

TP delay [ns]

TVC(cbch) (3,86

T i1 8ze+u4 [ 25
- pO 4217+ 0.0
[ pl -35.33+ 0.00

TP delay [ns]

TVC(cbch) (3, 8 10

T, r83e+04 | 25
-, po 4270+ 0.0
- pl -38.06 + 0.00

50 100

TP delay [ns]

TVC(cbch) (3,814

~ 1L pzae+u4 | 25
- pD 4231+ 0.0
[ p1 -36.47 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,8,3

AT 1L ruoe+ud [ 25
e, po 4229+ 0.0
pl -37.23+ 0.00

TP delay [ns]

TVC(c,b ch) (3 8,7

S nui /ve+u4 [ 25
- pO 4238+ 0.0
pL -36.23+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (3, 8

T, 45be+u4/25
= pO 4274+ 0.0
p1 -38.17 + 0.00

TP delay [ns]

TVC(C, bch) (38,15

T nui pzae+ud [ 25
4241+ 0.0
-35.81+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,9,0

AT 1nuiLosie+ud /25
e, po 4214+ 0.0
pl -35.57 + 0.00

TP delay [ns]

TVC(cbch) (39,4

Tz z2u/e+04 [ 25
- pO 4207+ 0.0
pl -35.02:+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (3 9,8

T, 41e+04 /25
- pO 4214+ 0.0
pl -34.96 + 0.00

TP delay [ns]

TVC(cbch) (3,9,12

T rnuiLyyle+u4 / 25
pO 4269+ 0.0
pl -36.58 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,91

A 1L ayse+ud [ 25
- po 4230+ 0.0
pl -36.09 + 0.00

TP delay [ns]

TVC(c,b ch) (3 9,5

~1nu 1bze+u4 / 25
- pO 4215 0.0
pL -36.09+ 0.00

TP delay [ns]

TVC(c,b ch) (3 9,9

T naiz1pe+u4 25
= po 4227+ 0.0
pl -35.53 + 0.00

TP delay [ns]

TVC(C, bch) (3,9,13

Tinaizie+ud [ 25
- pO 4247+ 0.0
pl -36.73+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (3,9,2)

TP delay [ns]

TVC(cbch) (39,6

TonunLole+ud /25
- po 4230+ 0.0
o pl -35.83+ 0.00

3000

S rnuzure+ud [ 25
pe, pO 4230+ 0.0
[ pl -35.97 + 0.00

TP delay [ns]

TVC(cbch) (3, 9 10

Trnugurse+ud [ 25
-, po 4248+ 0.0
- pl -34.94 + 0.00

TP delay [ns]

TVC(cbch) (3,9,14

T r31e+04 /25
-, pD 4254+ 0.0
L pl -37.86 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,9,3

AT rnuiLgge+ud [ 25
s, po 4228+ 0.0
p1 -34.99 + 0.00

TP delay [ns]

TVC(c,b ch) (3 9,7

- nui yz/e+u4 / 25
- pO 4240+ 0.0
-35.1% 0.0

TP delay [ns]

TVC(c,b ch) (3, 9

T, 4Uze+u4/25
- po 4255+ 0.0
pl -35.98+ 0.00

TP delay [ns]

TVC(C, bch) (3,9,15

71 nui yoe+ud / 25
e pO 4247+ 0.0
p1 37+ 0.0

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (3, 10 0)

-~ i s7ze+04 [ 25
4217+ 0.0
p1 -36.98+ 0.00

TP delay

TVC(Cbch) (3, 10 4

pO
pL

[ns]

© i, r88e+u4 | 25
4204+ 0.0
-36.81+ 0.00

50 10'0
TP delay

TVC(eb,oh)=(3, 10,8

- pD

[ns]

©1nuiz.43ve+04 [ 25
4249+ 0.0
pl -36.96 + 0.00

TP delay

TVC(Cbch) (3, 10 12

E pO

[ns]

- rnuizgure+ud [ 25
4233+ 0.0
p1 -34.99 + 0.00

TP delay

[ns]

TVC(chh) (3,10,1)

4000 7 po

p1

A1 L alag+Ud ] 25
4219+ 0.0
-37.94+ 0.00

3000

2000

1000

TP delay [ns]

TVC(c,b Ch) (3, 10 5

4000 S

=1 nui ggbe+u4 / 25
4211+ 0.0
-36.79 + 0.00

3000

2000

1000

TP delay [ns]

TVC(eb.oh)=(3, 10,9

4000 e, DO

T nu nb3e+ud [/ 25
4262+ 0.0
-36.63 + 0.00

3000

2000

1000

TP delay [ns]

TVC(c,b ch) (3, 10 13

4000 e,

<1 nuiL pyve+ud / 25
4233+ 0.0
-34.33+ 0.00

3000

2000

w0 C =29.13 [pS/Ch]

PR R SR |
50 100

TP delay [ns]

4000 (S
3000

2000

4000
3000
2000

1000

4000

3000

2000

4000

3000
2000

1000

1000

1000

0

TVC(CbCh) (3,10,2)

. po

A~ 1 nuiolae+ud [ 25
4217+ 0.0
p1 -37.43+ 0.00

TP delay

TVC(Cbch) (3, 10 6

pO
p1

[ns]

T 1L, r54e+04 / 25
4223+ 0.0
-36.64 + 0.00

TP delay

TVC(cbch) (3, 10 10

= o

[ns]

-1t ozbe+04 | 25
4275+ 0.0
pl -37.12:+ 0.00

TP delay

TVC(CbCh) (3, 10 14

F= P"
pl

[ns]

Ty re+u4 /25
4235+ 0.0
-35.2+ 0.0

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (3,10, 3)

A~ 1 nuiLb8/e+ud [ 25
4218+ 0.0
pL -36.02:+ 0.00

po

TP delay

TVC(c,b Ch) (3, 10 7

E pO

[ns]

- nui /48e+04 | 25
4232+ 0.0
p1 -37.98+ 0.00

rc

50 100
TP delay

TVC(Cbch) (3, 10 11

= pO

[ns]

T nuzbz3e+u4 [ 25
4273+ 0.0
pl -35.98+ 0.00

TP delay

TVC(cbch) (3, 10 15

e pO
p1

[ns]

- szse+u4 [ 25
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400 E, po 4181+ 0.0 4000, po 4174+ 0.0 4000, po 4194+ 0.0 4000 o, po 4201+ 0.0
pl -34.96 + 0.00 pl -34.59 + 0.00 F pl -34.63+ 0.00 pl -35.03+ 0.00

- 3000

3000 - 3000 -1 3000 - N

2000 B 2000 - 2000 2000

1000 E 1000 1000

1 w0l C = 28.88 [ps/chl]

1 1 L 1 1 1 1 1
50 100 50 100 50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (46,4 TVC(cbch) (46, TVC(cbch) (46,6 TVC(c, bch) (46,

S, l)b\:)e+UA 125 4000 T 2&He+l)4/25 “ g &l)lbe+U4 125 Tonan 2/d2+04/25
4000, pO 4193+ 0.0 pO 4190+ 0.0 4000 e, pO 4210 0.0 4000 o, pO 4200+ 0.0
Pl -35.47:0.00 pl 3579 0.00 F Pl -3643% 0.00 Pl -35.28+ 0.00
3000~ - 3000 B 3000[ 1 3000 E
2000 - - 2000 1 2000 71 2000 1
1000} 4 1000 e woo- C = 27.45 [ps/ch ] w00 C = 28.35 [ps/ch 1
I L5 oL I | = I =
50 00 50 00 50 00
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(eb.ch)=(4,6,8) TVC(eb,ch)=(4,6,9) TVC(eb.ch)=(4, 6, 10) TVC(e.heh)=(4,6, 11)
T s11e+ud 1 25 ~ 1 nuy szae+04 25 ©nuiguzoe+u4 | 25 -1 nuiz.ysze+ud [ 25
4000 f, PD 4215+ 0.0 4000 fo, DO 4234+ 0.0 4000 __- DO 4249+ 0.0 4000 o, pO 4238+ 0.0
pl -34.69 + 0.00 pl -34.57 + 0.00 r pl -35.77 + 0.00 pl -34.61+ 0.00

- 3000

3000 -1 3000 - N 3000 -

2000 4 2000 [~ - 2000 2000 -

1000 E 1000 C = 28.93 [pS/Ch] 1000: w000 C = 28.89 [pS/Ch]

1
50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

1
50 100

TVC(cbch) (4,6,12 TVC(C, bch) (4,6,13 TVC(cbch) (4,6,14 TVC(C, bch) (4,6,15

1L yode+u4 / 25 T nui ygse+ud [ 25 T L ysve+u4 / 25 -1 nuiz.usye+ud [ 25
41000 o, PO 4234+ 0.0 4000 b, PO 4228+ 0.0 4000 - PD 4231+ 0.0 4000 po, PO 4237+ 0.0
pl -36.52+ 0.00 pl -36.48 + 0.00 r pl -36.87 + 0.00 pl -36.88 + 0.00

3000

-1 3000 - 3000 - 3000 -1

2000 . 2000 1 2000 - 2000

1000 -1 1000 -1 1000 -1 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (4,7,0

A7 1 nui zoye+ud [ 25
Focea. po 4215+ 0.0
pl -35.25+ 0.00

TP delay [ns]

TVC(cbch) (4,7,4

- i 358e+04 / 25
pO 4245+ 0.0
pl -35.35+ 0.00

TP delay [ns]

TVC(eb,ch)=(4, 7,8

©1nuzgo3e+u4 | 25
= po 4223+ 0.0
p1 -36.42 + 0.00

TP delay [ns]

TVC(cbch) (4,7,12

T L4 roe+u4 / 25
pO 4269+ 0.0
pl -35.86 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,7,1

AT 1 nuLosze+ud [ 25
P oaee po 4228+ 0.0
pl -35.83+ 0.00

TP delay [ns]

TVC(c,b ch) (4 7,5

-1 nui 314e+04 / 25
- pO 4247+ 0.0
p1 -35.64 + 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (4 7,9

~ 1 nuy.Usae+ud / 25
- pO 4249+ 0.0
pl -36.72 + 0.00

TP delay [ns]

TVC(C, bch) (4,7,13

T nuia4e+ud [ 25
pO 4279+ 0.0
pl -36.75+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (4,7,2)

A7 1nui4r4e+04 /25
po 4234+ 0.0
pl -35.25+ 0.00

- C = 28.37 [psich

1
50 100

TP delay [ns]

TVC(cbch) (4,7,6

© 1 nun 335e+04 / 25
- pO 4246+ 0.0
[ pl -35.87 + 0.00

TP delay [ns]

TVC(cbch) (47,10

1 a2 pyve+ud | 25
-, po 4270+ 0.0
L -36.5+ 0.0

TP delay [ns]

TVC(cbch) (4,7,14

~ 1L bEe+U4 / 25
_— DD 4272+ 0.0
L pl -36.17 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,7,3

AT 1 nuiLbaoe+ud [ 25
- po 4251+ 0.0
pl -35.76 + 0.00

TP delay [ns]

TVC(c,b ch) (4 7,7

-1 nui blze+u4d / 25
- pO 4253+ 0.0
pL -35.58+ 0.00

TP delay [ns]

TVC(c,b ch) (4, 7

1)
~ 1 nuiz.usae+ud [ 25
- po 4262+ 0.0
pl -35.63+ 0.00

TP delay [ns]

TVC(C, bch) (4,7,15

-1 nuiqpye+ud / 25
- po 4275+ 0.0
p1 -36.42 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,8,0)

A7 1nui rs0e+u4 /25
po 4201+ 0.0
pl -36.46 + 0.00

TP delay [ns]

TVC(cbch) (4,84

- 1 i Boye+ud / 25
pO 4228+ 0.0
p1 -35.76+ 0.00

TP delay [ns]

TVC(cbch) (4 8,8

1L, rype+u4 | 25
po 4226+ 0.0
pl -35.87 + 0.00

TP delay [ns]

TVC(cbch) (4,812

T 1 gye+ud /25
pO 4224+ 0.0
pl -35.12+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,81

A” 1 nuiLbvye+ud [ 25
Foaee po 4208+ 0.0
pl -36.3+ 0.0

TP delay [ns]

TVC(c,b ch) (4 8,5

=1 nui ygbe+u4 / 25
[Foess, pO 4218+ 0.0
pL -35.31+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (4 8,9

Tonuae gae+ud /25
- pO 4247+ 0.0
pl -35.89 + 0.00

TP delay [ns]

TVC(C, bch) (4,813

T nuiL yoze+ud / 25
= pO 4225+ 0.0
pl -36.22+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000
3000
2000

1000

4000

3000
2000

1000

4000

3000

2000

1000

TVC(cbch) (4,8,2)

- C = 28.26 [ps/ch

1
50 100

TP delay [ns]

TVC(cbch) (4,86

K™ 1 nuipuze+ud / 25
_l'_ po 4212+ 0.0
o pl -35.39+ 0.00

S rnuz.uve+ud [ 25
pO 4230+ 0.0
pl -34.85+ 0.00

TP delay [ns]

TVC(cbch) (4, 8 10

Tz p3re+ud [ 25
-, po 4266+ 0.0
- pl -36.09 + 0.00

TP delay [ns]

TVC(cbch) (4,814

T rnuiLgloe+u4 / 25
- pD 4229+ 0.0
L -34.48 + 0.00

- C = 29.00 [ps/ch]

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,8,3

AT 1L 4vye+ud [ 25
=, po 4212+ 0.0
pl -35.62+ 0.00

TP delay [ns]

TVC(c,b ch) (4 8,7

-1 nu 3be+u4 / 25
- pO 4243+ 0.0
p1 -35.43+ 0.00

TP delay [ns]

TVC(c,b ch) (4, 8

T awe+u4/25
- po 4258+ 0.0
p1 -34.91+ 0.00

TP delay [ns]

TVC(C, bch) (4,815

T naiyuze+ud / 25
e pO 4242+ 0.0
p1 -36.16+ 0.00

TP delay [ns]



TVC(cbch) (4,9,0)

4000

3000

2000

1000

A~ nui zaze+04 | 25
po 4183+ 0.0
p1 -32.77+ 0.00

[ C =30.51[ps/ch] ™

1 1
50 100

TP delay [ns]

TVC(cbch) (49,4

4000

3000

2000

1000

=1Ll rbe+ud [ 25
Fucee po 4225+ 0.0
pl -33.37 + 0.00

[ C=29.97 [ps/ich] %. ]

5(') 10'0
TP delay [ns]

TVC(cbch) (4 9,8

- b1ze+0d [ 25
= po 4205+ 0.0
p1 -32.83+ 0.00

4000 [,
3000 - 71
2000 |- 7
wor C =30.46 [ps/ch] ™-_ 1
1 1 -
¢ 50 100
TP delay [ns]
TVC(cbch) (4,9,12)
~ 1 nuiLy44e+04 / 25
4000 fae, po 4253+ 0.0
pl -34.93+ 0.00

3000

2000

1000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,91

AT 1 nuiLZoze+ud | 25
P po 4181% 0.0
p1 -32.78+ 0.00

[ C=30.51[ps/ch] ™_ 7
L 1 %

TP delay [ns]

TVC(c,b ch) (4 9,5

S nun1.z3e+04 [ 25
e pO 4222+ 0.0
Pl -32.89+ 0.00

[ C =30.40 [ps/ch] ™ 1
50 150
TP delay [ns]

TVC(c,b ch) (4 9,9

-1 nu.Usze+ud 25
- pO 4229+ 0.0
p1 -34.26+ 0.00

[ C=29.19 [ps/ch]

50

1
100

TP delay [ns]

TVC(c,b Ch) (4, 9 13

== pO

T inuis3se+ud [ 25
4253+ 0.0
-34.46 + 0.00

[ C =29.02 [ps/ch]

50

il
100

TP delay [ns]

TVC(cbch) (4,9,2)

4000

2000

1000

X~ siie+ud [ 25
Fom po 4196+ 0.0
[ p1 -32.64+ 0.00

3000

‘C 3064[ps/ch] - '

1
= 100

TP delay [ns]

TVC(cbch) (4,9,6

4000

3000

2000

1000

- 1L 36ve+u4 / 25
- pO 4219+ 0.0
[ pl -34.47 + 0.00

- C =29.01 [ps/ch]

50 10'0
TP delay [ns]

TVC(eb,oh)=(4, 9, 10

4000

3000

2000

1000

- 1 iz sOse+Ua 1 25
- pO 4239+ 0.0
[ pL -32.87 + 0.00

- C = 30.42 [ps/ch] ™. ]

0

TVC(cbch) (4,9,14

50

1
100

TP delay [ns]

4000 e
3000
2000

1000

pD

pl

- 1 y34e+04 [ 25
4263+ 0.0
-35.67 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,9,3

A1 nuiLzroe+ud [ 25
e, po 4202+ 0.0
pL -33+ 0.0

[ C=230.30[ps/ch] ™ T
_L L

TP delay [ns]

TVC(c,b ch) (4 9,7

= 1 nui ause+ud | 25
= po 4232+ 0.0
p1 -33.91+ 0.00

[ C =29.49 [ps/ch]

50 160
TP delay [ns]

TVC(cbch) (4, 9 11

- nanudae+ud ] 25
- pO 4232+ 0.0
p1 -33.07+ 0.00

[ C=30.24 [ps/ch] ™ 1]

_L
50

1
100

TP delay [ns]

TVC(c,b ch) (4, 9 15

[ C =28.96 [ps/ch]

S Ly re+ud [ 25
pO 4261% 0.0
-34.53+ 0.00

50

1
100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (4, 10 0)

T zuae+ud /25
pO 4202+ 0.0
pl -36.13+ 0.00

TP delay [ns]

TVC(cbch) (4,104

Trna2.zZ/e+04 /25
pO 4235+ 0.0
pl -36.98:+ 0.00

- C -1
% T
TP delay [ns]
TVC(c,b, ch) (4, 10 8

T g.ule+u4 /25
po 4234+ 0.0
pl -36.69 + 0.00

TP delay [ns]

TVC(cbch) (4,10,12

Tz so3e+u4 / 25
pO 4245+ 0.0
pl -34.84+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (4,10,1)

AT 1 nuzuy/e+u4 | 25
po 4205+ 0.0
pl -36.41+ 0.00

1
100

TP delay [ns]

TVC(c, bch) (4,10,5

- 1nu.za1e+04 [ 25
4221+ 0.0
-36.8 + 0.0

1(;0
TP delay [ns]

TVC(ebeh)=(4, 10,9

T nuiL1z5e+U5 / 25
po 4270+ 0.0
p1 -38.61+ 0.00

| =
100

TP delay [ns]

TVC(C, bch) (410,13

Tinuzs/e+ud [ 25
pO 4259+ 0.0
p1 -36.2+ 0.0

TP delay [ns]

4000

3000
2000

1000

4000
3000

2000

4000

3000

2000

4000

3000
2000

1000

1000

1000

0

TVC(CbCh) (4,10,2)

A~ nuig zzoe+04 /25
po 4212+ 0.0
p1 -36.74 + 0.00

TP delay [ns]

TVC(cbch) (4,10,6

-1 nuz,ugse+u4 [ 25
pO 4235+ 0.0
pl -37.87 + 0.00

100
TP delay [ns]

TVC(cbch) (4, 10 10

©1nug.us3e+ud | 25
po 4276+ 0.0
p1 -37.64 + 0.00

TP delay [ns]

TVC(cbch) (410,14

~1nuz344e+04 | 25
pD 4258+ 0.0
pl -35.55+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (4,10,3)

AT 1 nuaz.zzse+ud [ 25
po 4217+ 0.0
pl -36.06 + 0.00

1
100

TP delay [ns]

TVC(c, bch) (4,10,7

- nu bzge+u4 / 25
pO 4245 0.0
pL -37.39+ 0.00

100
TP delay [ns]

TVC(eh.ch)=(4, 10, 11

T inuiz.pz/e+u4 [ 25
pO 4286+ 0.0
p1 -37.94+ 0.00

TP delay [ns]

TVC(cbch) (4,10,15

Tinuzsize+u4 [ 25
pO 4258+ 0.0
p1 -35.74+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (4,11,0)

A~ 1 s1ie+ud [ 25
po 4174+ 0.0
p1 -34.97 + 0.00

TP delay [ns]

TVC(cbch) (4,11,4

T Ly ye+ud / 25
4205+ 0.0
-36.4+ 0.0

50 10‘0
TP delay [ns]

TVC(cbch) (4,118

T rnuizurve+u4 | 25
- po 4210+ 0.0
pl -35.08 + 0.00

TP delay [ns]

TVC(cbch) (411,12

T L r4e+04 /25
= po 4227+ 0.0
pl -34.97 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (4,11,1)

AT rnuLsyse+ud [ 25
P e po 4175+ 0.0
p1 352+ 0.0

TP delay [ns]

TVC(cbch) (4,11,5

~1nu141e+04 / 25
- pO 4220 0.0
pL -36.68+ 0.00

TP delay [ns]

TVC(eh.eh)=(4, 11, 9

~ 1 nug B40e+u4 / 25
- pO 4247+ 0.0
-35.9 + 0.0

1
50 100

TP delay [ns]

TVC(c, bch) (411,13

T bzoe+u4 [ 25
- po 4246+ 0.0
pl  -36.12+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

4000

3000

2000

4000

3000
2000

1000

TVC(CbCh) (4, 11 2)

©rnuiLzyve+ud [ 25
k. pO 4190+ 0.0
L pl -36.09 + 0.00

3000

TP delay [ns]

TVC(cbch) (4,116

1000

- nunLyzye+ud [ 25
- pO 4218+ 0.0
[ pl -36.27 + 0.00

TP delay [ns]

TVC(e.bch)=(4, 11, 10

1000

0

X~ 1 nuizpule+ud [ 25
-, po 4252+ 0.0
- pl -36.97 + 0.00

TP delay [ns]

TVC(cbch) (4,11, 14

X~ 1L byre+ud [ 25
__ po 4246+ 0.0
L pl -36.07 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,11,3)

AT 1 nuiL4zoe+u4 [ 25
po 4202+ 0.0
pl -35.92+ 0.00

TP delay [ns]

TVC(cbch) (4,11,7

“rnuzu3/e+u4 / 25
- pO 4227+ 0.0
pL -36.05+ 0.00

50 1(;0
TP delay [ns]

TVC(cbch) (4, 11 11

T inuiLys/e+ud [ 25
- po 4262+ 0.0
pl -36.05+ 0.00

TP delay [ns]

TVC(c, bch) (411,15

T nui poze+ud [ 25
4236+ 0.0
-35.91+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (4, 12 0)

1 nu s44e+04 / 25

pO 4200+ 0.0
-34.38+ 0.00

[ C =29.09 [ps/ch]

1
50 100

TP delay [ns]

TVC(Cbch) (4, 12 4

T 1 /e+u4 /25
F po 4207+ 0.0
pl -34.74 + 0.00

- c =
1 1 "
50 100
TP delay [ns]
TVC(c,b, ch) (4, 12 8)
- rnuzbaze+u4 | 25
= po 4228+ 0.0
pl -34.88+ 0.00

TP delay [ns]

TVC(Cbch) (4, 12 12

- iz 1ilerud ] 25
= po 4217+ 0.0
-34.13+ 0.00

[ C =29.30 [ps/ch]

L n n n n 1
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (4,12,1)

P po

p1

x- 1 iLadoe+ud | 25
4203+ 0.0
-35.03+ 0.00

1 1
50 100

TP delay [ns]

TVC(c,b Ch) (4,12,5

X~ g,

183e+04 1 25
4220+ 0.0
-35.17 + 0.00

TP delay [ns]

TVC(c,b ch) (4, 12 9

B po
pl

TinaiLy//e+u5 /25

4229+ 0.0
-33.61+ 0.00

[ C =29.75 [ps/ch]

1
50 00

TP delay [ns]

TVC(c,b ch) (4,12,13

X~ 1o,

= po

139e+u4 [ 25
4213+ 0.0
-34.82+ 0.00

TP delay [ns]

4000

3000

2000

4000

3000
2000

1000

TVC(CbCh) (4,12,2)

1000

- o

A~ nun a48e+04 / 25
4226+ 0.0
p1 -36.33+ 0.00

TP delay

TVC(Cbch) (4, 12 6

- b

[ns]

© 1 nuiLb4ve+u4 | 25
4225+ 0.0
-35.8+ 0.0

TP delay

TVC(ebeh)=(4, 12, 10

[ns]

-1 nug zple+ud [ 25
4262+ 0.0
-34.45+ 0.00

4000 [, DO
[ pL
3000:— ]
2000:— _:
wor C =29.02 [ps/chl ™, 7
1 1 -
d 50 100
TP delay [ns]

4000

3000
2000

1000

TVC(CbCh) (4, 12 14

= 0

- i (yse+u4 [ 25
4218+ 0.0
pl -35.66 + 0.00

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (4,12,3)

po

AT 1 nuiL488E+U4 | 25
4222+ 0.0
p1 -36.41+ 0.00

TP delay

TVC(c,b Ch) (4, 12 7

- pO

[ns]

- nug 13ze+04 / 25
4240+ 0.0
p1 -35.36+ 0.00

TP delay

TVC(c, bch) (4, 12 11

= pO

[ns]

Tinuza1e+04 /25
4254+ 0.0
-34.3+ 0.0

[ C=29.15 [ps/ch]

1
50 00

TP delay

TVC(cbch) (4, 12 15

e pO

[ns]

- i ysge+ud [ 25
4222+ 0.0
p1 -34.75+ 0.00

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (4, 13 0)

Tz zsze+u4 [ 25
- pO 4205+ 0.0
pl -35.92+ 0.00

TP delay [ns]

TVC(cbch) (4,134

- 11146 /€404 | 25
e pO 4214+ 0.0
pl -36.53+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (4, 13 8

T 1nuz.z43e+04 | 25
- po 4233+ 0.0
pl -35.57 + 0.00

TP delay [ns]

TVC(cbch) (4,13,12

~rnuiL4zoe+u4 / 25
= po 4238+ 0.0
pl -35.97 + 0.00

TP delay [ns]
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TVC(chh) (4,13,1)

e, po

p1

AT 1 nuz.zobe+ud [ 25
4213+ 0.0
-35.96 + 0.00

TP delay [ns]

TVC(c, bch) (4,135

-1 nui bl4e+04 [ 25
4233+ 0.0
-36.7 £ 0.0

TP delay [ns]

TVCebeh)=(4, 13,9

= po

pl

T nup.312e+04 / 25
4246+ 0.0
-36.13 + 0.00

TP delay [ns]

TVC(C, bch) (4,13,13

X rnan g

e, po
p1

boe+ud / 25
4234+ 0.0
-35.62+ 0.00

TP delay [ns]
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TVC(CbCh) (4, 13 2)

TP delay [ns]

TVC(cbch) (4.13,6

1000

Tz oe+u4 [ 25
_=_ pO 4202+ 0.0
- pl -35.58 + 0.00

3000

- i b33e+04 / 25
- pO 4205+ 0.0
[ pl -35.13+ 0.00

TP delay [ns]

TVC(cbch) (4, 13 10

1000

0

T gane+u4 /25
-, po 4280+ 0.0
- pl -37.46 + 0.00

TP delay [ns]

TVC(cbch) (4,13, 14

T pz1e+u4 / 25
- pD 4243+ 0.0
L pl -35.59 + 0.00

TP delay [ns]
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TVC(Cbch) (4,13,3)

s, po

AT 1 nuzbose+ud [ 25
4201+ 0.0
p1 -34.49 + 0.00

[ C =29.00 [ps/ch]

L
50 100

TP delay

TVC(c, bch) (4,13,7

= pO

[ns]

- nun1.40e+04 [ 25
4218+ 0.0
pl -35.71+ 0.00

TP delay

TVC(eheh)=(4, 13, 11

= pO

[ns]

T nuizzize+u4 /25
4270+ 0.0
pl -36.39+ 0.00

TP delay

TVC(cbch) (4,13,15

[ns]

T nui oyse+ud / 25
4248+ 0.0
p1 -36.42 + 0.00

TP delay

[ns]
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TVC(CbCh) (4, 14 0)

© L pzse+u4 [ 25
4206+ 0.0
p1 -36.07 + 0.00

TP delay [ns]

TVC(Cbch) (4, 14 4

= g A?Aeﬂjd 125
Fouse po 4206+ 0.0
pl -36.03+ 0.00
- C N
| 1 "
50 100
TP delay [ns]
TVC(c,b, ch) (4, 14 8)
T nu.zole+ud / 25
= pO 4211+ 0.0
pl -35.59 + 0.00

TP delay

[ns]

TVC(Cbch) (4, 14 12)

e, po
p1

- 1 nuizyose+ud / 25
4241% 0.0
-35.8+ 0.0

TP delay

[ns]

TVC(chh) (4,14,1)

4000 po

AT 1 nuiLb3se+U4 [ 25
4201+ 0.0
p1 -36.08 + 0.00

3000

2000

1000

TP delay

TVC(c,b Ch) (4, 14 5

4000 B pO

pl

[ns]

Tnan 1 Zbe+04 /25
4197+ 0.0
-36.01+ 0.00

3000 -

2000

1000~ C

50 150
TP delay

TVC(c, bch) (4,14,9

4000 [

[ns]

T inai1roe+u4 [ 25
4232+ 0.0
pl -35.59 + 0.00

3000

2000

1000

TP delay

TVC(c,b ch) (4, 14 13

4000 -, PO

[ns]

T inuiLgu/e+ud [ 25
4247+ 0.0
p1 -36.78 + 0.00

3000

2000

1000

TP delay

[ns]

TVC(CbCh) (4,14,2)

4000 po

pl

3000 -

2000 =

wof C = 28.11 [ps/ch]

X~ 1L 593e+u4 [ 25
4225+ 0.0
-35.58+ 0.00

1
50 100

TP delay

TVC(Cbch) (4, 14 6

4000 [, pO

[ns]

- i 36ze+04 / 25
4226+ 0.0
pl -36.38 + 0.00

3000 =

2000~

1000:— C =27.48 [ps/ch

TP delay

[ns]

TVC(e b eh)=(4, 14,10)

4000 e pO

- 1 yste+ud | 25
4252+ 0.0
p1 -35.62:+ 0.00

3000
2000

1000

TP delay

[ns]

TVC(CbCh) (4, 14 14)

4000 [, pD

S zuze+ud [ 25
4227+ 0.0
pl -35.45+ 0.00

3000
2000

1000

TP delay

[ns]

TVC(Cbch) (4,14,3)

A1 nuiL sase+ud | 25
4231+ 0.0
p1 -36.72+ 0.00

4000 [

po

3000

2000

1000

TP delay

TVC(c,b Ch) (4, 14 7

4000 [ pO

[ns]

S nan 1 3ge+u4 / 25
4212+ 0.0
p1 -35.33+ 0.00

3000 -

2000 -

w0r C = 28.30 [ps/ch

TP delay

TVC(c, bch) (4, 14 11

4000

[ns]

T nuiz 145e+04 / 25
4258+ 0.0
-36+ 0.0

3000

2000

1000

TP delay

TVC(cbch) (4, 14 15

4000 ooy pO

p1

[ns]

-1 nuiz.u4oe+ud [ 25
4238+ 0.0
-35.9+ 0.0

3000

2000

1000

TP delay

[ns]
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TVC(CbCh) (4, 15 0)

[ C =28.70 [ps/ch] ]

T4 rse+U4 [ 25
4245+ 0.0
-34.85+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (4,154

- 1uiz.444e+04 | 25
o, pO 4212+ 0.0
pl -36.43+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (4, 15 8

1z 1eoe+04 / 25
= po 4223+ 0.0
p1 -37.3+ 0.0

TP delay [ns]

TVC(cbch) (4,15, 12

1z, 109e+04 / 25
- po 4259+ 0.0
pl -36.31+ 0.00

TP delay [ns]
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TVC(chh) (4,15,1)

AT 1nuz2u/e+u4 [ 25
oaee po 4230+ 0.0
pl -34.25+ 0.00

[ C=29.19 [ps/ch]

1 1
50 100

TP delay [ns]

TVC(c, bch) (4,155

-1 nu138e+04 / 25
F po 4220+ 0.0
pL -37.03+ 0.00

TP delay [ns]

TVC(c, bch) (4, 15 9

~ 1 nuy.usae+ud 25
- pO 4234+ 0.0
pl -35.71+ 0.00

TP delay [ns]

TVC(C, bch) (415,13

T inuzus/e+ud [ 25
pO 4272+ 0.0
pl -36.76 + 0.00

TP delay [ns]
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1000

TVC(CbCh) (4,15,2)

K71 nuig z49e+04 [ 25
po 4255+ 0.0
pl -36.58 + 0.00

TP delay [ns]

TVC(cbch) (4,156

-1 Uz 458e+04 [ 25
pO 4226+ 0.0
pl -36.82+ 0.00

10‘0
TP delay [ns]

TVC(cbch) (4, 15 10

T nug, r39e+u4 [ 25
po 4255+ 0.0
pl -35.77 + 0.00

TP delay [ns]

TVC(cbch) (415,14

~rnuiLy4e+u4 / 25
pD 4268+ 0.0
pl -36.13+ 0.00

TP delay [ns]
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1000

TVC(Cbch) (4,15,3)

AT rnuzsore+ud [ 25
po 4266+ 0.0
pl -35.39+ 0.00

1
100

TP delay [ns]

TVC(c, bch) (4,157

-1 U bgse+u4 / 25
pO 4233+ 0.0
pL -36.15+ 0.00

1(;0
TP delay [ns]

TVC(ehch)=(4 15, 11

1 nuiz.yzoe+ud / 25
po 4264+ 0.0
pl -36.26 + 0.00

TP delay [ns]

TVC(cbch) (4,15,15

-1 nuiz.u4oe+ud [ 25
4255+ 0.0
-35.51+ 0.00

1
100

TP delay [ns]
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0

4000
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1000

TVC(cbch) (5,0,0

A7 1 nui suse+u4 / 25
- po 4204+ 0.0
p1 -36.44 + 0.00

TP delay [ns]

TVC(cbch) (50,4

T rnuiL4/4e+04 [ 25
4221+ 0.0
-35.9+ 0.0

50 10‘0
TP delay [ns]

TVC(cbch) (5 0,8

T i ry1e+u4 / 25
po 4229+ 0.0
pl -36.76 + 0.00

TP delay [ns]

TVC(cbch) (5,0,12

T rnugusie+ud / 25
pO 4232+ 0.0
pl -35.55+ 0.00

TP delay [ns]
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TVC(cbch) (5,0,1)

AT 1 nuiLovze+ud [ 25
po 4206+ 0.0
pl -36.11 + 0.00

TVC(c,b ch) (5 0,5

1
100

TP delay [ns]

-1 nui ba3e+u4d / 25
pO 4235 0.0
p1 -36.84 + 0.00

TVC(c,b ch) (5 0,9

1(;0
TP delay [ns]

Tinug Y/ /e+ud [ 25
po 4259+ 0.0
pl -37.07 + 0.00

TP delay [ns]

TVC(C, bch) (50,13

T nugulve+ud / 25
pO 4230+ 0.0
pl -35.85+ 0.00

TP delay [ns]
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1000

TVC(cbch) (5,0,2)

A7 1 nun 340e+04 /25
po 4216+ 0.0
pl -35.91+ 0.00

TP delay [ns]

TVC(cbch) (50,6

- 110 6aYe+V4 | 25
pO 4245+ 0.0
-36.31 0.00

10‘0
TP delay [ns]

TVC(cbch) (5, 0 10

Tz zise+u4 | 25
po 4256+ 0.0
pl -35.33+ 0.00

TP delay [ns]

TVC(cbch) (5,0,14

T rnuigyose+ud [ 25
pD 4226+ 0.0
pl -35.77 + 0.00

TP delay [ns]
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1000

TVC(cbch) (5,0,3)

AT 1L 4p0e+ud [ 25
po 4223+ 0.0
pl -35.77 + 0.00

TP delay [ns]

TVC(c,b ch) (5 0,7

-1 nui bge+u4 / 25
pO 42441 0.0
-36.5+ 0.0

TVC(c,b ch) (5, O

50 1(;0
TP delay [ns]

T ‘dee+l}4/25
po 4268+ 0.0
p1 -36.45 + 0.00

TP delay [ns]

TVC(C, bch) (50,15

T inuisgb/e+ud [ 25
4235+ 0.0
-35.61+ 0.00

TP delay [ns]
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1000

TVC(cbch) (5,1,0)

X~ 1w 449e+04 [ 25
PO 4205+ 0.0
pl -36.49 + 0.00

TP delay [ns]

TVC(cbch) (51,4

- i 314e+04 / 25
pO 41951 0.0
pl -34.62+ 0.00

e ]
% o
TP delay [ns]
TVC(c,b ch) ( 5 1,8

1 nuiLgoze+u4 / 25
PD 4233+ 0.0
pl -35.98 + 0.00

TP delay [ns]

TVC(cbch) (51,12

[ C =29.36 [ps/ch]

T rnuiLpyre+u4 / 25
PO 4212+ 0.0
-34.06 + 0.00

50

1
100

TP delay [ns]
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1000
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1000

TVC(cbch) (51,1

R~ 1nuiL4r1e+ud [ 25
v, PO 4199 0.0
pl -35.35+ 0.00

TP delay [ns]

TVC(c,b ch) (5 1,5

[ C =29.48 [ps/ch] 7

~1nuiL4/0e+04 / 25
4203+ 0.0
-33.92+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (5 1,9

~ 1 nu, 79ae+u4 25
pO 4244+ 0.0
pl -36.38 + 0.00

TP delay [ns]

TVC(cbch) (51,13

- 1L bage+ud [ 25
pO 4228+ 0.0
pl -34.69 + 0.00

TP delay [ns]
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1000

TVC(cbch) (5,1,2)

X~ 1 os1e+U4 /25
po 4225+ 0.0
pl -36.56 + 0.00

TP delay [ns]

TVC(cbch) (5.1,6

- C = 30.63 [ps/ch] ™. 1

T L4 ze+04 [ 25
pO 4203+ 0.0
pl -32.64:+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (5, 1 10

© 1 nuig bEve+u4 [ 25
DO 4255+ 0.0
pl -35.16 + 0.00

TP delay [ns]

TVC(cbch) (51,14

- C = 29.39 [ps/ch]

-1 i 500e+U4 / 25
PD 4209+ 0.0
pl -34.02 + 0.00

PR IR SRR |
50 100
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TVC(cbch) (5,1,3)

A7 1 nuiLbuze+u4 / 25
PO 4220 0.0
p1 -35.54 + 0.00

TP delay [ns]

TVC(c,b ch) (5 1,7

- C =30.36 [ps/ch] -, 1

-1 nui 441e+04 / 25
PO 4206+ 0.0
pL -32.94 + 0.00

TVC(c,b ch) (5, l

50 1(;0
TP delay [ns]

T o, ube+u4/25
pO 4250+ 0.0
pl -35.98+ 0.00

TP delay [ns]

TVC(cbch) (51,15

T by re+u4 [ 25
pO 4213+ 0.0
pl -34.54 + 0.00

TP delay [ns]
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TVC(cbch) (5,2,0)

T Loze+ud /25
.. pO 4180+ 0.0
p1 -36.33+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (524

- rnuiLazoe+04 / 25
- pO 4202+ 0.0
p1 -36.52:+ 0.00

50 10'0
TP delay [ns]

TVC(cbch) (5 2,8

1 nuig.uyve+u4 / 25
= pO 4198+ 0.0
pl -35.63+ 0.00

TP delay [ns]

TVC(cbch) (5,2, 12

-1 i, (8oe+u4 [ 25
= po 4221% 0.0
p1 37+ 0.0

TP delay [ns]
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TVC(cbch) (52,1

A7 1 nuiL Ssbe+u4 [ 25
= po 4179+ 0.0
p1 -36.48 + 0.00

TP delay [ns]

TVC(c,b ch) (5 2,5

=1 nuiLag4e+ud | 25
po 4196+ 0.0
pl -35.84 + 0.00

TP delay [ns]

TVC(eb,oh)=(5, 2, 9

-V, 711404/ 25
po 4231+ 0.0
pL -36.22 + 0.00

TP delay [ns]

TVC(c,b Ch) (5, 2 13

T nuin4ze+ud [ 25
pO 4208+ 0.0
pl -36.22+ 0.00

TP delay [ns]
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TVC(cbch) (5,2,2)

X~ 1w 4z0e+04 [ 25
o=, po 4188+ 0.0
L p1 -36.65 + 0.00

3000

TP delay [ns]

TVC(cbch) (5.2,6

-1 i bBye+u4 / 25
- pO 4208+ 0.0
[ pL -36.76 + 0.00

3000

TP delay [ns]

TVC(eb,oh)=(5, 2, 10

©1nuiz.a8oe+u4 | 25
-, po 4242+ 0.0
L pl -36.16 + 0.00

3000

TP delay [ns]

TVC(cbch) (5.2 14

-1 5zse+04 [ 25
= pD 4213+ 0.0
L p1 -36.09 + 0.00

3000

TP delay [ns]
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TVC(cbch) (5.2,3)

1w tbaerud | 25
e, pO 4205+ 0.0
pL -36.81+ 0.00

TP delay [ns]

TVC(c,b ch) (5 2,7

= 1 i bbbe+ud / 25
- pO 4217+ 0.0
p1 -36.12:+ 0.00

1
50 00

TP delay [ns]

TVC(eheh)=(5, 2,

EEALEVX uabe+u4/25
e pO 4246+ 0.0
pl -36.34+ 0.00

TP delay [ns]

TVC(c,b ch) (5, 2 15

Tinuigsie+ud [ 25
po 4207+ 0.0
-35.42+ 0.00

TP delay [ns]
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TVC(cbch) (5,3,0

K™ 1y zsze+U4 [ 25
P, po 4171+ 0.0
p1 -35.14+ 0.00

TP delay [ns]

TVC(cbch) (53,4

- L 501e+04 / 25
P, pO 4185+ 0.0
pl -36.31+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (5 3,8

T 14e+04 /25
= po 4218+ 0.0
pl -36.86 + 0.00

TP delay [ns]

TVC(cbch) (5,312

T zzie+ud /25
= po 4230+ 0.0
pl -37.03+ 0.00

TP delay [ns]
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1000

TVC(cbch) (5,3, 1

AT nus.y1se+ud [ 25
pee,, po 4169+ 0.0
pl -35.5+ 0.0

TP delay [ns]

TVC(c,b ch) (5 3,5

-1 nuiL Byae+u4 [ 25
4190+ 0.0
-36.9 + 0.0

TP delay [ns]

TVC(c,b ch) (5 3,9

T nuiL 135e+U5 / 25
= pO 4226+ 0.0
p1 -36.74+ 0.00

TP delay [ns]

TVC(C, bch) (53,13

Tinuz.zo/e+ud [ 25
- pO 4217+ 0.0
pl -36.93+ 0.00

TP delay [ns]
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1000

TVC(cbch) (53,2)

T g0se+u4 /25
i pO 4191+ 0.0
L pl -36.47 + 0.00

3000

TP delay [ns]

TVC(cbch) (53,6

1000

T rnun 1 90e+u4 [ 25
- pO 4222+ 0.0
[ pl -37.17+ 0.00

3000

TP delay [ns]

TVC(cbch) (5, 3 10

0

T rnugusle+ud [ 25
= po 4238+ 0.0
- pl -37.19+ 0.00

3000

TP delay [ns]

TVC(cbch) (5,3 14

T 1nuizuLoe+ud [ 25
- pD 4225+ 0.0
[ p1 -37.38+ 0.00
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TP delay [ns]
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TVC(cbch) (5,3,3

AT 1 nug.Uoze+ud [ 25
- po 4189+ 0.0
pl -34.81+ 0.00

TP delay [ns]

TVC(c,b ch) (5 3,7

“rnuzUL/e+u4 / 25
- pO 4213+ 0.0
pL -36.07+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (5, 3

ERALEVX bdbe+l}4/25
4247+ 0.0
-36.5 + 0.0

50 10‘0
TP delay [ns]

TVC(C, bch) (53,15

Tnui g rse+ud [ 25
- pO 4234+ 0.0
p1 -37.28 + 0.00

TP delay [ns]



TVC(cbch) (5,4,0
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AT 1nuiLyrae+u4 /25
. po 4173+ 0.0
p1 -35.74+ 0.00

TP delay [ns]

TVC(cbch) (54,4
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3000

2000~

oo C = 27.00 [ps/c ]

- i Bole+ud / 25
- pO 4201% 0.0
p1 -37.04+ 0.00

TP delay [ns]

TVC(cbch) (5 4,8
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0

T 1nuiz.4z3e+04 | 25
PD 4237+ 0.0
-37.81+ 0.00

0

TP delay [ns]

TVC(cbch) (5,4, 12
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1L yoe+u4 / 25
pO 4214+ 0.0
pl -34.92+ 0.00
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TVC(cbch) (54,1

AT rnuLsyie+ud [ 25
= po 4171+ 0.0
pl -36.2+ 0.0

TP delay [ns]

TVC(c,b ch) (5 4,5

=1 nui yuse+us / 25
F - pO 4215+ 0.0
pL -37.93+ 0.00

(LA
50 100
TP delay [ns]

TVC(c,b ch) (5 4,9

<1 nuw.pbze+ud / 25
- po 4250+ 0.0
pl -36.39 + 0.00

TP delay [ns]

TVC(C, bch) (54,13

T inuiz103e+ud / 25
= pO 4228+ 0.0
pl -35.57 + 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (5,4,2)

AT 1nun rsse+u4 /25

TP delay [ns]

TVC(cbch) (54,6

e po 4199+ 0.0
o pl -35.79.+ 0.00

3000

- 1nuzu11e+u4 / 25
3 pO 4216+ 0.0
L pl -37.84 0.00

TP delay [ns]

TVC(cbch) (5, 4 10

- b

1 nuiz goge+ud | 25

pl -36.33+ 0.00

4257+ 0.0

TP delay [ns]

TVC(cbch) (5,414

~1nuiLgu4e+U4 [ 25
. pD 4220+ 0.0
L pl -34.58 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,4,3

AT rnuzusse+ud [ 25
e, po 4205+ 0.0
pl -36.65+ 0.00

TP delay [ns]

TVC(c,b ch) (5 4,7

- 1nug 14ze+04 / 25
- pO 4212+ 0.0
pL -36.87+ 0.00

50 100
TP delay [ns]

TVC(c,b ch) (5, 4

Tz, me+u4/25
= pO 4264+ 0.0
pl -37.58 + 0.00

TP delay [ns]

TVC(C, bch) (54,15

TinuiLyise+ud [ 25
- po 4219+ 0.0
p1 -35.25+ 0.00

TP delay [ns]



TVC(cbch)(550 TVC(cbch)(551) TVC(cbch)(552) TVC(cbch)(553

A1 nuiL4vae+U4 [ 25 - rnun Lbae+ud [ 25 X1 nuiL4sse+U4 [ 25 R- Ui 5z1e+04 [ 25
4000, PO 4183+ 0.0 a000g po 4190+ 0.0 4000 foe, po 4203+ 0.0 4000 o, po 4208+ 0.0
pl -36.45 + 0.00 p1 -38+ 0.0 I pl -36.99 + 0.00 pl -36.07 + 0.00

3000

1 3000 -1 3000 -1 3000 1

2000 -1 2000 |- -1 2000 = 2000

1000 -1 1000

B w00 C = 26.32 [pS/C — 1000:

_L |_m=
50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (55,4 TVC(cbch) (5.5, TVC(cbch) (5,56 TVC(c, bch) (5.5,

4000 S 2169+UA 125 4000 T rnar 21/E+04/25 “ g b)lbe+U4 125 4000 Tnar g t?LzEH)A/ZS

= pO 4186+ 0.0 = pO 4190+ 0.0 4000 e, pO 4202+ 0.0 4206+ 0.0

pl -36.85 + 0.00 pL -36.99 + 0.00 F pl -36.26 + 0.00 -36.2:+ 0.0
3000 1 3000 -1 3000 -— —- 3000 1
2000 - E 2000 - 2000 3 2000 E
woor- C = 27.14 [ps/c 7 1000 ] woor- C = 27.57 [ps/ch ] 1000 7

0 EY 00 0 0 EY 0 0 5 T

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (5 5,8 TVC(cbch) (5 59 TVC(cbch) (5, 5 10 TVC(cbch) (5, 5

T 4.19e+04 /25 T nun p3ze+U4 / 25 T zoze+04 /25 T nan auze+u4/25
4000 B po 4238+ 0.0 4000 pO 4264+ 0.0 4000 R, po 4270+ 0.0 4000 o, p0 4265+ 0.0
pl -37.47 + 0.00 pl -37.49+ 0.00 r pl -37.15+ 0.00 pl -37.13+ 0.00

-1 3000

3000 1 3000 - 3000 -

2000 -1 2000 -1 2000 -1 2000

1000 -1 1000 - 1000 - 1000

0

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

0

TVC(cbch)(551 ) TVC(cbch)(5513) TVC(cbch)(551 ) TVC(cbch)(5515)
1L 5Ype+u4 / 25 T nuia4e+ud [ 25 ~rnuiL4zve+u4 [ 25 T nuiayze+ud [ 25
4000 pO 4229+ 0.0 4000 pO 4228+ 0.0 4000 4240+ 0.0 4000 42291 0.0
pl -35.36 + 0.00 pl -34.77+ 0.00 r -36.01+ 0.00 -35.01+ 0.00

3000

T 3000 .

— 3000 N 3000

2000 T 2000 - 2000 2000

1000

1000 - 1000 . 1000 -

- -

- -

- -

- -

M T I B MR S S B

50 100 50 00

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



TVC(cbch)(560) TVC(cbch)(561 TVC(cbch)(562) TVC(cbch)(563

“inuiLorie+ud /25 AT g 21J9+U4/25 X~ 1 i bose+U4 [ 25 AT nuiLg o):meﬂ)A/ZS
4000 po 41812 0.0 4000 po 4198+ 0.0 4000 po 4211+ 0.0 4000 po 4214+ 0.0
pl -37.7+ 0.0 pl -38.39+ 0.00 I pl -38.5+ 0.0 pl -37.87+ 0.00
3000~ — 3000 - 3000} ] 3000 [ E
2000~ B 2000 B 2000 ] 2000 [ 4
wof C = 26.53 [ps/c . ] wof C = 25.97 [ps/c ] .
0 £ oo 0 50 0% 0 £ oo 0 50 0%
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(cbch) (5.6,4) TVC(cbch) (5.6,5) TVC(cbch) (5.6,6) TVC(cbch) (5.6,7)
-, (51e+04 ] 25 - I, 7a5e+U4 [ 25 - 835e+04 / 25 - rnul1ze+u4 [ 25
4000, pO 41951 0.0 4000 fom, DU 4188+ 0.0 4000 e, pO 4195+ 0.0 4000 e, pO 4205+ 0.0
pl -37.2+ 0.0 pl -37.16+ 0.00 I pl -37.16+ 0.00 pl -36.45+ 0.00
3000~ — 3000 - 3000 ] 3000 [ —
2000 - E 2000 - 2000 ] 2000 [ E
woo- C = 26.88 [ps/c ] 1000 ] woo- C = 26.91 [ps/c 7] 1000 C ]
0 EY 0o 0 0 EY 0 0 5 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(c,b ch) (56,8) TVC(c,b ch) (5.6,9) TVC(c,b, ch) (5,6,10) TVC(c,b ch) (5,6,11)
T inulbre+ud /25 - ~ 1 nug.3a9e+04 [ 25 - T, (19e+u4 / 25 - T i y14e+u4 / 25
4000 = pD 4216+ 0.0 4000 pO 4224+ 0.0 4000 DO 4242+ 0.0 4000, pO 4245+ 0.0
pl -36.13 + 0.00 pl -36.22+ 0.00 I pl -36.86 + 0.00 pl -36.14 + 0.00

3000 -1 3000 - 3000 - 3000 -1

2000 E 2000 E 2000 - 2000

1000 -1 1000 -1 1000 -1 1000

0

0
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(Cbch)(5612) TVC(CbCh)(5613) TVC(Cbch)(561 ) TVC(cbch)(5615)
S i g 8ye+ud /25 ~rnuig r31e+u4 / 25 =1 i bobe+ud / 25 S onu¥1e+ud [ 25
4000 PO 4233+ 0.0 4000 o, PO 4221+ 0.0 4000 ._- PD 4211+ 0.0 000, PO 4229+ 0.0
pl -36.22+ 0.00 pl -36.26 + 0.00 : pl -35.87 + 0.00 pl -35.99 + 0.00

3000 -1 3000 - 3000 - 3000 -1

2000 . 2000 - 2000 -1 2000

1000 -1 1000 -1 1000 - 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
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0
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3000

2000

1000

TVC(cbch) (5,7,0

K™ 1 rzoe+U4 [ 25
- PO 4199+ 0.0
pl -36.35+ 0.00

TP delay [ns]

TVC(cbch) (57,4

T eyY/e+ud [ 25
[, pO 4211+ 0.0
pl -37.08 + 0.00

TP delay [ns]

TVC(cbch) (5 7,8

T rnuig.Uole+ud / 25
- PD 4224+ 0.0
pl -36.46 + 0.00

TP delay [ns]

TVC(cbch) (57,12

T 1L, r40e+04 / 25
- PO 4249+ 0.0
pl -35.74+ 0.00

TP delay [ns]
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1000
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3000
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1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (57,1

A” 1L 7uae+ud [ 25
', PO 4213+ 0.0
pl -36.32+ 0.00

TP delay [ns]

TVC(cbch) (57,5

Trna yy3.8/25
DU 4213+ 0.0
pL -36.28 + 0.00

TP delay [ns]

TVC(c,b ch) (5 7,9

T nu 3 roe+u4 25
DO 4256+ 0.0
pl -36.45 + 0.00

TP delay [ns]

TVC(C, bch) (57,13

T ob3e+u4 [ 25
pO 4253+ 0.0
pl -36.29 + 0.00

TP delay [ns]
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2000

1000

4000

2000

4000

2000

1000

4000
3000
2000

1000

TVC(cbch) (5,7,2)

X~ 1L s10e+U4 / 25
- po 4205 0.0
3 Pl -36.37+ 0.00

3000

TP delay [ns]

TVC(cbch) (57,6

1000

- i bz4e+04 [ 25
- pO 4219+ 0.0
I pl -36.39:+ 0.00

3000

TP delay [ns]

TVC(cbch) (5, 7 10

© 1 nu504e+04 / 25
- DO 4253+ 0.0
I pl -36.02.+ 0.00

3000

TP delay [ns]

TVC(cbch) (57,14

T nuiLag1e+u4 [ 25
PD 4253+ 0.0
pl -35.46 + 0.00

TP delay [ns]
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1000
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2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,7,3

AT 1nuiLBr1e+u4 /25
- po 4224+ 0.0
pL -36.46 + 0.00

TP delay [ns]

TVC(c,b ch) (5 7,7

- nui bz e+u4 [ 25
- PO 4230+ 0.0
-35.3+ 0.0

TP delay [ns]

TVC(c,b ch) (5, 7

aALVR 51=e+u4/25
- pO 4256+ 0.0
pl -36.77 + 0.00

TP delay [ns]

TVC(C, bch) (57,15

-1 soye+u4 / 25
- pO 4254+ 0.0
pl -35.29 + 0.00

TP delay [ns]
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2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,8,0

A7 nuiiose+u4 /25
e, po 4212+ 0.0
pl -35.11+ 0.00

TP delay [ns]

TVC(cbch) (58,4

T 1 zee+ud [ 25
e pO 4192+ 0.0
p1 -34.84+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (5 8,8

~1nug.0ube+u4 / 25
= po 4222+ 0.0
pl -35.94 + 0.00

TP delay [ns]

TVC(cbch) (5,812

T rnuiLg34e+04 / 25
- po 4262+ 0.0
pl -35.59 + 0.00

TP delay [ns]
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1000
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1000
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3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,81

AT rnuiLzroe+ud [ 25
.. po 4196+ 0.0
pl -35.08 + 0.00

TP delay [ns]

TVC(c,b ch) (5 8,5

=1 nui 4n8e+04 / 25
o pO 4196+ 0.0
pL -36.31% 0.00

TP delay [ns]

TVC(c,b ch) (5 8,9

Tinun 4. yoe+u4 [ 25
= pO 4251+ 0.0
pl -36.89 + 0.00

TP delay [ns]

TVC(C, bch) (5,813

T inuislye+ud [ 25
- pO 4267+ 0.0
pl -36.45+ 0.00

TP delay [ns]
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1000

4000

3000

2000

1000

4000

3000

2000

4000

3000

2000

1000

TVC(cbch) (5,8,2)

AT 1nuiLurae+u4 /25
=, po 4199+ 0.0
L pl -35.46 + 0.00

3000

TP delay [ns]

TVC(cbch) (58,6

-1 i bug4e+ud [ 25
e pO 4220+ 0.0
[ pl -35.63+ 0.00

TP delay [ns]

TVC(cbch) (5, 8 10

1000

Tz oe+u4 [ 25
-, po 4262+ 0.0
- pl -35.88 + 0.00

TP delay [ns]

TVC(cbch) (5,814

T 143e+04 /25
- pD 4248+ 0.0
L -34.58 + 0.00

- C = 28.92 [ps/ch]

PR IR SRR |
50 100

TP delay [ns]
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1000
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1000

4000

3000

2000

1000

TVC(cbch) (5,8,3

AT 1L sove+ud [ 25
- po 4228+ 0.0
p1 -36.34 + 0.00

TP delay [ns]

TVC(c,b ch) (5 8,7

- nun bz3e+u4 / 25
4214+ 0.0
-35.2+ 0.0

TP delay [ns]

TVC(c,b ch) (5, 8

T, /bbe+U4/25
- po 4275+ 0.0
pl -36.84 + 0.00

TP delay [ns]

TVC(C, bch) (5,815

T nui szoe+ud [ 25
- pO 4239+ 0.0
p1 -34.99 + 0.00

TP delay [ns]
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1000

4000
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2000

1000

4000

3000

2000

1000

TVC(cbch) (5,9,0

AT inun 3rze+04 /25
e, po 4230+ 0.0
pl -36.63+ 0.00

TP delay [ns]

TVC(cbch) (59,4

- i z3ge+ud | 25
- pO 4214+ 0.0
pl -36.56+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (5 9,8

Tz plze+u4 | 25
= po 4218+ 0.0
pl -35+ 0.0

TP delay [ns]

TVC(cbch) (5,9, 12

~ L buse+u4 / 25
= po 4244+ 0.0
pl -35.96 + 0.00

TP delay [ns]
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1000
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1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (59,1

AT 1 nuiLzoye+ud [ 25
o=, po 4228+ 0.0
pl -36.75+ 0.00

TP delay [ns]

TVC(c,b ch) (5 9,5

-1 nui bzoe+u4 [ 25
- pO 4222+ 0.0
pL -36.03+ 0.00

TP delay [ns]

TVC(c,b ch) (5 9,9

Tonai131e+u4 /25
4238+ 0.0
-34.51+ 0.00

I C =28.98 [ps/ch] ]

1
50 100

TP delay [ns]

TVC(C, bch) (59,13

T nui ss3e+ud [ 25
- pO 4245+ 0.0
pl -36.22+ 0.00

TP delay [ns]

TVC(cbch) (5,9,2)

4000

2000

1000

TP delay [ns]

TVC(cbch) (59,6

4000

3000

2000

1000

K™ 1 nuiaoze+04 /25
__ po 4232+ 0.0
o pl -36.95+ 0.00

3000

- i b3ge+ud / 25
- pO 4243+ 0.0
[ pl -37.41% 0.00

TP delay [ns]

TVC(cbch) (5, 9 10

4000

3000

2000

1000

T, (zze+04 | 25
. po 4239+ 0.0
- pl -33.64 + 0.00

- C=29.73 [ps/ch] ™. 1

0

1
50 100

TP delay [ns]

TVC(cbch) (59,14

4000
3000

2000

1000

~ i ssve+ud | 25
4228+ 0.0
-34.2+ 0.0

- C =29.24 [psich™. 1

PR IR SRR |
50 100

TP delay [ns]
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1000
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2000

1000

4000

3000

2000

1000

TVC(cbch) (5,9,3

AT rnuiL3roe+ud [ 25
o po 4252+ 0.0
pl -37.22+ 0.00

TP delay [ns]

TVC(c,b ch) (5 9,7

-1 nui byle+ud / 25
- pO 4250+ 0.0
pL -37.29+ 0.00

50 100
TP delay [ns]

TVC(c,b ch) (5, 9

T, 1/4e+u4/25
o, 4247+ 0.0
-34.53 + 0.00

[ C =28.96 [ps/ch] ]

1
50 100

TP delay [ns]

TVC(C, bch) (59,15

T naisu/e+ud /25
4248+ 0.0
-35.51+ 0.00

TP delay [ns]
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1000

4000

3000

2000

1000

0

4000 [,

3000

2000

1000

TVC(CbCh) (5, 10 0)

T rnaiLzzge+U4 [ 25
4159+ 0.0
-35.31+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (5.10,4

- i 3zoe+u4 [ 25
pO 4211% 0.0
pl -35.28:+ 0.00

TP delay [ns]

TVC(cbch) (5, 10 8

T nug, ruse+u4 | 25
4219+ 0.0
-36.4 + 0.0

1
50 100

TP delay [ns]

TVC(cbch) (5,10, 12

T gsze+u4 | 25
pO 4248+ 0.0
pl -36.56 + 0.00

TP delay [ns]
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1000

4000
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2000

1000

TVC(chh) (5,10,1)

AT 1nun L Sbe+ud [ 25
pee,, po 4186+ 0.0
p1 -35.17+ 0.00

TP delay [ns]

TVC(c, bch) (5,10,5

-1 nui 3o8e+u4 [ 25
e, pO 4205+ 0.0
pL -35.08+ 0.00

TP delay [ns]

TVC(c,b ch) (5, 10

T nun 339e+u4 [ 25
- pO 4240+ 0.0
pl -36.41+ 0.00

TP delay [ns]

TVC(cbch) (510,13

T inuis15e+u4 [ 25
pO 4257+ 0.0
pl -36.09 + 0.00

TP delay [ns]
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4000
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1000

TVC(CbCh) (5,10,2)

AT 1nun s4ze+04 /25
— po 4179+ 0.0
L pl -34.95+ 0.00

3000

TP delay [ns]

TVC(cbch) (5.10,6

1000

-1 Ui 38be+04 / 25
- pO 4228+ 0.0
[ pl -36.59+ 0.00

TP delay [ns]

TVC(cbch) (5, 10 10

1000

0

T a3 e+u4 [ 25
= po 4266+ 0.0
- pl -37.32+ 0.00

TP delay [ns]

TVC(cbch) (5.10, 14

~ 1L zyse+ud [ 25
F pD 4250+ 0.0
L pl -36.21+ 0.00

TP delay [ns]
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1000
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1000

TVC(Cbch) (5, 10 3)

T 1se+ud [ 25
- pO 4185+ 0.0
p1 -35.3+ 0.0

TP delay [ns]

TVC(c, bch) (5,10, 7

- nui brge+ud / 25
- pO 4233+ 0.0
pL -35.73+ 0.00

TP delay [ns]

TVC(cbch) (5, 10 1

-1 nui gyve+ud 25
= po 4258+ 0.0
pl -35.89+ 0.00

TP delay [ns]

TVC(cbch) (5.10,15

Tnaizzse+ud [ 25
= pO 4230+ 0.0
p1 -35.73+ 0.00

TP delay [ns]
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1000

TVC(CbCh) (5,11,0)

AT u11a<e+u4/25

e po 4165+ 0.0
-33.68+ 0.00

[ C =29.69 [ps/ch]

1 1
50 100

TP delay [ns]

TVC(cbch) (5, 11 4

50 10'0
TP delay [ns]

TVC(cbch) (5, 11 8

- iU psbe+ud / 25

5 po 4226+ 0.0
pl -35.53+ 0.00

-
-
-
-
|

1 Ui ob/e+ud | 25

e, pD 4224+ 0.0
p1 -36.75+ 0.00

TP delay [ns]

TVC(c,b Ch) (5, 11 12

1nuiLs/(e+ud [ 25

= po 4238+ 0.0
p1 -36.69 + 0.00

TP delay [ns]
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TVC(CbCh) (5,11,1)

e po

p1

A- 1 L 4gve+ud | 25
4178+ 0.0
-33.56+ 0.00

[ C =29.80 [ps/ch]

1 1
50 100

TP delay

TVC(c,b Ch) (5, 11 5

F- pO

[ns]

- nurLblle+ud / 25
4218+ 0.0
pl -36.02 + 0.00

TP delay

TVC(cbch) (5, 11 9

B po

[ns]

T nu.4/8e+u4 / 25
4244+ 0.0
p1 -35.48 £ 0.00

TP delay

TVC(c,b ch) (5, 11 13

= pO

[ns]

T nuipule+ud / 25
4235+ 0.0
p1 -36.75+ 0.00

TP delay

[ns]

TVC(CbCh) (5, 11 2)

4000 [ pO

pl

3000

2000~

1ol C = 30,00 [ps/ch]

- 1 sqse+04 [ 25
4185+ 0.0
-33.33+ 0.00

1
50 100

TP delay

TVC(chh) (5, 11 6

4000 fmm PO

p1

[ns]

“rnuiL 715e+04 / 25
4237+ 0.0
-36.93 + 0.00

3000~

2000~

1000:— C=27.08 [pS/Ch

TP delay

[ns]

TVC(cbch) (5, 1, 10)

4000 [, pO

- rnugyrLe+ud [ 25
4250+ 0.0
pl -35.08 + 0.00

3000
2000

1000

TP delay

TVC(c,b Ch) (5,11, 14

4000 [

[ns]

A~ 1 nui sgoe+u4 / 25
po 4227+ 0.0
pl -35.46 + 0.00

3000
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1000

TP delay

[ns]
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1000

TVC(Cbch) (5,11,3)

AT 1nuiLZ/oe+u4 /25
= po 4184+ 0.0
pl -33.24 + 0.00
[ C=30.09 [ps/ch] ™. ]
L L =
50 100
TP delay [ns]

TVC(CbCh) (5, 11 7

- pO

- Uz 0b3e+u4 / 25
4250+ 0.0
pl -36.54 + 0.00

TP delay

TVCE D=5, 11, 11

e pO

[ns]

~ 1 nuiz 150e+u4 / 25
4252+ 0.0
pl -35.82+ 0.00

TP delay

TVC(c,b Ch) (5, 11 15

[ns]

- i po3e+ud [ 25
4224+ 0.0
p1 -35.38 + 0.00

TP delay

[ns]
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3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000 =,

3000

2000

1000

TVC(CbCh) (5, 12 0)

T rnuiLzrve+u4 [ 25
P pO 4182+ 0.0
p1 -34.77 + 0.00

TP delay [ns]

TVC(cbch) (5.12,4

- rnuiLa14e+04 / 25
[, PO 4203+ 0.0
pl -36.94 + 0.00

TP delay [ns]

TVC(cbch) (5, 12 8

T rnuiLyye+u4 [ 25
= po 4199+ 0.0
pl -36.21+ 0.00

TP delay [ns]

TVC(cbch) (512,12

T i 5oze+04 / 25
pO 4214+ 0.0
p1 -36.1+ 0.0

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (5,12,1)

AT 1nuiLgo/e+u4 [ 25
P po 4218+ 0.0
p1 -35.77+ 0.00

TP delay [ns]

TVC(cbch) (5.12,5

-1 nui b33e+u4 / 25
e, pO 4206+ 0.0
p1 -36.42:+ 0.00

TP delay [ns]

TVCEDCN)=(5, 12,9

T nugnlve+ud [ 25
= po 4213+ 0.0
pl -36.59 + 0.00

TP delay [ns]

TVC(cbch) (512,13

- TinuiLn/1e+ud [ 25
- pO 4196+ 0.0
pl -35.59+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,
3000
2000

1000

4000 =,
3000
2000

1000

TVC(CbCh) (5,12,2)

- C = 29.36 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (5.12,6

T b4 /e+04 [ 25
- pO 4208+ 0.0
[ pl -36.29+ 0.00

A7 1 nuizyoe+u4 / 25
__— po 4192+ 0.0
[ p1 -34.06 + 0.00

TP delay [ns]

TVC(cbch) (5, 12 10

1 nuiz.4yge+04 | 25
DO 4240+ 0.0
pl -36.07 + 0.00

TP delay [ns]

TVC(cbch) (5.12, 14

- 1L bo0e+u4 / 25
pD 4199+ 0.0
pl -35.57 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (5,12,3)

AT i szse+ud [ 25
o=, po 4195+ 0.0
p1 -35.6+ 0.0

TP delay [ns]

TVC(c, bch) (5,127

-1 nui blye+ud / 25
- pO 4220+ 0.0
pL -36.68:+ 0.00

50 1(;0
TP delay [ns]

TVC(eheh)=(5, 12, 11

-1 nuiz.yuae+ud / 25
= po 4236+ 0.0
pl -35.53+ 0.00

TP delay [ns]

TVC(cbch) (512,15

- T nuip1se+ud / 25
po 4204+ 0.0
p1 354+ 0.0

TP delay [ns]



TVC(CbCh) (5, 13 0)

4000

3000

2000

1000

Tz ae+u4 /25
o, pO 4290+ 0.0
pl -37.24+ 0.00

TP delay [ns]

TVC(cbch) (5.13,4

4000

3000

2000

1000

T zg/e+u4 [ 25
[oese. PO 4229+ 0.0
pl -36.37 + 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (5, 13 8

4000

3000

2000

1000

T 1goe+u4 /25
e, PD 4268+ 0.0
p1 342+ 0.0

[ C=29.24 [ps/ch] ™,

0

1
50 100

TP delay [ns]

TVC(cbch) (513,12

4000

3000

2000

1000

T 143e+u4 /25
- po 4234+ 0.0
pl -35.13+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (5,13,1)

AT 1 nuzyuse+ud [ 25
e po 4282+ 0.0
pl -37.13+ 0.00

TP delay [ns]

TVC(c, bch) (5.13,5

-1 nui4nze+04 [ 25
[, pO 4217+ 0.0
pL -36.08 + 0.00

TP delay [ns]

TVC(c,b ch) (5, 13

-1 nugyyye+ud / 25
- po 4303+ 0.0
pl -35.86 + 0.00

TP delay [ns]

TVC(cbch) (513,13

T naisuze+ud [ 25
- pO 4238+ 0.0
-35.31+ 0.00

PR BRSNS |
50 100

TP delay [ns]

4000

2000

1000

4000
3000
2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

TVC(CbCh) (5,13,2)

A7 1 nuiz ygae+ud [ 25
e po 4298+ 0.0
: pl -37.57 + 0.00

3000

TP delay [ns]

TVC(cbch) (5.13,6

- 1L 455e+04 / 25
pO 4247+ 0.0
pl -37.24+ 0.00

TP delay [ns]

TVC(cbch) (5, 13 10

Tz zsze+04 | 25
- po 4316+ 0.0
: pl -35.26 + 0.00

- C = 28.36 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (5.13, 14

- 1L bo0e+u4 / 25
- pD 4243+ 0.0
| pl -35.46 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (5,13,3)

AT rnuzazse+u4 1 25
po 4308+ 0.0
pl -36.72+ 0.00

TP delay [ns]

TVC(c, bch) (5,137

- b33e+04 / 25
- pO 4259+ 0.0
pL -37.32:+ 0.00

50 100
TP delay [ns]

TVC(cbch) (5, 13 1

T nui 118e+u4 / 25
- pO 4318+ 0.0
p1 -35.12+ 0.00

[ C=28.47 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (513,15

<1 nui vbye+ud / 25
- pO 4251+ 0.0
p1 -35.53+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (5, 14 0)

© 1z, (ube+u4 | 25
4239+ 0.0
-36.51+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (5.14,4

- rnuiLaz3e+04 / 25
pO 4244+ 0.0
pl -36.21 0.00

TP delay [ns]

TVC(cbch) (5, 14 8

T nuig,gope+u4 / 25
- pO 4204+ 0.0
pl -35.39+ 0.00

TP delay [ns]

TVC(cbch) (514,12

~ 1L, robe+u4 / 25
- po 4285+ 0.0
pl -37.43+ 0.00

PR B SRS |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (5,14,1)

AT 1 nuzr9ve+ud [ 25
oane po 4233+ 0.0
pl -35.65+ 0.00

1 1
50 100

TP delay [ns]

TVC(c, bch) (5,145

-1 nun 333e+04 / 25
- pO 4256+ 0.0
pL -36.99+ 0.00

TP delay [ns]

TVC(c, bch) (5, 14 9

1 nuw.goye+ud / 25
= po 4236+ 0.0
p1 -34.87 + 0.00

TP delay [ns]

TVC(cbch) (5.14,13

T inui g1ge+ud [ 25
- pO 4270+ 0.0
pl -36.26 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

4000

3000

2000

TVC(CbCh) (5,14,2)

- C = 28.06 [ps/ch

50 100

TP delay [ns]

TVC(cbch) (5.14,6

A7 1 nuig ose+u4 /25

_-ﬁ po 4242+ 0.0

[ p1 -35.63+ 0.00
- ]

- nubu1e+u4 / 25
- pO 4249+ 0.0
[ 359+ 0.0

TP delay [ns]

TVC(cbch) (5, 14 10

©1nuzg19e+u4 | 25
e, po 4237+ 0.0
o pl -34.75+ 0.00

TP delay [ns]

TVC(cbch) (5. 14,14

1000

T rnuiLyize+u4 | 25
- pD 4259+ 0.0
L pl -36.15+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (5,14,3)

AT 1 nus.sose+ud [ 25
— po 4235+ 0.0
p1 -34.88 + 0.00

TP delay [ns]

TVC(c, bch) (5,14, 7

- nun 1 pbe+ud [ 25
- pO 4277+ 0.0
pL -36.07+ 0.00

TP delay [ns]

TVC(cbch) (5 14,11

~ 1 nuiz.4p5e+04 / 25
= po 4236+ 0.0
p1 -34.69+ 0.00

TP delay [ns]

TVC(cbch) (514,15

T nui rbae+ud [ 25
- pO 4262+ 0.0
p1 -35.92 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000 [,

3000

2000

1000

TVC(CbCh) (5, 15 0)

TP delay [ns]

TVC(Cbch) (5, 15 4

TonunLobe+ud /25
F. pO 4198+ 0.0
p1 -37.1+ 0.0
rC =26.95 [ps/c ]
-
-
1 1
50 100

- nui39ze+u4 [ 25

k. pO 4194+ 0.0
p1 -35.75+ 0.00

50 5
TP delay [ns]

TVC(cbch) (5, 15 8

11ui2.4535e+04 [ 25

E pD 42213 0.0
p1 -36.28:+ 0.00

TP delay [ns]

TVC(Cbch) (5, 15 12)

1 nuiz.yule+ud | 25

pO 4223+ 0.0
pl -34.72+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (5,15,1)

AT 1 nuiLyzse+u4 [ 25

Foase po 4184+ 0.0
pL -36.38+ 0.00

TP delay [ns]

TVC(c,b Ch) (5, 15 5

=1 nui zgbe+u4 / 25
pO 4204+ 0.0
pL -35.72:+ 0.00

TP delay [ns]

TVC(c,b ch) (5, 15

~ 1 naiyp4ze+ud [ 25
- pO 4246+ 0.0
p1 -37.27+ 0.00

TP delay [ns]

TVC(c,b ch) (5, 15 13

- sle+ud | 25
= pO 4224+ 0.0
pl -36.19+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

TVC(CbCh) (5,15,2)

TP delay [ns]

TVC(Cbch) (5, 15 6

X~ 1 i ysse+u4 [ 25
F.... po 4209+ 0.0
[ p1 -36.66+ 0.00

3000

- i b3ze+u4 [ 25
- pO 4217+ 0.0
[ p1 -36.82+ 0.00

TP delay [ns]

TVC(e,b,ch)=(5, 15, 10

1000

0

- 1 nuiL ypbe+ud / 25
F- po 4244+ 0.0
o pl -36.61+ 0.00

TP delay [ns]

TVC(CbCh) (5, 15 14

T nuizazoe+04 [ 25
- pD 4232+ 0.0
[ p1 -37.54+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (5,15,3)

AT 1 nuiLsose+u4 / 25

po 4211+ 0.0
p1 -35.91% 0.00

TP delay [ns]

TVC(c,b Ch) (5, 15 7

- nui b3ve+u4 [ 25
4213+ 0.0
-35.9+ 0.0

50 160
TP delay [ns]

TVC(e,beh)=(5, 15, 11

~ 1 nui g48e+u4 [ 25
- pO 4254+ 0.0
pl -36.38 + 0.00

TP delay [ns]

TVC(cbch) (5, 15 15

-1 nuiz.oyve+ud / 25
- po 4219+ 0.0
p1 -35.33+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,0,0

AT rsze+04 /25
P po 4149+ 0.0
p1 -34.04 + 0.00

TP delay [ns]

TVC(cbch) (60,4

-, [25e+04 ] 25
o, pO 4169+ 0.0
pl -34.01+ 0.00

[ C =29.40 [ps/ch]

50 10‘0
TP delay [ns]

TVC(cbch) (6 0,8

T prze+u4 | 25
[oane PD 4176+ 0.0
pl -35.97 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (6,0,12

1z 5ue+u4 / 25
S po 4207+ 0.0
pl -35.32+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,0,1

AT 1 nuLy1se+ud [ 25
e po 4164+ 0.0
pl -35.49 + 0.00

TP delay [ns]

TVC(c,b ch) (6 0,5

~1nug ryse+u4d [ 25
P pO 4180+ 0.0
pL -35.52:+ 0.00

TP delay [ns]

TVC(c,b ch) (6 0,9

Tonuan1ure+us /25
E po 4196+ 0.0
pl -36.58 + 0.00

TP delay [ns]

TVC(C, bch) (6,0,13

Tinuz.p3/e+ud [ 25
E. pO 4202+ 0.0
pl -35.67 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (6,0,2)

- C = 28.65 [ps/ch

1
50 100

TP delay [ns]

TVC(cbch) (60,6

K™ 1nuiLyrse+ud /25
Fouse po 4170+ 0.0
o pl -34.91+ 0.00

-1z, 9yse+u4 [ 25
P po 4196+ 0.0
[ pl -35.77+ 0.00

TP delay [ns]

TVC(cbch) (6, 0 10

Ty yzse+u4 | 25
3 po 4214+ 0.0
- pl -35.87 + 0.00

TP delay [ns]

TVC(cbch) (6,0,14

T rnuizplze+ud | 25
E. pD 4198+ 0.0
L pl -35.16 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,0,3

AT 1L ysye+ud [ 25
s po 4184+ 0.0
pl -35.56 + 0.00

TP delay [ns]

TVC(c,b ch) (6 0,7

-1 nu bu4e+04 / 25
o, pO 4203+ 0.0
pL -34.77  0.00

[ C =28.76 [ps/ch]

50 100
TP delay [ns]

TVC(c,b ch) (6, O

T, bdie+l}4/25
E po 4220+ 0.0
pl -35.69 + 0.00

TP delay [ns]

TVC(C, bch) (6,0,15

L
=]
5}

T inuizoo/e+ud [ 25
4213+ 0.0
p1 -35.94 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,1,0)

X~ 1L s10e+U4 / 25
PO 4174+ 0.0
pl -36.93 + 0.00

TP delay [ns]

TVC(cbch) (6.1,4

T g 1rye+ud [ 25
pO 4176+ 0.0
pl -34.25+ 0.00

TP delay [ns]

TVC(cbch) (6 1,8

- o zyve+ud / 25
4198+ 0.0
-34.61+ 0.00

TP delay [ns]

TVC(cbch) (61,12

© 1 nuiLsbye+ud / 25
= PO 4197+ 0.0
pl -35.72+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,1,1

A- Ui B1ae+U4 [ 25
"o po 4194 £ 0.0
pl -37.44 + 0.00

TP delay [ns]

TVC(c,b ch) (6 1,5

S nuzyle+ud [ 25
DU 4160+ 0.0
pL -35.27+ 0.00

TP delay [ns]

TVC(c,b ch) (6 1,9

<1 nuws.obze+ud / 25
- DO 4230+ 0.0
pl -34.86 + 0.00

TP delay [ns]

TVC(cbch) (61,13

T y3ie+ud [ 25
F= pO 4191 0.0
pl -35.52 + 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

4000

2000

1000

TVC(cbch) (6,1,2)

X~ 1 nuizuase+ud [ 25
=) po 4210+ 0.0
I pl -37.91+ 0.00

3000

TP delay [ns]

TVC(cbch) (61,6

- 292e+04 | 25
- pO 4196+ 0.0
r pl -36.08 + 0.00

3000

TP delay [ns]

TVC(cbch) (6, 1 10

© 1 nuz,ybye+ud / 25
- DO 4243+ 0.0
I pl -35.55 + 0.00

3000

TP delay [ns]

TVC(cbch) (61,14

TnuiLsze+u4 [ 25
- PD 4190+ 0.0
I pl -35.09 + 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,1,3)

AT nuiLBYse+u4 / 25
PO 41931 0.0
p1 -37.44 + 0.00

TP delay [ns]

TVC(c,b ch) (6 1,7

S nua [ (ze+04 | 25
= PO 4190+ 0.0
pL -34.78  0.00

TP delay [ns]

TVC(c,b ch) (6, l

AEALVS 1U4e+u4/25
- pO 4253+ 0.0
pl -35.55+ 0.00

TP delay [ns]

TVC(cbch) (61,15

Tz, usoe+u4 [ 25
pO 4198+ 0.0
pl -35.67 + 0.00

TP delay [ns]



TVC(cbch)(620) TVC(cbch)(621) TVC(cbch)(622) TVC(cbch)(623)
X~ 1z juve+ud [ 25 A1 uiz6o U4 | 25 X~ 11z 4aae+ud | 25 A 1nuiz6/1e+U4 ] 25

4000, po 4198+ 0.0 00k, po 4209+ 0.0 A000FL, po 4208+ 0.0 4000, po 4211+ 0.0
pl -37.44+ 0.00 pL -36.07+ 0.00 3 pl -35.43+ 0.00 pL -36.49+ 0.00

3000

7 3000 -1 3000 - - 3000

2000 2000 m 2000 . 2000

1000 1000 1000

wol C = 28.22 [ps/ch

L L 1 Il 1 1
50 100 50 100 50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (62,4 TVC(cbch) (62,5 TVC(cbch) (62,6 TVC(c, bch) (6,27

T U 403e+04 / 25 T rna.uBre+ud | 25 TnuZhe+u4 [ 25 T zz3e+ud | 25
4000 g po 4213+ 00 4000, pO 4219+ 00 4000 e, PO 4234£ 00 4000 = pO 4248+ 0.0
pl -35.91+ 0.00 pl -36.19 0.00 F pl -35.79+ 0.00 pl -36.24+ 0.00

3000 1 3000 -1 3000 |~ - 3000 -1

2000 - - 2000 -1 2000 - 2000 - -

w00 C ] 1000 y wor C = 27.94 [ps/ch ] w00 C ]

- [ - 1 -
- - -
. - -
1 1 1 1 1
50 100 50 100 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(ehich=(6,2,8) TVC(eh.e=(6,2,9) TVC(eb.ch=(6, 2, 10) TVC(ehe)=(6, 2, 11)
©1nu.a5ze+04 [ 25 -1 nug.yobe+u4 / 25 Tnun2.49e+04 /25 ~ 1u bobe+u4 / 25
4000 fome, pO 4220+ 0.0 4000 fae, pO 4263+ 0.0 4000 fome, DO 4263+ 0.0 4000 fs p0 4275+ 0.0
Pl 3502+ 0.00 Pl -37.05: 000 [ 359+ 0.0 Pl -36.81% 0.00

e 3000

3000 N 3000 - 3000 1

2000 - 2000 -1 2000 - 2000

1000 1000 - 1000

1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (6,2, 12 TVC(C, bch) (6,213 TVC(cbch) (6,2 14 TVC(C, bch) (6,215

~ 1 nug,545e+04 / 25 Tz 3yre+u4 [ 25 ~ 1z, 400e+04 / 25 T 33re+V4 1 25
4000 pO 4211+ 0.0 4000 pO 4238+ 0.0 4000 PD 4224+ 0.0 4000 [, pO 4243+ 0.0
Pl 3494000 Pl -36.62+0.00 [ Pl -35.38+0.00 Pl 35794000

e 3000

3000 1 3000 - 3000 -1

2000 ] 2000 T 2000 - 2000

1000 1000 1000 e 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



TVC(cbch)(630) TVC(cbch)(631) TVC(cbch)(632) TVC(cbch)(633)
A7 nunL suse+ud / 25 AT 1L sbLe+ud [ 25 A™ 1 nuiLyise+ud /25 AT rnuiLsble+ud [ 25
4000, PO 4196+ 0.0 a00E, po 4201% 0.0 A000FL, PO 4213: 0.0 4000 PO 4216+ 0.0
pl -36.72+ 0.00 pl -36.96 + 0.00 r pl -36.77 + 0.00 pl -35.84+ 0.00

3000

- 3000 -1 3000 =1 3000 -

2000 - 2000 -1 2000 -1 2000

1000 1 1000 = 1000 =1 1000

TP delay [ns]

TVC(cbch) (63,4

TP delay [ns]

TVC(c,b ch) (6 3,

TP delay [ns]

TVC(cbch) (63,6

TP delay [ns]

TVC(c,b ch) (6 3,

Trnarg, l)ltseﬂJA 125 S Z)UbE+U4/25 “narg, l)b‘:)e+U4 125 T rnar 3)b32+04/25
4000 pO 4229+ 0.0 4000 pO 4232+ 0.0 4000 e, pO 4236+ 0.0 4000 fas pO 4247+ 0.0
Pl -37.49 0.00 Pl -36.46+ 0.00 - Pl -36.17% 0.00 Pl -35.76 0.00

3000 - -1 3000 LI 3000 -— —- 3000 [ -1

2000 E 2000 4 2000 . 2000 g

woo- C = 26.68 [ps/c ] 1000 1 woor C = 27.65 [ps/ch 7 w00 C = 27.97 [ps/ch ]

- [ "] "
- - - -
0, 1 1 1 1 1
50 00 50 00 50 00 50 00

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (6 3,8 TVC(cbch) (6 3,9 TVC(cbch) (6, 3 10 TVC(cbch) (6, 3

T nu, 138e+u4 / 25 Ty 4z1e+04 1 25 T ozze+04 | 25 AR bbée+l}4/25
4000 fame, pO 4235+ 0.0 4000 fme pO 4253+ 0.0 4000 fome, DO 4281+ 0.0 4000 fe p0 4261+ 0.0
Pl -36.04: 0.00 Pl -35.49: 0.00 L PL_ -35.93% 0.00 Pl 3573000

3000

2000

1000

4000

3000

2000

1000

TP delay [ns]

TVC(cbch) (6,312

Tinuzuroe+ud /25
F= PO 4235+ 0.0
pl -35.74+ 0.00

TP delay [ns]

3000

2000

1000

4000

3000

2000

1000

TP delay [ns]

TVC(C, bch) (63,13

T inuz134e+04 / 25
4223+ 0.0
-35.1+ 0.0

PR BRSNS |
50 100

TP delay [ns]

3000
2000

1000

4000

2000

1000

TP delay [ns]

TVC(cbch) (6,3 14

~ 1 nuiLyyye+ud / 25
- pD 4225+ 0.0
F pl -36.18 + 0.00

3000

TP delay [ns]

3000

2000

1000

4000

3000

2000

1000

TP delay [ns]

TVC(C, bch) (63,15

-1z, uoge+u4 [ 25
- po 22415 0.0
pl -36.42 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,4,0

A~ 1 nui ro1e+u4 [ 25
., po 4198+ 0.0
p1 -36.05+ 0.00

TP delay [ns]

TVC(cbch) (64,4

S rnuiLdze+ud [ 25
.. po 4186+ 0.0
-34.1+ 0.0

[ C =29.33 [ps/ch]

50 10'0
TP delay [ns]

TVC(cbch) (6 4,8

- 1'yie+ua /25
e po 4189+ 0.0
p1 -35.58:+ 0.00

TP delay [ns]

TVC(cbch) (64,12

- 1 s9se+u4 [ 25
e, po 4221% 0.0
p1 -33.6+ 0.0

[C=29.77 [ps/ch] ™. ]

P R |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,4,1

A1 nuiL6are+U4 | 25
- po 4177£ 0.0
pl -35.51+ 0.00

TP delay [ns]

TVC(c,b ch) (6,4,5

'rnulidﬁe+04/25
e po 4184+ 0.0
p1 -34.85+ 0.00

TP delay [ns]

TVC(c,b ch) (6 4,9

~ 1 nuis 740e+04 / 25
= po 4208+ 0.0
p1 -35.21+ 0.00

TP delay [ns]

TVC(c,b Ch) (6, 4 13

Tinuigize+ud [ 25
= pO 4220+ 0.0
p1 -34.69 + 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000

2000

1000

TVC(cbch) (6,4,2)

X~ 1 1L bose+ud / 25
.. po 4191+ 0.0
L pl -36.16 + 0.00

3000

TP delay [ns]

TVC(cbch) (64,6

- i b3ze+u4 / 25
e pO 4189+ 0.0
- pl -35.33 + 0.00

TP delay [ns]

TVC(eb,ch)=(6, 4, 10

- iz 0Z6e+04 [ 25
= pO 4241+ 0.0
[ pL -34.87 + 0.00

TP delay [ns]

TVC(cbch) (64,14

1 i s40e+04 [ 25
F-. pD 4228+ 0.0
[ -33.72:+ 0.00

- C = 29.66 [ps/ch]

PR R R S R |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,4,3

A1 nuiL, 7 roe+ud [ 25
o po 4206+ 0.0
pL -35.75+ 0.00

TP delay [ns]

TVC(c,b ch) (6 4,7

-1 nui b34e+04 / 25
4200+ 0.0
-34.9+ 0.0

TP delay [ns]

TVC(c,b ch) (6, 4

Sy z::e+u4/25
== 4226+ 0.0
-33.89+ 0.00

[ C =29.51 [ps/ch] ]

1
50 00

TP delay [ns]

TVC(c,b ch) (6, 4 15

- i sYbe+ud [ 25
= pO 4224+ 0.0
p1 -34.59 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,5,0

X~ 1 583e+U4 [ 25
[Fones, PO 4203 0.0
pl -35.76 + 0.00

TP delay [ns]

TVC(cbch) (65,4

- g z18e+u4 / 25
Fome, pO 4198+ 0.0
pl -34.16 + 0.00

[ C =29.27 [ps/ch]

50 10‘0
TP delay [ns]

TVC(cbch) (6 5,8

© 1 nu.445e+04 / 25
- pO 4216+ 0.0
pl -35.78:+ 0.00

TP delay [ns]

TVC(cbch) (6,5,12

T Sroe+ud [ 25
- pO 4226+ 0.0
pl -35.64 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,51

AT 1 nuiLbsze+u4 [ 25
[, po 4214+ 0.0
pl -35.68 + 0.00

TP delay [ns]

TVC(c,b ch) (6 55

-1 nug 3u8e+u4 [ 25
I 4195+ 0.0
-34+ 0.0

[ C =29.41 [ps/ch] 7

50 1(;0
TP delay [ns]

TVC(c,b ch) (6 59

-1 nuw.pBbe+u4 / 25
- DO 4214+ 0.0
pl -35.27 + 0.00

TP delay [ns]

TVC(C, bch) (6,5,13

~ 1 nuiz.usae+ud / 25
4249+ 0.0
-36.1+ 0.0

PR BRSNS |
50 100

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

TVC(cbch) (6,52)

TP delay [ns]

TVC(cbch) (6,56

X~ 1L by4e+U4 [ 25
Faase. po 4225+ 0.0
I pl -36.48 + 0.00

3000

Tnug./ rbe+04 [ 25
- pO 4209+ 0.0
L Pl -34.13%0.00

- C =29.30 [ps/ch]

50 10‘0
TP delay [ns]

TVC(cbch) (6, 5 10

1000

© 1 nug,bose+ud / 25
- DO 4243+ 0.0
3 Pl -35.68+ 0.00

TP delay [ns]

TVC(cbch) (6,5,14

T zoie+ud [ 25
= PD 4222+ 0.0
I pl -35.13 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,5,3

AT 1 nuiLbyse+u4 / 25
[ po 4211+ 0.0
pl -34.83+ 0.00

TP delay [ns]

TVC(c,b ch) (6 57

- g yybe+ud [ 25
- PO 4211£ 0.0
Pl 3506+ 0.00

TP delay [ns]

TVC(c,b ch) (6, 5

ALK bbe+u4/25
- pO 4248+ 0.0
pl -35.56 + 0.00

TP delay [ns]

TVC(C, bch) (6,5,15

T zyre+u4 | 25
- pO 42351 0.0
pl -36.06 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,6,0)

A7 1 nui osse+ud / 25
4198+ 0.0
-35.41+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (6.6,4

- 1L G54e+04 / 25
e pO 4182+ 0.0
pl -35.02:+ 0.00

e ]
% o
TP delay [ns]
TVC(c,b ch) (6, 6 8

T rnuizusle+u4 | 25
PD 4218+ 0.0
pl -35.63+ 0.00

TP delay [ns]

TVC(cbch) (6,6,12

T 1zse+u4 [ 25
PO 4234+ 0.0
pl -35.77 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,6,1

AT LB ae+U4 [ 25
= PO 4207+ 0.0
pl -35.82+ 0.00

TP delay [ns]

TVC(c,b ch) (6 6,5

S nun 1 /be+ud [ 25
4208+ 0.0
-36.3 % 0.0

50 1(;0
TP delay [ns]

TVC(c,b ch) (6 6,9

Tinuny14e+u4 /25
DO 4249+ 0.0
pl -34.89 + 0.00

TP delay [ns]

TVC(C, bch) (6,6,13

T inuiz 1bze+ud [ 25
4227+ 0.0
-35.61+ 0.00

PR BRSNS |
50 100

TP delay [ns]

4000

2000

1000

4000

3000
2000

1000

4000

2000

4000

2000

1000

TVC(cbch) (6,6,2)

X~ 1L ssre+U4 /25
[Foese. po 4203+ 0.0
I pl -35.45+ 0.00

3000

TP delay [ns]

TVC(cbch) (66,6

T i/ (1e+04 [ 25
pO 4195 0.0
pl -35.46 + 0.00

TP delay [ns]

TVC(cbch) (6, 6 10

1000

Tnuzg/re+u4 [ 25
- DO 4260+ 0.0
[ pl -35.95+ 0.00

3000

TP delay [ns]

TVC(cbch) (6,6,14

~ 1L ys4e+u4 [ 25
- PD 4224+ 0.0
F pl -35.46 + 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,6,3)

o Lsle+ud [ 25
PO 4215+ 0.0
pl -35.41+ 0.00

C =28.24 [ps/ch

L
50 100

TP delay [ns]

TVC(c,b ch) (6 6,7

- nui oge+u4 / 25
4207+ 0.0
-35.9+ 0.0

50 1(;0
TP delay [ns]

TVC(c,b ch) (6, 6

T2 ::4e+u4/25
= p0 4257+ 0.0
pL -35.17 + 0.00

TP delay [ns]

TVC(C, bch) (6,6, 15

Tz 1u1e+u4 / 25
- pO 4238+ 0.0
pl -36.14 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,7,0

X~ 1w 5a4e+04 [ 25

Froesa po 4186+ 0.0
pl -35.43+ 0.00

TP delay [ns]

TVC(cbch) (67,4

TN Z.35e+04 [ 25
E pO 4199+ 0.0
p1 -34.71% 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (6 7,8

T g zsze+u4 | 25
- po 4208+ 0.0
pl -35.95+ 0.00

TP delay [ns]

TVC(cbch) (6,7,12

Trnugzoe+u4 | 25
= po 4254+ 0.0
pl -36.39+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,7,1

AT rnunLgve+ud [ 25
s po 4210+ 0.0
pl -36.66 + 0.00

TP delay [ns]

TVC(c,b ch) (6 7,5

“nuz.0yre+u4 / 25
[Fomes, pO 4210+ 0.0
pL -35.29 & 0.00

TP delay [ns]

TVC(c,b ch) (6 7,9

T nui b4ze+U5 [ 25
= pO 4227+ 0.0
p1 -36.42+ 0.00

TP delay [ns]

TVC(C, bch) (67,13

T inu s34e+u4 / 25
= pO 4248+ 0.0
pl -37.17+ 0.00

TP delay [ns]

4000

3000

2000

4000

3000

2000

1000

4000

3000

2000

4000

3000

2000

1000

TVC(cbch) (6,7,2)

e, po

K™ 1nuiLgyie+ud /25
4216+ 0.0

TP delay [ns]

TVC(cbch) (67,6

pl -36.23+ 0.00

- rnuz318e+04 / 25
- pO 4218+ 0.0
[ pl -35.01+ 0.00

TP delay [ns]

TVC(cbch) (6, 7 10

1000

0

1 nuig,3yoe+u4 | 25
o=, po 4252+ 0.0
o pl -37.09 + 0.00

TP delay [ns]

TVC(cbch) (67,14

1000

Tz zsze+04 | 25
. pD 4252+ 0.0
L pl -36.48 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,7,3

AT 1L sbye+ud [ 25
- po 4216+ 0.0
pl -35.5+ 0.0

TP delay [ns]

TVC(c,b ch) (6 7,7

- nu by3e+u4d / 25
4218+ 0.0
-34.5+ 0.0

[ C =28.98 [ps/ch] ]

50 1(;0
TP delay [ns]

TVC(c,b ch) (6, 7

AR bbde+l}4/25
= pO 4261+ 0.0
p1 -37.48 + 0.00

TP delay [ns]

TVC(C, bch) (67,15

Sinu zlie+04 /25

4262+ 0.0
-36.71+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,8,0

A7 zzse+04 /25
- po 4183+ 0.0
p1 -34.9+ 0.0

TP delay [ns]

TVC(cbch) (6,84

- zuse+u4 / 25
e, pO 4268+ 0.0
pl -38.88:+ 0.00

TP delay [ns]

TVC(cbch) (6 8,8

1 nuiLboge+u4 / 25
= po 4212+ 0.0
pl -35.06 + 0.00

TP delay [ns]

TVC(cbch) (6,812

T soze+u4 / 25
= po 4221+ 0.0
pl -35.82+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,81

X 1z daverud | 25
F.. po 4180+ 0.0
pL -34.75+ 0.00

1 1
50 100

TP delay [ns]

TVC(c,b ch) (6 8,5

“nug 1/ e+u4 /25
- pO 4251+ 0.0
pL -37.69+ 0.00

TP delay [ns]

TVC(c,b ch) (6 8,9

Tinugs3/e+u4 [ 25
= pO 4221+ 0.0
p1 -34,58 £ 0.00

TP delay [ns]

TVC(C, bch) (6,813

Tinaiasze+ud [ 25
4234+ 0.0
-36.11 + 0.00

PR BRSNS |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000
3000
2000

1000

TVC(cbch) (6,8,2)

- C = 28.54 [ps/ch

1
50 100

TP delay [ns]

TVC(cbch) (68,6

A7 1nug4r4e+04 /25
_l'_ po 4205+ 0.0
- pl -35.03+ 0.00

-1 Ui 3obe+u4 / 25
- pO 4263+ 0.0
[ pl -38.18+ 0.00

TP delay [ns]

TVC(cbch) (6, 8 10

T z03e+04 /25
. po 4253+ 0.0
- pl -35.26 + 0.00

TP delay [ns]

TVC(cbch) (6,814

Tl rze+u4 [ 25
4222+ 0.0
-34.71+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,8,3)

C 00
pl

AT 1 nuz.zsve+ud [ 25
4208+ 0.0
-35.74+ 0.00

TVC(c,b ch) (6 8,7

P pO
pl

1
100

TP delay [ns]

-1 nuz 3uze+u4 [ 25
4282+ 0.0
-37.92+ 0.00

100

TP delay [ns]

TVC(c,b ch) (6, 8

= pO

T yzze+u4/25
4260+ 0.0
-35.03+ 0.00

TP delay [ns]

TVC(C, bch) (6,815

1 nui ooae+ud [ 25
4231+ 0.0
-35.15+ 0.00

1
100

TP delay [ns]



TVC(cbch)(690) TVC(cbch)(691) TVC(cbch)(692) TVC(cbch)(693)
T zzye+ud [ 25 AT 1 nuzouLe+ud [ 25 K™ 1 nuiLyive+u4 /25 AT 1 nuaz.zeoe+ud [ 25
ao00pm po 42141 0.0 4000 ., po 4219+ 0.0 4000 fm, PO 4237+ 0.0 4000 fo, PO 4242 00
pl -36.64 + 0.00 pl -35.85+ 0.00 F pl -37.68+ 0.00 pl -37.17 + 0.00

3000

N 3000 - 3000 - -1 3000 -

2000 2000 2000 =1 2000

1000 1000 =1 1000

1000

50 0% 0 £ T00 0
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(ebeh)=(6,9, 4) TVC(eb.eh)=(6,9,5) TVC(ebeh)=(6,9,6) TVC(eb.eh)=(6,9, 7)
-1 Bsze+u4 [ 25 -1 nuz.gule+ud / 25 T rnuz0r3e+u4 [ 25 - 1nu 1uze+u4 / 25
4000 fe, pO 4237+ 0.0 4000 pO 4250+ 0.0 4000 [, pO 4250+ 0.0 4000 o=, pO 4275+ 0.0
Pl 3522 0.00 pl_ -35.86+ 0.00 [ Pl -35.78+ 0.00 Pl -36.79: 0.00
- : :
3000 E 3000 - 3000 . 3000 ]
2000 . 2000 4 2000 — _ 2000 ]
1000 ] 1000 ] wof C = 27.95 [ps/ch . 1000 C ]
1 |-' 1 il L 1 1 o= o 1 1 -
50 00 50 00 50 00 50 00
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(eheh)=(6,9,8) TVC(ebeh)=(6,9,9) TVC(ebeh)=(6, 9, 10) TVC(eb,oh)=(6,9, 11)
T nu 2 oge+u4d /25 T nusb11e+u4 [ 25 © U, 140e+04 / 25 T 15be+u4 / 25
4000 e pO 4220+ 0.0 4000 fen pO 4233+ 0.0 4000 [, DO 4260+ 0.0 4000 foe, p0 4271% 00
Pl -35.08: 0.00 Pl -35.92+ 0.00 3 Pl -36.19 0.00 Pl -36.27: 0.00

3000 -1 3000 -1 3000 -1 3000 -1

2000 -1 2000 - 2000 - 2000

1000 ] 1000 - 1000 — 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(cbch)(691 ) TVC(cbch)(6913) TVC(Cbch)(691 ) TVC(cbch)(6915)
TnuiLoize+ud [ 25 < 1L bbbe+u4 / 25 T, (53e+u4 [ 25 T 1 yuze+u4 [ 25
4000 [, pO 4238+ 0.0 4000 [m, pO 4234+ 00 4000 fm, pD 4249+ 0.0 4000 fos, po 4258+ 0.0
pl -34.12 + 0.00 pl -35.3+ 0.0 F pl -36.64 + 0.00 pl -36.6 + 0.0
3000 = - 3000 - - 3000 — 3000 E
2000 - 4 2000 - - 2000 — 2000 -

1000 |- 1000 X —_ 1000

100 C = 29.31 [pS/Ch]

PR B SRS |
50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]




4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (6, 10 0)

T, ruoe+u4 [ 25
4204+ 0.0
-35.71+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (6.10,4

- rnuiLyyle+ud / 25
pO 4213+ 0.0
pl -36.81+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (6, 10 8

T rnuiLyule+u4 / 25
= po 4218+ 0.0
p1 -37+ 0.0

TP delay [ns]

TVC(cbch) (6.10,12)

T, 15ze+04 | 25
= po 4227+ 0.0
-35.41+ 0.00

PR B SRS |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

TVC(chh) (6,10,1)

1o4e+u4 | 25
4207+ 0.0
-36.18 + 0.00

A,

e, po

p1

TP delay [ns]

TVC(c, bch) (6,105

- pO

-1 nui B3ye+u4 / 25
4218+ 0.0
-36.29 + 0.00

TP delay [ns]

TVC(c,b ch) (6, 10

-1 nuy.pyse+ud / 25
4222+ 0.0
-35.99 + 0.00

TP delay [ns]

TVC(cbch) (610,13

T nui 1sse+ud [ 25
4228+ 0.0
-35.44+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

4000

3000

2000

4000

3000
2000

1000

TVC(CbCh) (6,10,2)

TP delay [ns]

TVC(cbch) (6.10,6

1000

A7 1 nuip4oe+u4 /25
Freee, po 4218+ 0.0
- pl -36.36 + 0.00

3000

-1 Ui base+ud [ 25
- pO 4226+ 0.0
[ pl -36.89+ 0.00

TP delay [ns]

TVC(cbch) (6, 10 10

1000

0

T z.99e+u4 / 25
- po 4248+ 0.0
- pl -37.02+ 0.00

TP delay [ns]

TVC(cbch) (6.10,14

~1nuizyose+ud | 25
- pD 4230+ 0.0
L pl -35.43+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (6,10,3)

AT L r31e+ud [ 25
4213+ 0.0
pl -37.08+ 0.00

po

TP delay

TVC(c, bch) (6,10, 7

feme pO
pl

[ns]

-1 nuz.ulbe+ud / 25
4230+ 0.0
-36.43 % 0.00

50 1(;0
TP delay

TVC(cbch) (6, 10 1

e pO

[ns]

~ 1 nuiz 10oe+u4 / 25
4261+ 0.0
pl -37.17 + 0.00

TP delay

TVC(cbch) (6,10,15

[ns]

T nuiz 1use+ud / 25
4237+ 0.0
p1 -35.67 + 0.00

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (6,11,0)

K™ 1 nuig 131e+04 / 25
4223+ 0.0
-35.31+ 0.00

TVC(CbCh) (6, 11 1)

4000 f=, PO

p1

~ 1w 144e+04 [ 25
4221+ 0.0
-34.54 + 0.00

3000 |-

2000

oo C = 28.95 [ps/ch]

1
100

TP delay [ns]

TVC(cbch) (6, 11 4

L
50

1
100

TP delay [ns]

TVC(c,b Ch) (6, 11 5

4000

- iU 541e+04 [ 25
Fause po 4181+ 0.0
pl -36.23 0.00

TP delay

TVC(cbch) (6, 11 8

== pD

[ns]

- rnun 1 gve+u4 [ 25
4229+ 0.0
pl -35.91+ 0.00

TP delay

TVC(c,b Ch) (6,11, 12

[ns]

X~ 1w sa1e+04 /25
- po 4251+ 0.0
pl -34.96 + 0.00

TP delay

[ns]

-1 nui bh3e+ud [ 25
pO 4197+ 0.0
p1 -37.24+ 0.00

3000 -

2000 -

w00 C = 26.85 [pS/C

TP delay

TVC(c,b ch) (6, 11

4000

[ns]

Tonan s zze+04 1 25
4217+ 0.0
-34.51+ 0.00

3000

2000

100 C = 28.98 [ps/ch]

1
50 00

TP delay

TVC(c,b ch) (6, 11 13

4000 e, PO

p1

[ns]

-1 nuiL pbbye+ud / 25
4251+ 0.0
-34.74+ 0.00

3000

2000 [~

w0 C = 28.79 [ps/ch]

PR R SR |
50 100

TP delay

[ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

TVC(CbCh) (6,11, 2)

e po

X~ 1 nuiz.usze+u4 [ 25
4238+ 0.0
p1 -35.86+ 0.00

TP delay [ns]

TVC(chh) (6, 11 6

© 1 nuiL bbge+u4 / 25
- pO 4205+ 0.0
- pl -36.96 + 0.00

TP delay

TVC(e,beh)=(6, 11, 10

1000

[ns]

X© 1 s, 109e+U4 | 25
- po 4249+ 0.0
[ pL -35.44 + 0.00

TP delay

TVC(c,b Ch) (6,11, 14

[ns]

A~ 1 nuiob/e+u4 /25
-, po 4266+ 0.0
[ pl -35.77+ 0.00

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (6,11,3)

- po

A~ 1 nuiZ, 10be+U4 | 25
4245+ 0.0
pL -36.78:+ 0.00

TP delay [ns]

TVC(CbCh) (6, 11 7

“onar1yle+ud /25
= po 4212+ 0.0
p1 -35.98 + 0.00

50 160
TP delay

TVC(Deh)=(6, 11, 11

= pO

[ns]

T nuiz1ule+ud / 25
4252+ 0.0
pl -35.66 + 0.00

TP delay

TVC(c,b Ch) (6, 11 15

[ns]

S y/e+ud [ 25
4265+ 0.0
-35.45 + 0.00

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (6, 12 0)

© L psse+u4 [ 25
- pO 4180+ 0.0
p1 34,52+ 0.00

TP delay [ns]

TVC(cbch) (6.12,4

I C =26.52[psl/c ]

-1 i Bo4e+ud / 25
pO 4231% 0.0
p1 37.7+ 0.0

50 100
TP delay [ns]

TVC(cbch) (6, 12 8

T rnuiLyrve+u4 | 25
= po 4196+ 0.0
pl -35.16 + 0.00

TP delay [ns]

TVC(cbch) (6,12, 12

~ 1L yose+u4 / 25
pO 4226+ 0.0
pl -34.78 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

TVC(chh) (6,12,1)

AT 1 nunLisye+ud [ 25
e po 4190+ 0.0
pl -33.65+ 0.00

[ C=29.72 [ps/ch]

L

1
50 100

TP delay [ns]

TVC(cbch) (6,125

-1 nui gb3e+u4d [ 25
Fomes, po 4226+ 0.0
pL -36.91:+ 0.00

50 1(;0
TP delay [ns]

TVC(ebeh)=(6, 12,9

-1 nuw.oUbe+U4 / 25
= po 4223+ 0.0
pl -35.04 + 0.00

TP delay [ns]

TVC(cbch) (612,13

T inuig1Ye+ud [ 25
pO 4222+ 0.0
pl -34.91+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

4000

3000

2000

1000

TVC(CbCh) (6,12,2)

- C = 29.68 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (6.12,6

K™ 1 nuioyye+ud / 25
_l'_ po 4188+ 0.0
- pl -33.69+ 0.00

T rnu1zze+04 [ 25
F po 4219+ 0.0
[ pl -36.91+ 0.00

TP delay [ns]

TVC(cbch) (6, 12 10

T nuig.zsbe+u4 | 25
- po 4240+ 0.0
L pl -34.87 + 0.00

TP delay [ns]

TVC(cbch) (6,12, 14

T L gsze+u4 [ 25
__ DD 4232+ 0.0
L pl -34.37 + 0.00

- C = 29.09 [ps/ch]

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (6,12,3)

po
pL

AT 1L zse+ud [ 25
4214+ 0.0
-35.62+ 0.00

TP delay

TVC(c, bch) (6,127

F pO

[ns]

1 122e+04 | 25
4257+ 0.0
pl -38.29 + 0.00

50 100
TP delay

TVC(eh.ch)=(6, 12, 11

pO
pl

[ns]

S nuzare+ud | 25
4262+ 0.0
-36.08 + 0.00

TP delay

TVC(cbch) (6,12, 15

A nai g

e, po

[ns]

re+U4 /25
4209+ 0.0
-34.37 + 0.00

[ C=29.09 [ps/ch]

PR PR S S |
50 100

TP delay

[ns]



TVC(c,b Ch) (6, 13 0) TVC(c,b Ch) (6,13,1) TVC(c,b,ch)=(6, 13, 2) TVC(c,b Ch) (6,13,3)
~nuiLyyse+ud / 25 AT 1L, r83e+U4 [ 25 T LAl b2V9 /25 AT 1 nuiLb4/e+u4 | 25
4000, pO 4198+ 0.0 4000, po 4208+ 0.0 4000 po 4206+ 0.0 4000, po 4212+ 0.0
Pl -36.85+ 0.00 pl  -36.85: 0.00 L pl -36.41 0.00 Pl -36.43 0.00

3000

-1 3000 = 3000 = 3000 N

2000 - 2000 -1 2000 =1 2000

1000 N 1000 = 1000 =1 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (6,134 TVC(c, bch) (6,135 TVC(cbch) (6.13,6 TVC(c, bch) (6,137

4000 E “ g b(?zeﬂjd 125 4000 T bt?de+u4/25 4000 E “narg, m)be+U4 125 4000 T nar b/)se+l)4/25
[ouse, pO 4160 0.0 Flonse pO 4163+ 0.0 e, pO 4167+ 0.0 F pO 4192+ 0.0
pl -35.57 + 0.00 pl -36.01+ 0.00 r pl -35.53+ 0.00 pl -35.76 + 0.00
3000 - 1 3000 - -1 3000 -— —- 3000 -
2000~ -1 2000 -1 2000 -— —- 2000 1
woor- C = 28.11 [ps/ch 7 wor C = 27.77 [ps/ch ] w0 G = 28.14 [ps/ch . 1000 .
1 ! 1 - 1 - 1 1 -
50 100 50 100 50 100 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(c,b, Ch) (6, 13 8) TVC(c,b Ch) (6, 13 ) TVC(c,b Ch) (6, 13 10) TVC(c,b Ch) (6, 13 11)
©1nu.a5ze+04 [ 25 <1y yabe+u4 [ 25 Tnan L /4e+04 /25 ~ i b3se+u4 / 25
4000 po 4196+ 0.0 4000 . pO 4231+ 0.0 4000 DO 4214 0.0 4000 e, p0 4233+ 0.0
Pl -34.85% 0.00 Pl -35.36% 0.00 [ PL_ 3403+ 0.00 Pl -36.24+ 0.00

] 3000

- 3000 T

3000 - 3000 |~

4 2000 2000

2000 2000~

1000
1000 1000

wol ¢ = 29.39 [ps/ch]

1
0 50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(c,b ch) (6.13,12) TVC(c,b ch) (6.13,13) TVC(c,b ch) (6.13,14) TVC(c,b ch) (6,13,15)
T Lo /e+u4 /25 Tinuip4/e+u4 /25 T zuse+ud /25 -1 nuiz.yuoe+ud / 25
4000, PO 4207+ 0.0 4000 o, PO 4180+ 0.0 4000 _= PD 4199+ 0.0 4000 PO 4199+ 0.0
pl -35.19+ 0.00 -34.31+ 0.00 F pl -34.89+ 0.00 pl -35.33+ 0.00

3000

-1 3000 - 3000 - 3000 .

2000 T 2000 |- - 2000 ] 2000

1000 b W C = 29.14 [ps/ch] . 1000: —: 1000 E
'5(')""10'0-' ""E‘d""m‘o-'

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,14,0)

~inuiL4use+ud / 25
- PO 4198+ 0.0
pl -35.9.+ 0.0

TP delay [ns]

TVC(cbch) (6,144

- b13e+u4 / 25
. pO 4201+ 0.0
-35.4 % 0.0

50 10‘0
TP delay [ns]

TVC(cbch) (6, 14 8

[ C =29.48 [ps/ch]

T 1nuzpole+ud [ 25
- PD 4180 0.0
pl -33.92+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (6,14, 12

T, (z4e+04 [ 25
= PO 4208+ 0.0
pl -35.28 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,14,1)

A7 1 nuiLbuYe+U4 / 25
[, Y 4198+ 0.0
pl -35.58 + 0.00

TP delay [ns]

TVC(c, bch) (6,14,5

Snun1b/e+ud /25
- DU 4206+ 0.0
pL -36.56 + 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (6,14,9

[ C =29.30 [ps/ch]

T nun y13e+ud / 25
- DO 4202+ 0.0
pl -34.14+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (614,13

T a53e+u4 [ 25
= PO 4191% 0.0
pl -35.93 + 0.00

TP delay [ns]

TVC(cbch) (6,14,2)

4000

2000

1000

A7 nunasse+ud /25
e, po 4202+ 0.0
I pl -35.85+ 0.00

3000

TP delay [ns]

TVC(cbch) (6.14,6

4000

3000

2000

1000

S il 8ze+04 [ 25
- pO 4219+ 0.0
I pl -36.73:+ 0.00

TP delay [ns]

TVC(cbch) (6, 14 10

4000

3000

2000

1000

© i za7e+04 /25
- DO 4210+ 0.0
r pl -34.09 + 0.00

- C = 29.33 [ps/ch]

0

1
50 100

TP delay [ns]

TVC(cbch) (6. 14,14

4000

2000

1000

T i ozoe+ud [ 25
- pD 4213+ 0.0
[ pl -36.39 + 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,14,3)

AT 1 nuiL5Ube+U4 / 25
- po 4220+ 0.0
p1 -35.56 + 0.00

TP delay [ns]

TVC(c, bch) (6,14,7

S rnan 152e404 125
- PO 4238+ 0.0
Pl -36.98+ 0.00

50 100
TP delay [ns]

TVC(cbch) (6,14, 11

T nuiL ro3e+u4 / 25
- pO 4216+ 0.0
pl -34.84 + 0.00

TP delay [ns]

TVC(cbch) (614,15

T sose+u4 [ 25
= PO 4202+ 0.0
pl -35.7 + 0.0

TP delay [ns]



TVC(CbCh) (6, 15 0)

4000

3000

2000

1000

T L oEoe+U4 [ 25
- pO 4146+ 0.0
pl -36.09 + 0.00

TP delay [ns]

TVC(cbch) (6,154

4000

3000

2000

1000

- 1uiL429e+04 | 25
o pO 4169+ 0.0
pl -34.49+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (6, 15 8

4000

3000

2000

1000

T 1L s18e+u4 / 25
. PD 4209+ 0.0
-33.99+ 0.00

[ C =29.42 [ps/ch]

0

1
50 100

TP delay [ns]

TVC(cbch) (6,15, 12

4000

3000

2000

1000

1 nuiLpuve+u4 / 25
b po 4284+ 0.0
pl -37.24+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (6,15,1)

K™ 1 nuiL4rye+ud [ 25
e po 4149+ 0.0
pl -35.07 + 0.00

TP delay [ns]

TVC(cbch) (6,155

- nui blve+u4d [ 25
P pO 4182+ 0.0
-34.05+ 0.00

[ C =29.37 [ps/ch]

50 1(;0
TP delay [ns]

TVC(c,b ch) (6, 15

T nublae+ud [ 25
b po 4227+ 0.0
p1 -34.54 + 0.00

[ C =28.95 [ps/ch] ]

1
50 100

TP delay [ns]

TVC(cbch) (615,13

Tinai g rve+ud [ 25
b pO 4277+ 0.0
pl -36.88 + 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

TVC(CbCh) (6,15,2)

K™ 1 nui4z0e+04 /25
P po 4155+ 0.0
L pl -35.27 + 0.00

3000

TP delay [ns]

TVC(cbch) (6.15,6

- 1nuiLb31e+u4 / 25
Foe pO 4192+ 00
[ Pl 34.95: 000

- C = 28.61 [ps/ch

50 10‘0
TP delay [ns]

TVC(cbch) (6, 15 10

Tnun1yae+ud /25
- po 4250+ 0.0
L pl -34.69 + 0.00

- C = 28.82 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (.15, 14

1L bype+u4 / 25
e pD 4276+ 0.0
L -36.31+ 0.00

PR IR SRR |
50 100

TP delay [ns]

TVC(Cbch) (6,15,3)

4000 po

AT 1 nuiL4oze+ud [ 25
4172+ 0.0
pl -36.06 + 0.00

3000

2000

1000

TP delay [ns]

TVC(c, bch) (6,15, 7

4000 &

pl

-1 nun z3ye+u4 / 25
pO 4197 0.0
-33.85+ 0.00

3000

2000 -

10 C = 29.54 [ps/ch]

50 100

TP delay [ns]

TVC(cbch) (6, 15 1

4000 fum po

pl

1 nui bzae+u4 / 25
4240+ 0.0
-34.07 + 0.00

3000 -

2000 =

1o00F C = 29.35 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (615,15

-1 byye+u4 [ 25
4000 4284+ 0.0
-36.81+ 0.00
-
3000 —
2000 ]
1000 7
-
-
-
PR R
50 100
TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,0,0

K71 nuig 104e+04 / 25
- po 4192+ 0.0
pl -36.55+ 0.00

TP delay [ns]

TVC(cbch) (70,4

- Toze+04 | 25
o, pO 4174+ 0.0
p1 -34.39+ 0.00

TP delay [ns]

TVC(cbch) (7 0,8

T nuz1y3se+u4 | 25
e, pO 4207+ 0.0
pl -35.61+ 0.00

TP delay [ns]

TVC(cbch) (7,0,12

T rnugyrse+ud | 25
= po 4236+ 0.0
pl -37.76 + 0.00

50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,0,1)

T zzoe+ud [ 25
P s pO 4193+ 0.0
pl -36.53+ 0.00

TP delay [ns]

TVC(c,b ch) (7 0,5

-1 nuz.0y4e+u4 [ 25
E pO 4191% 0.0
pL -35.13+ 0.00

TP delay [ns]

TVC(c,b ch) (7 0,9

~ 1 nu bz8e+u4 [ 25
= po 4210+ 0.0
pl -36.31+ 0.00

TP delay [ns]

TVC(C, bch) (7,0,13

Tinu 1/ /e+ud [ 25
= pO 4230+ 0.0
pl -37.23+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

TVC(cbch) (7,0,2)

TP delay [ns]

TVC(cbch) (7.0,6

-z 201e+04 / 25
F pO 4184+ 0.0
L pl -34.55 + 0.00

A~ 1nuig tose+u4 / 25
= po 4203+ 0.0
[ p1 -36.44 + 0.00

3000

EC = 28.94 [psichPy, 1

50 10‘0
TP delay [ns]

TVC(cbch) (7, 0 10

1000

0

T 3.29e+04 /25
- po 4247+ 0.0
L pl -36.71+ 0.00

TP delay [ns]

TVC(cbch) (7,0,14

T rnuigglie+ud /25
3 pD 4236+ 0.0
- pl -38.15+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,0,3)

AT rnun z.3e+u4 /25
P s po 4196+ 0.0
pl -36.15+ 0.00

TP delay [ns]

TVC(c,b ch) (7 0,7

S rnuZ1ze+u4 /25
- pO 4208+ 0.0
p1 -34.99+ 0.00

TP delay [ns]

TVC(c,b ch) (7, O

S nug; sz4e+u4/25
- p0 4244+ 0.0
pl -36.05+ 0.00

TP delay [ns]

TVC(C, bch) (7,0,15

Tonan3.31e+u4 /25
= pO 4244+ 0.0
pl -37.36 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,1,0

A7 1nui ryze+04 /25
- po 4174+ 0.0
pl -35.69+ 0.00

TP delay [ns]

TVC(cbch) (7.1,4

- i bo3e+ud / 25
e, pO 4220+ 0.0
pl -36.05+ 0.00

50 10‘0
TP delay [ns]

TVC(eb,oh)=(7, 1,8

©rnuiLgole+u4 / 25
Tanse, PD 4225+ 0.0
pl -35.52+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (7,1,12

T 1Ly roe+u4 / 25
= po 4222+ 0.0
pl -35.23+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (71,1

AT 1 nuzouze+ud [ 25
s po 4188+ 0.0
pl -36.53+ 0.00

TP delay [ns]

TVC(c,b ch) (7 1,5

-1 nui yzve+u4 [ 25
[, pO 4215+ 0.0
pl -35.49 & 0.00

TP delay [ns]

TVC(c,b ch) (7, 1

Tonan g /3e+u4 [ 25
- po 4235+ 0.0
-34.6 £ 0.0

[ C =28.90 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (71,13

~ 1 nuiz.usye+ud / 25
= pO 4219+ 0.0
pl -35.45+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

:

10005— C =29.96 [ps/ch] > '
! . s

4000

3000
2000

1000

TVC(cbch) (7,1,2)

TP delay [ns]

TVC(cbch) (7,1,6

AT 1nunrsse+04 /25
P e po 4190+ 0.0
L pl -36.65+ 0.00

3000

- i blge+ud / 25
. pO 4229+ 0.0
[ pl -35.74+ 0.00

TP delay [ns]

TVC(ebeh)=(7, 1, 10

T 3.33e+u4 /25
- po 4247+ 0.0
[ pl -33.38 + 0.00

TP delay [ns]

TVC(cbch) (7.1,14

T rnuiLyole+ud / 25
. pD 4224+ 0.0
L pl -35.86 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,1,3

AT 1L yoe+ud [ 25
Facee po 4219+ 0.0
pl -36.29 + 0.00

TP delay [ns]

TVC(c,b ch) (7 1,7

S nui /r3e+04 [ 25
- pO 4236+ 0.0
pL -35.99+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (7, 1

1)
~ 1 nuiz sbye+ud 25
- pO 4261+ 0.0
-34.75+ 0.00

I C=28.78 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (7.1,15

T nuiLysse+ud [ 25
= po 4226+ 0.0
p1 -35.3+ 0.0

TP delay [ns]



4000

3000
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pD 4231+ 0.0
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- nu 1u8e+u4 / 25
o pO 4204+ 0.0
pL -36.16+ 0.00

TP delay [ns]

TVC(c,b ch) (7, 2

~ 1 nug.zoye+ud / 25
= po 4235+ 0.0
pl -35.52 + 0.00
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pl -35.86 + 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

4000
3000
2000

1000

TVC(cbch) (7,2,2)

A7 1 nui oove+u4 / 25
o po 4197+ 0.0
o pl -36.61+ 0.00

3000

TP delay [ns]
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-1 nui Bzoe+u4 / 25
e, pO 4194+ 0.0
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TP delay [ns]

TVC(c,b ch) (7, 3

EEALEVX ub4e+u4/25
= po 4237+ 0.0
pl -36.78 + 0.00
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-35.38 + 0.00

TP delay [ns]
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T inuy.zb/e+ud [ 25
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TVC(cbch) (7.4,6

pO
p1
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-36.77 + 0.00

TP delay [ns]

TVC(ebeh)=(7, 4,10

pO

pl

©1nug.444e+04 | 25
4247+ 0.0
-34.83 + 0.00

TP delay [ns]

TVC(cbch) (7.4,14

~ g bsze+u4 [ 25
4211+ 0.0
pl -35.83+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c,b ch) (7,4,

x
e po
pL

3

nuiz, ssve+u4 25
4194+ 0.0
-35.66 + 0.00

TVC(c,b ch) (7 4,7

-
pO
pl

1
100

TP delay [ns]

nu 383e+04 / 25
4231+ 0.0
-36.96 + 0.00

100

TP delay [ns]

TVC(c,b ch) (7, 4

= pO

1)
T nusa13e+u4 /25
4249+ 0.0
-35.17 + 0.00

pl

TP delay [ns]

TVC(c,b ch) (7,4,

X1

15

nuiz,bzye+u4 | 25
4232+ 0.0
-37.1+ 0.0

1
100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,5,0

A~ 1 nui o4se+u4 / 25
o, po 4185+ 0.0
p1 -35.04 + 0.00

TP delay [ns]

TVC(cbch) (7,54

- 1L oBbe+u4 / 25
o, po 4187+ 0.0
pl -34.59 + 0.00

50 5
TP delay [ns]

TVC(cbch) (7 5,8

-z Zane+ud | 25
e, pD 4204+ 0.0
p1 -36.51+ 0.00

1
50 00

TP delay [ns]

TVC(cbch) (7,5,12

- 1 glse+ud [ 25
= po 4236+ 0.0
p1 -36.59 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,51

AT 1 nuiLBrze+u4 [ 25
. po 4192+ 0.0
p1 -35.31# 0.00

TP delay [ns]

TVC(c,b ch) (7 55

-1 nui /48e+04 [ 25
) DO 4208+ 0.0
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1 | | | - 1 | -
50 100 50 100 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(CbCh) (7 7,4) TVC(CbCh) (7 7,5) TVC(CbCh) (7 7,6) TVC(CbCh) (7 7,7)
~nuiL 581e+04 / 25 - bzve+ud [ 25 T nuiL fule+u4 / 25 -, rBse+u4 [ 25
4000 4202+ 0.0 4000 =, pO 4213+ 0.0 4000 = 4231+ 0.0 4000 [ pO 4233+ 0.0
349+ 00 Pl 3562+ 000 -36.3+ 0.0 -35.9+ 00
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pl -37.48 + 0.00

TP delay [ns]

3000

2000

4000

3000

2000

1000

4000

3000

2000

1000

TP delay [ns]

TVC(c,b ch) (7, 7

T rnu be+u4 /25
. pO 4230+ 0.0
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4000, po 4204+ 0.0 4000 i, po 4217+ 00 4000, PO 4216+ 0.0 4000 B, PO 42212 0.0
pl -34.84 + 0.00 pl -35.48 + 0.00 o pl -35.11 + 0.00 pl -35.39+ 0.00

TP delay [ns]

TVC(c,b ch) (7, 7

11)
Tz usre+ud [ 25
= p0 42491 0.0
pL -36.01+ 0.00

TP delay [ns]

TVC(C, bch) (7.7,15

Tinuizi41e+04 /25
4220+ 0.0
-37.21+ 0.00

50 100

TP delay [ns]



TVC(cbch)(780) TVC(cbch)(781) TVC(cbch)(782) TVC(cbch)(783)
AT 1nuizuL/e+u4 /25 “rnanzye+ud | 25 A” 1z 11ve+ud | 25 A~ 1 nwuizyase+ud | 25

4000 Fracee po 415;‘ 4000 Fomes po 41753‘ 4000 .=— po 41763‘ 4000 o po 4175?‘
pl -36.06 + 0.00 pl -35.61+ 0.00 : pl -35.44i_0.00 pl -34.81+ 0.00

3000

B 3000 - 3000 - 3000 [ B

2000 2000 - 2000 1 2000 |-

1000 1000 = 1000

] woo- C = 28.72 [ps/ch

L
50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (7,84 TVC(cbch) (7,85 TVC(cbch) (78,6 TVC(c, bch) (7,87

~ 1 nuiL ysoe+u4 / 25 -1 Y1be+ud / 25 ~1nu 1b4e+04 / 25 Crnazge+ud | 25
4000 4178+ 00 000 R, pO 4185 0.0 4000, pO 4191+ 00 4000, pO 4202+ 00
-35.71+ 0.00 Pl -36.09+ 000 t PL_ 3614+ 000 Pl 3661+ 000

3000 ] 3000 g 3000 n 3000 ]

2000 4 2000 — 2000 n 2000 ]

1000 4 1000 n Wl C = 27.67 [ps/ch ] 1000 ]

- I - b
- -
. -
1 1 1
0 00 0 00
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (7 8,8 TVC(cbch) (7 8,9 TVC(cbch) (7, 8 10 TVC(cbch) (7, 8

4000  1nuiz.yave+u4 | 25 ~ 1 nug. ygse+ud / 25 4000 T nuig4lie+ud / 25 4000 Sonan g ::e+u4/25
[, PD 4194+ 0.0 4000 DO 4216+ 0.0 - DO 4201+ 0.0 - pO 4203+ 0.0
pl -35.18 + 0.00 pl -35.91+ 0.00 r pl -33.59+ 0.00 pl -34.95+ 0.00

- 3000

3000 ] 3000 |~ - 3000 1
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1000 1000 1000
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o 1
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TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (7,812 TVC(C, bch) (7.8,13 TVC(cbch) (7.8 14 TVC(C, bch) (7.8,15

Tz z3pe+u4 | 25 T inuz.ziye+ud | 25 Tz s3se+ud | 25 T inuiz 1zve+ud [ 25
4000 e PO 4206+ 0.0 4000 PO 4212+ 0.0 4000 pD 4224+ 0.0 4000 P, pO 4224+ 0.0
pl -37.32+ 0.00 pl -38.12+ 0.00 r pl -38.34 + 0.00 pl -37.74+ 0.00
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T i 74/e+04 [ 25
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pl -37.08:+ 0.00

TP delay [ns]

TVC(cbch) (7 9,8

©1nuiz.419e+04 / 25
= po 4188+ 0.0
pl -34.72+ 0.00

TP delay [ns]
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= po 4201+ 0.0
pl -35.03+ 0.00
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pl -36.86 + 0.00

TP delay [ns]

TVC(c,b ch) (7 9,5

= 1 nuz.Oyde+ud | 25
= po 4192+ 0.0
pl -36.53 + 0.00

TP delay [ns]

TVC(c,b ch) (7 9,9

Tona113e+u5 /25
= po 4226+ 0.0
pl -35.57 + 0.00
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